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<Pxml version="1. 0" encoding="UTF-8"7>
<MCCI_IN200100UV01 TTSVersion="YML_1. 0" xsi:schenalocation="urn:hl7-org:v3 MCCI_IN2001000V01, xsd” xmlns="urn:hl7-org: v3” xlns:xsi="http://www. w3. org/
200L/MLSchema-instance”>
<id extension="N.1.2" root="2, 16.840. 1, 113883, 3,989, 2,1.3.22"/>
¢!~ N.1.2: Batch Number —>
(creationTime value="201012141516177/>
¢{}-~ N.1.5: Date of Batch Transmission —>
(responseModeCode code="D"/>
¢interactionld extension="MCCI_IN200100UYO1” root="2. 16, B40. 1. 113883, 1.67/> -
<name code="N. 1. 1" codeSystem="2.16. 840, 1. 113883. 3. 982. 2. 1. 1. 1"/>
<l— N.1.1: Type of Messages in Batch —>
<{|— Message R1 ~->
<PORR_INO480160V>
id extension="N. 2, r.1" reot="2.16. 840, 1.113883.3.989,.2, 1,3, 1"/
£1— N.2.r.1: Message Idashtifier ——>
¢creationTime value="20101214161617"/>
¢l— W, 2 r 4: Date of Message Creation —>
¢interactionId extension="PORR_INDABO16UY" root="2_ L&, 840. 1. 113883, 1, 8"/
{processingCode code="P"/>
{processinglodeCode code="T"/>
¢accepthckCode code="AL"/>
{receiver typeCode="RCY")
¢deviee classCode="DEV" determinerCode="TNSTANCE">
¢id extengion="N.2,r.3" root="2 16,840;1 113883, 3,089,2.1 3. 12 "y
{}— N.2.r.3: Message Receiver Idennfier —>
{/device?
{/receiver>
¢sender typeCode="5HD">
{device classCode="DEV” determinerCode—"INSTi\NCE >
¢id extension="N.Z 7 2" root="2,16.840,1, 113883, 3, 989. 2. 1. 3, 11"/>
¢l-—— N.2.r.2: Message Sender Identifier —>
</deviced
{/sender>
{controlActProcess elassCode="CACT" moodCode="EVN">
¢code code="PORE_TED490160¥" codeSystem="2, 16, 840. 1, 113883. 1. 187/>
¢(!— HL7 Trigeer Event ID —>
CeffectiveTime value="20101214151817"/>
{l-- €. 1.2: Date of Creation ——>
{auhject typeCode="SUBJ">
(investigationfvent classCode="INVST6” moodCode="EYN">
<id extension="C. 1, 1" root="2.16.840. 1. 113883, 3,989, 2. 1,3, 1"/>
¢} ¢, 1,1: Sender’ s (case} Safety Report Unique Identifier ——>
(id extension="C.1.8.1" rect="2.16.840, 1. 113883, 3.989.2.1.3.2°/
¢l= €. 1.8. 1! Worldwide Unique Case Tdentification Number —-->
{id extension="J2, 1b” rect="2. 16. 840, i 113883 3,089,5,1.3.2.3. 1"/
I— g@ayz. 1b: WAES (HFR) —
Cende code="PAT_ADV_EVNT™ codeSystem="2, 16, B40, 1, 113883, 5.47/>
(toxtHH. [/ text>
¢l-- H.1: Case Narrative Including Chmual Course, Therapsutic Measures, Outcome and Addltmnal Relevant Information —
¢statusCode code="active”/>
<I-- 008]12.7.1 5T, AETES —>
<effectiveTime?
{low value="20090101"/>
<l-- C.1. 4! Date Repert Was First Received from Source -“)
¢/effectiveTime)
{availabilityTime value="20080101"/>
<l C.1.5: Date of Most Recent Infermation for This Report —
¢reference LypeCode="RESR">
<document c¢lassCode="D0C" mnodCDde—"EVN”)
(code code="1" codeSysten="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1, 27" displayNeme="documentsHeldBySender”/>
{titledC. 1 6. 1. x. 1</titled
¢}— C.1.6.1.x, 1 Documents Held by Sender (repeai’ as necessary) #l ——>
! {text mediaType="application/pdf” representation="B54">C. 1.6, 1. r.Z(/teXt>
{1 €. 1.8.1.x.2: Included Documents §1 —> .
{/daocument?
{/reference>
{reference typeCode="REFR">
(document classCode="DOC” moodCode="EYN™>
<code code="1" codeSystem="2, §8. 840, 1. 112883. 3.988.2. 1. 1, 27" displayName="documentsHeldBySender”/>
(title>C. 1.6, L 1. 1</title>
¢l-— €. 1,6.1.1.1: Documents Held by Sender (repeat as necessary) #2 —3
¢text mediaType="image/jpeg” representation="E64" compression="DE">C. 1. 6. L. 1. 2</taxt>
¢l-- C, L6 1.1 2: Included Documents #2 -—>
{/document>
{/referencey



<reference typeCode="REFR">
<document classCode="DOC” moodCode="EVN">
<code code="2" codeSysten="2, 18, 840. 1. 113883.3. 989. 2. 1. 1. 27" displayName="1literatureReference”/>
<titled)2, 17, rd/titled
- @eajz. 17.r REB/HHEOHE 1 —
<text mediaType="application/pdf” representation="B64">C. 4. 7. 2¢/text>
(l-= C.4.r. 2: Included Documents #1 —>
<hibliographichesignationText>C. 4, r. 1<¢/bibliographicDesignatianText>
{!-- C. 4. r. 17 Literature Referenca(s) #1 -->
{participation typeCode="AUT">
¢assignedBntity classCode="ASSIGNED">
(representeddrganization classCode="ORG” determinerCode="INSTANCE™>
{asLocatedBntity classCode="LOCE™>
(location classCode="COUNTRY” determinerCode="INSTANCE™>
Ccode code="J2.15.r" ecodeSystem="1,0, 3166. 1.2.2"/>
<Y-— @@8I2, 15. v A&FHE H >
{/location>
{/asLocatedBntity>
{/ropresentedOrganization?
{/assignedEntity>
</participation?
</document>
</reference>
<reference typeCode="REFR">
<document classCode="DOC” mocdCode="EVN">
(code code="2" codeSysten="2, 16. 840. 1. 113883, 3. 988, 2 11,277 dlsplayName— literatureReference” />
CtitlerJ2, 17. rd/titled
<l-- geaz. 17. r BB /WROSE #2 —
(text mediaType="application/pdf” representation="B64">C.4.r. 2(/text>
I-- C.4,r. 2: Included Documents #2 -->
<hibliographiclesighationText>C. 4. r. 1</biblicgraphicDosignationText>
{J— C.4.r. 1: Literature Reference{s) #2 —>
{participation typeCode="AUT™>
<assignedBntity classCode="ASSIGNED™>
{representedOrganization classCode="ORG" determinerCode="INSTANCE">
¢asLocatedBntity classCode="LOCE">
{location classCode="COUNTRY” determinerCode="TNSTANCE">
<code ecade="]J2. 15.r" codeSystem="1.0.31686, 1,2, 27/>
<1 @8eJ2. 15.r AXE £2 -
{/lacatisn
</aslocatedBntity>
{/representedOrganization>
{/assignedBEntity>
¢/participation>
¢/document>
{/reference>
<componant typeCode="COMP">
(adverseBventAssessment classCode="TNVSTG” moodCode="EVN">
¢subjectl typeCode="SB]">
{primaryRole classCode="INVSBJ">
{playert classCode="PSN" determinerCode="INSTANCE">
{name>D, 1{/name>
<l— D.1: Patient (name or initials} ——>
¢administrativeGenderCode code="D.5" codeSystem="1,0,5218"/>
<l-— D.& Sex —>
¢hbirthTime value="20090101%/>
j=— D.2.1: pate of Rixth ——>
<deceasedTime value="20090101"/>
{l-- 0.9.1: Date of Death —>
<asldentifiedintity classCode="IDENT">
<id extension="9. 1.1, 1" roet="2, 16. 840. 1. 113883. 3, 988.2. 1.3, 7"/>
¢1— D0, 1.1.1: Patient Medieal Record Number(s) and Source(s) of the Record Mumber (GP Medical Record Rumber) —>
{code code="1" codeSystem="32.16, 840. 1. 113883, 3, 989. 2, 1. 1, 4” displayName="GP"/> .
{/asIdentifiedEntity>
¢asIdentifiedEntity classCode="IDENT">
{id extension="D. 1. 1. 2” root="2. 16.840. 1. 113883. 3. 980. 2. 1. 3. 8" />
¢!— D.1.1.2: Patient Medical Record Number(s) and Source(s) of the Record Mumbetr (Specialist Record Number) —>
{code code="2" codeSystem="2. 16,840, 1, 113833, 3,989, 2, 1. 1. 4" displayName="Specialist”/>
{/asldentifiedEntity>
CasldentifiedBntity classCode="TDENT™>
<id extension="D.1.1.3" root="2.16. 84C. L. 113883. 3, 989, 2. 1.3.97/>
¢l-— B.1. 1. 3: Patient Medical Record Number(s) and Source(s) of the Record Number (Hospital Record Number) —>
¢eode code="3" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 4" displayName="Hospital Record /2
</asIdentifiedEntity>
{asldentifiedBntity classCode="TDENT™>



<id extension="D. 1.1.4" root="2, 16, 840, 1. 112883, 3. 989. 2. 1, 3. 107/>

<l-— D.1.1.4; Patient Medical Record Mumber({s) and Source(s} of the Record Number (Inveshgatlon Number) —>

¢code code="4" codeSystem="2. 16, 840, 1, 113883, 3,989, 2, 1. 1. 4" displayName="Investigation”/>

{fasIidentifiedEntity>
<role classCode="FRS">

¢oode code="PRN" codeSystewm="2. 16, 848, 1, 113883, 5, 1117/>

(associatedPerson classCode="PSN” determinerCode="INSTANCE">

<name>D. 10. 1{/name>
{1—— I, 30. 1: Parent Identification —>

¢adninistrativeGenderCode code="D,10.8" codeSysten="1.0, 6218"/>

{}== D, 10.6: Sex of Parent —7

¢birthTime value="20090101"/>

¢l--D,10.2.1: Date of Birth of Parent —>
</associatedPerson
<subject0f2 typeleds="3EI">

{obgervation classCode="0BS” moodCode="EVN">

<code code="3" codeSystem="2, L6, 840, 1. 113883,3,880. 2. 1. 1. 19" dlsplayName— age”/>
Cvalue x5i:type="PQ" value="10" unit="D. 10. 2.2h"/>

1— D.10.2. 2a! Age of Parent. (number) -->
()= D, 10. % 2b: Age of Parent (unit) —>
{/chservation>
{/subjectDf2>
<subject0f2 typeCode="SB]">
{ohservation classCodo="0BS® moadCode="EVN">

¢code code="22" codeSystem="2. 16. 840, 1, 113883, 3.989. 2. 1. 1. 197 displayName="1astMenstrualPeriodDate”/>

Cvalue xsiitype="TS" value="20080101"/>

¢1— 1.10.3: Last Menstrual Period Date of Parent —>

{/vhservation>
</subjectOfa>
. {subject0f2 typeCode="SB]">
¢observation classCoda="0RS" moodCode="EYN">

{code code="7" codeSystem="2. 16.840. 1. 113883.3,989. 2. 1. 1. 197 displayName="bodyWeight”/>

<valne xsi:type="PQ" value="50" unit="kg”/>
¢]— D.10.4: Body Weight (kg) of Parent -->
{/observation>
{/subjectOfl>
{subject0f2 typeCode="SB]">
(observation classCede="0BS” moodCode="EVN™>

(rade. code="17" codeSysten="2. 16. 840, 1. 113883, 3, 989, 2. 1. 1. 19" displayName="height”/>

(value xsiitype="PQ" value="160" wmit="em"/>
{{=- 9,10.5: Height {cm) of Parent ——>
{/chservation>
</sub ject0f2>
<subjact0fi typeCode="SBI">
{organizer olassCode="CATEGORY” moodCode="EVN“>

¢eode code="1" codeSystem="2. 16, 84D, 1. 113883. 2, 989. 2. 1. 1. 20" displayName="relevantledicalllistoryindConcurrentConditions 1y

{gomponent typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">

¢eode code="D. 10, 7. 1.x. 1b” codeSystem="Z. 16, 840, 1. 113882, 6, 163" codeSystemVersion="D.10.7, L. 1. ia”/>

¢l D.10.7.1. 1. la: MedDRA Version for Medieal History #1 —>
¢l— D.10.7. 1. v, Ib: Medical History (dizease / surgical procedure/ etac.} (MedDRA code) #1 —>

<effectiveTime xsi:type="IYL_TS">
(low value="20090101"/>
¢!-— D.10.7.1. 1.2 Start Date #i ——>
<high value="20090101"/>
<!-- D.10.7. 1. 1. 47 End Date #1 -
</effectiveTims>
. ¢outboundRelationship? typeCode="COMP™>

{observation classCode="0BS” moodCode="EYN">
<code code="10" codeSystem="2, 16, 840.1, 113883, 3,989.2.1. 1, 19" dlsplaYNameﬁ cnmment e
<yalue xsi:type="ED">D,10.7. 1. r. 5<{/value>

¢(I— D.10. 7. 1.>.5: Conments #1 —>
{/observation>
{/otitboundRelationship2>
¢inboundRelationship typsCode="REFR™>

(observation classCode="08S" mocdCode="EVN">

{code code="13" codeSystem="2. 16, 840. 1. 113883. 3

<value xsiitype="BL" value="true”/>
A—-D10,7. 113 Contmumg BL —>
</observation>
</inboundRelationship>
¢/ohservation>
</compohent)
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">

L8989, 2. 1. 1. 19" displayNeme="continuing™/>




¢eode code="D. 10.7.1.r. Ib” codeSysten="2. 16. 840, 1, 113883, 6. 163" codeSystenVersion="D, 10.7.1.r. 1.a"/>
¢l D, 10.7. 1.x. 1la: MedDRA Version for Medical History #2 -->
(== D.10.7. 1. t. Ib: Medical History (disease / surgical procedure/ ete.) {(MedDRA code) #2 —>
Ceffectivelime xsi:type="TVL_TS™>
low value="200901017/>
<I—- 910,71, r.2: Start Date #2 —>
¢high value="20090101"/>
<}— 9,10.7.1.r. 4! End Date #2 —>
{/effectiveTime>
{outhonndRelationship2 typeCode="COMP™>
(ohservation classCode="0BS” meodCode="EVN™>
<code code="10" codeSystem="2. 15. B40. 1. 113883. 3. 989. 2. 1, 1, 19" displayName="comment”/>
<value zsi:type="ED">D. 10.7. 1 r. 5¢/value>
¢]— D.10.7. 1.r. 5: Comments H2 ——>
<{/chservation>
{/outboundRelationship2>
<inboundRelationship typeCode="REER™>
<observation classCode="0BS" moodCode="EVN™> .
Ceode code="13" codeSystem="2. 16. 840, 1. 113883. 3, 689. 2. 1. 1. 19" displayName="continuing”/>
<value xsiitype="BL" value="true"/>
<f— D.10. 7. 1. 1. 37 Continuing B2 —>
</observation>
¢/inboundRelationship>
¢/observation’
{/component>
{component typeCode="COMF">
<observation clazsCode="NB3" moodCode="E¥N">
{code code="18" codeSystem="2. 16. 840. 1. 1138%3, 3,089, 2. 1. 1. 19" displayNeme=" h1stnryA11anncurrentCond1t1onText />
<value xsi:type="ED">D. 0. 7. 2</valued
¢l=- D.10.7.2: Text for Relevant Medical History and Concurrent Conditions of Parent —>
- &/observation?
{/component>
{/organizer>
</subject0f2>
<subject0f? typeCode="5B]">
{organizer classCode="CATEGORY” wmoodCnde="EVN">
(oade code="2" codeSystem="2, 16, 840. 1. 113883. 3,980, 2, 1. 1. 20" displayName="drugHistory”/>
{compunent typeCode="COMP">
{suhstanceAdministration classCode="SBADM" moodCode="EVN">
(effectiveTime xsi:type="IVI_TS5"}
{low value="20090101"/>
<!— D, 10,8, 1. 4: Start Date #H1 —>
<high value="20090101"/>
<l-— 0,10, 8. 1.5 End Date #1 —>
{/effectiveTime>
<eonsumable typeCode="CSW™>
<instance0fKind classCode="INST™>
(kindOfProduct classCode="MMAT” detexminerCode="KIND™>
<code code="D. 1G. 8. I. 2b” codeSystem="TBD-MPID" codeSystemVersion="D. 10 B.r.2a"/>
<l— I, 10, 8, 1. 2a: MPID Version Date / Number #i ——>
<l— D.10.8.7.2b* Medicinal Product ldentifier (MPID} #1 -
<name>D. 10. 8. r. 1{/name>
{|— D. i0. 8 r. I Name of Drug as Reported H1 —>
¢/kind0fProduct>
€/instanceCfKind>
{/consunahle>
<outhoundRelationship2? typeCode="RSON">
{observation classCode="0BS" moodCode="EVN">
¢code code="19" codeSystem="2. 16, 840, 1.113883.3.889,2,1,1,15” displayName="indication”/>
¢value xsiitype="CE" oede="D, 10,8.1.6b" codeSystem="2, 16, 840. 1. 113883, 6, 163" codeSystemVersion="T. 10. 8.x. 62" />
¢I— D, 10.8.r. 6a: MedDRA Version for Indication #1 -—>
¢l—— D.10.8.1.6b: Indication (MedDRA code} #1 —>
</observation?
{/outboundRelationship2>
{outhoundRelationshipZ typeCode="CAUS™>
(ghsetvation classCode="0BS" moodCode="EVYN">
{code code="29" codéSystem="2. 16, 840. 1, 113883, 3. 989. 2. 1. 1, 187 displayName="reaction”/>
<yalue xsiitype="CE” code="D.10.8.r.7b" codeSystem="2, 16, B4C. 1. 113883, 6. 163" codeSystemVersion="D. 12. 8.1.7a"/>
<1 D.10.8. 1. 72: MedDRA Version for Reaction #1 —>
<l-- D.10.8.r.7b: Reactions (MedDRA code) #I —>
{/phservation>
<{/outhoundRelationghip2’
{/substanceAdministration>
{/component>
<eomponent typeCode="COMP">



{substanceAdministration classCodé="SBADM” mopdCode="REVN">’
{effectiveTime xsi:type="IVL_TS">
¢low value="200801017/>
<I-— D.10.8. 1. 4: Start Dete #2 —>
¢high value="20090101"/>
¢!-- D.10.8.1. 57 End Date #2 —>
(/effectiveTime>
<consumable typeCods="CSK™>
<instanceOfKind classCode="INST"> .
kind0fProduct classCode="MMAT" determinerCode="KINI">
Ceode code="D. 3D 8. r.3b” codeSysten="TBD-PhPID” codeSystemYersion="D, 10, 8.1, 3s"/>
|-~ D.10.8.r.3a: PhPID Version Date / Number #2 ——>
<|— D. 10. 8 r.3b; Pharmacentical Produst Identifier (PhPID) 42 —>
<{name>D, 10. 8. r. 1{/nume>
¢l— D.10.8. 1. 1: Mame of Drug as Raported #2 —>
{/kind0fProduct>
<finstance0fKind> .
</consumable>
<outboundRelationship2 typeCode="RSON">
<observation classCode="0BS" woodCode="EVN">
<code code="19" codeSystew="2. 16. 840, 1. 113883, 3, 989, 2. 1, 1, 19" displayName="irdication"/>

{value xsiitype="CE” code="D.10. & r.6b" codeSystem="2.15.840. 1. 113883.6. 163" codeSystemVersion="D.10.8.x. 6a"/>

¢J~— D.10.8.r.6a: MedDRA Version for Indication #2 -2
¢l~= D, 10, 8. r.6b: Indication (MedDRA code) #2 —>
{/observation>
</outhoundRelationship2?
<outboundRelationship2 typeCode="CAUS™>
Cobservation classCode="08S" moodCode="EVN™>
(code code="28" codeSystem="%, 16, 840, 1. 113883, 3,980, 2. 1. 1. 19" displayName="reaction”/>

<value xsi:type="CE" code="D. 10.8.1.Th" codeSysten="2, 16, 840. 1. 113883.6. 163" codeSystemVersion="D,10.8.r. Ta"/

¢l=- [.10.8.1. Ta: MedDRA Version for Reaction #2 —>
¢]— 1.10.8.1. Tk Reections (MedDRA cods) #2 -—>
</observation>
</outboundRelationship2>
{/substanceAdninistration>
</component)
{/organizer’s
¢/subjectOfZ>
{/role;
{/playerl>
{subjectOf1 typeCode="8BJ">
{researchStudy classCode="CLNIRL” mocdCode="EVN">
<id extension="C.5.3" root="2. 16. 540, 1, 113883, 3. 989. 2. 1. 3.5°/>
<{— C.5.3: Sponsor Study Number -—>
<code code="(.5.4" codeSystem="2.16.840. I. 113883.3.989, 2,1, 1,87/>
¢l— C.5.4: Study Type Where Reaction(s} / Bvent(s) Were Cbserved ——>
<titledC. 5, 2</title? :
¢{!— C.5.2: Study Name —>
Zauthorization typeCode="AUTH">
{studyRegistration ¢lassCode="ACT" maodCode="EVN">
¢id extension="C. 5.1.T.1" root="2.16.840, i, 113883, 3, 989. 2. 1. 3.6"/>
(J— €. 56.1.r.1¢ Study Registration Number #1 ~—>
Cauthor typeCode="AUT">
{territorialAuthority clagsCode="TERR">
{governingPlace classCode="COUNTRY” determinerCode="TNSTANCE™>
Ccode code="C.5.1.r.2" cadeSystem="1.0, 3166,1,2, 27/
<l— C.5.1.r.2: Study Registration Country #1 —>
</governingPlace>
</territorialAuthority>
{/author>
{/studyRegistration?
{/authorization>
<authorization typeCode="AUTH">
¢studyRegistration classCode="ACT" moodCode="EVN">
¢id extension="C.5. L.r.1” root="2. 18, 840, 1, 113883, 3, 989. 2, 1. 3.6"/>
(|- €.5.1,r. 1 Study Registrution Number #2 -3
<author typeCode="AUT™>
<territorialAuthority classCode="TERR">
(governingPlace classCode="COUNTRY" determinerCode="INSTANCE">
<code code="C.5. 1. r 2% codeSystem="1.0.3166.1.2.2"/>
¢l-— C.5, 1.1, 2: Study Registration Country #2 ——>
</governingPlace>
</territorialAuthority>
{/author>
{/studyRegistration;



</authorization?
{/researchStudy?
{/subjectGf1>
<subjectOfZ typeCode="SBJ">
¢ohservation classCode="0RS” moodCode="E¥YN™>
<code code=*3" codeSystem="2, 16, 840. 1. 113883. 3.989. 2.1, 1, 1§” displayName="age”/>
¢yalue x8i:type="PQ” value="10" unit="D. 2. 2b"/>
<l— 1.2 %a: Age at Time of Onset of Reaction / Event (number) —>
<{— D.2.2h: Age at Time of Onset of Reaction / Event (unit) —>
{/chservation?
{/subject0f2>
<subjectOfZ typeCode="SBI">
{observation classCode="0BS” mocdCode="EVN"™>
¢code code="16" codeSystem="2. 16. 840. 1. 113883. 3,089, 2, 1, 1. 19" displayName="gestationPeriod”/>
{value xsiitype="PR” value="10" unit="D.2.2. 1b"/>
¢]— D.2.2.1a Gestation Period When Reaction / Event Was Observed in the Foetus (numher) —>
¢1—— 0,2, 2. 15! Gestation Period When Reaction / Event Was Observed in the Foetus {unit) -->
{/cbservation> ’
 ¢/subject0f2>
<subjectOf? typeCode="5B]">
{observation classCode="0B5" moodCode="EVN">
{code code="4" codeSystem="2.16. 840. 1. 113883. 3, 989. 2. 1. 1. 19” displayName="ageGroup”/>
<vallle xsiitype="CE” code="D. 2. 3" codeSystew="2. 6. 840, 1, 113883. 3.989. 2. 1. 1.8"/>
(1= D.2.3: Patient Age Group (as per reporter) —>
{/observation>
{/subject0f2>
{subjectDf2 typeCode="SBI">
{observation classCode="0BS" moodCods="EYN">
(code code="7" codeSystem="2. 16. 840. 1, 113883, 3,989. 2. 1. 1. 19" displayName="hodyWeight”/>
<value xsi:type="PQ" value="48, 2" unit="kg"/> )
{l— D.3: Body Weight {ke) —>
{/ohservationd '
</subject0f2>
¢subjectdf2 typeCode="SBJ">
{obsexvation classCode="0BS” moodCode="EVYN">
{code code="17" codeSystem="2. 16. 840, §, 113883. 3. 989. 2. 1. 1. 18" displayName="height”/>
¢value xsistype="PQ” value="152" unit="cn"/>
{]— D.4: Beight {(em) —>
{/observation?
{/subject0f2>
¢subject0f2 typeCode="35BJ]">
{observation classCode="0BS" moodCode="EYN">
¢cade code="22" codeSystem="2.16. 840. 1, 113883, 3.989. 2. 1. 1, 19" displayName="lastMenstrualPeriodbate”/>
<value xsi:type="TS” value="20090101%/>
¢{]— D.6: Last Menstrual Period Date ——>
</cbservation
</subject0f2>
¢sibject0f2 typeCode="SB]"> oo .
{organizer classCode="CATEGORY" moodCade="EVN™> '
Coode code="1" codeSystem="2. 16. 840, I. 113883, 3.989. 2. 1. 1. 20" displayName="relevantiedicalHistoryAndConcurrentConditions”/>
{component typeCode="COMP">
<ohservation classCode="0BS" moodCode="EVN™>
¢code code="D. 7. 1. 1. 14" codeSystem="2.16. 840, 1, 113883. 6. 163" codeSystemVersion="D.7. L r. 1la"/>
¢~ D.7.1.r. la: MedDRA Version for Medical Eistory #1 —>
== D.7.1.r. 1b: Medical History (discase / surgical procedure / ete,) (MedDRA code) #1 —>
{effectiveTime xsi:type="IVL_TS"> .
<tow value="200801017/>
¢ D.7.1r2: Start Date #l —>
<high valus="200901017/>
¢1-— D, 7.1, r.4: End Date #1 —->
¢(feffectiveTime>
{eitboundRelationship? typeCode="COMP™>
{ohservation elassCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1, 113883, 3, 989, 2. 1. 1. 19" displayName="comment”/>
¢value xsi:type="ED">D.7. 1. ¥ 5¢/valued '
¢{l— B.1. 1 r.5: Copments #1 —>
{/observation>
</outhoundRel atienship2>
<outhoundRelationship2 typeCode="EXPL"> .
{observation classCode="0BS" moodCode="EVN">
<code code="38" codeSystem="2, 16. 840, 1. 113883, 3. 989, 2. L. 1. 19" displayName="fami tyHistory”/>
<value xsi:type="BL" value="true”/>
<l— D, 7.1.r.6: Family History #1 —>
</observation?
¢/outboundRelationship2>



¢inboundRelationship typeCode="REFR”>
(obgervation classCode="0BS" moodCode="EVN™>
{code code="13" codeSystem="2, 16, 840. 1. 113883. 3. 989, 2.1, 1,197 displayName="continuing”/>
(value xs1!type="BL" value="truz"/> ’
<)== D.7.1.r. 3: Continuing #1 —>
{/observation?
</inhoundRelationship>
{/observationy
</component>
{compohent typeCode="COMP™>
{ohservation classCode="0BS" inrdeode— EVN™>
¢code code="D.7. 1, 1. 10" codeSystem="2, 16. 840, 1. 113883, 6. 163" codeSystemYersion="D.7.1.xr.1a"/>
)= D.7.1,r. 1a: MedDRA Version for Medical History #2 >
¢l-= D, 7. 1. 1. 1b: Medical history {disease / surgical procedure / ete.) (MedDRA ecde) #2 —>
(effectiveTime xsiitype="TVL_TS™>
<low valne="200801017/>
<I— D.7.1.r 2: Start Date #2 —>
¢high value="200901017/>
¢l-= D,7.1.r.41 End Date #2 —>
{/effectivelime?
<outboundRelationship2 typeCode="COMP™>
{ohservation classCode="0BS” moodCode="E¥N">
¢code code="10" codeSystem="2, 16. 840, 1. 113883, 3,989, 2, 1, 1, 197 displayMName=" cumment 'l
<value xsi:type="ED">D.7.1.r.6¢/value?
<}=- D.7. L1 5 Comments §2 ——>
{/observation>
</outhoundRelationship2?
<putboundRelationship? typeCode="EXPL™>
(observation classCode="0BS” moodCode="BVYN">
<code code="38" codeSysten="2, 16, 840, 1, 113883, 3.989. 2. 1. 1. 19" displayNane="familyHistery”/>
<value xsi:type="BL" value="true”/>
¢]-= D.7.L1.6: Family History #2 —>
</observation>
¢/outboundRelationship2>
¢inhoundRelationship typefode="REFR">
{observation classCode="0BS” moodCocde="EVN">
<code code="13" codeSystem="2. 16, 840. 1, 113883, 3. 989. 2. L. 1. 19" displayName="continuing”/>
<value xsiltype="BL" value="true”/>
¢— D.7. 1.1, 37 Continuing #2 —> . B
{/observation> '
{/inhoundRelationship>
¢/ohservation>
{/component>
{component typeCode="COMP™>
{ohservation classCode="0BS” moodCode="EVN">
Ccode cada="18" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 197 dlsplayﬁamv«'hlstoryAndConcurrentCondlt1on’l‘axt'/'>
<value xsi:type="ED">D. 7. 2¢/value>
¢<l-- D, 7.2 Text for Relevant Medical History and Concurrent Conditions (mot including reaction / event) ——>
</observationy
</component>
{component typeCode="COMP">
{chservation classCode="0BS" mocdCode="BYN">
¢oode code="11" codeSystem="2, 16. 40, 1. 113883, 3. 985, 2.1, 1. 18" displayName="conconitantTherapy”/>
{value xsi:type="BL” value="true”/>
¢{— D, 7,3: Conconmitant Therapies ——>
{/observation>
</compenent?
</organizery
{/subject0f2>
{subjectDFZ typeCede="SBI">
{organizer classCode="CATEGORY” moodCods="EVN">
Ccode code="2" codeSystem="2, 16, 840. 1. 113883, 3, 989. 2. 1. 1. 207 displayName="drugHistory” />
{component typeCode="COMP">
{substancehdministration classCode="SBADM” moodCode="EVN">
<effoctiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
¢}—— D,B.r. 4: Start Date #1 —>
<high value="20090101%/>
{!-- D.8.r.5: End Date #1 —>
</effectiveTime>
{consimable typeCode="CSH">
<ingstanceOfKind classCode="INST™>
kind0fProduct classCode="MMAT™ determinerCode="KIND">
<code code="D. 8, r, 2b" codeSystem="TED-MPID" codeSystemVersion="D.8.r.2a"/>
<l— D.8 r. 2a: MPID Yersion Date / Mumber #1 —>
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¢l=- D.8, 1, 2b: Medicinal Product Identifier (MPID) HI —->
<name>D, 8. r. 1{/name>
<!— D.8. r.1: Name of Drug as Reported #1 ——>
</kind0fProduct>
</instanceOfKind>
{/consumabley
{outboundRelationship? typeCode="RSCN">
Cobservation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="Z. 16, 840, 1. 113883, 3. 989, 2, 1, 1. 19” displayName="indicatien”/>
¢value xgi:type="CB” code="D. 8.r.6b" codeSysten="2, 18. 840. 1. 113883, 6. 163" codeSystem¥ersion="D. 8. r. 6a"/>
¢l—— D.8.r.6a: MedDRA Version for Indication #1 —->
<l=-= D.8.r.6b: Indication (MedDRA code} #1 -—>
</observation?
{/outbommdRelationship2?
CoutboundRelationship? typeCode="CAUS™>
{observation classCode="0BS” moodCode="EVN™>
<code code="29" codeSystem="2. 16,840, 1, 113883, 3,980, 2, 1. 1. 19" displayName="reaction”/>
(value xsi:type="CE" code="D.8.T.7b" codeSystem="2. 16, 840. 1. 113883, 6. 162" codeSystenVersion="D. 8, r, Ta"/>
¢{l— D.& r.Ta: MedDRA Version for Reaction #1 —>
— D.8. r.Th: Reaction (MedDRA code) #1 —>
{/observation>
</outboundRelationship2>
{/substancepdministration?
{/ecomponent>
<{component typeCode="COMP™>
CsubstanceAdministration classCode="SBADM” moodCode="EVN™>
{effectiveTime xsi:typa="TVL_TS8™>
<low value="20090101"/>
<}— D.B.r.4: Start Date #2 ——>
<high value="20090101°/7
{l— .8 r 5: End Date #2 ~->
<feffectiveTimed
{consumable typeCode="CSH™>
<instance{fKind classCode="INST™>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{code code="D. 8.r.3b" codeSystem="TBD-PhPID" codeSystemVersion="D.8.r.3a"/>
¢|— D.8.r. 3a: PhPID Yersion Date / Number —>
¢l-- D.&.r.3b: Pharmaceutical Product Identifier (FhPID} #2 —>
<{name>D. 8. r. 1{/name> .
¢|-- D.8.+. 1! Name of Drug as Reported #2 ——>
</kindOfProduct>
{finstance0fKind>
{/consumable>
<outboundRelationship2 typeCode="RSON">
<observation classCode="0BS" moodCode="EVN">
<code code="10" codeSystem="2. 16, 840, I, 113883, 3. 989. 2. 1. 1. 197 displayNape="indication”/>
Cvalue xsi:type="CE” code="D.8.I.6b" codeSystem="2.16. 840.1. 113883. 6. 163" codeSystemYersion="D. 8. r. 6a"/>
¢<l— D.8.r.6a: MedDRA Version for Indication #2 —->
<l— D.8.r.6b: Indication (MedDRA code) H2 —
{/observation
¢/outboundRelationship2>
<omtbeundRelationship? typeCode="CAUS™>
<observation classCode="0BS” moodCode="EVN">
<code code="29" codeSystem="2.16. 840, 1, 113883, 3. 989, 2, 1. 1. 19" displayName="reaction”/> .
(value xsiitype="CE” code="D.8.r. 75" codeSysten="2. 16, 840. 1. 113883, 6. 163" codeSystemersion="D. 8. r. Ta"/>
(i~ D.8.r.7a: MedDRA Version for Reaction #2 —>
<]— D.8. r. 7b: Reaction (MedDRA code) #2 —>
{/observation>
{/outboundRelationship2>
{/substanceddninistration>
{/component>
{/organizer>
</subject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS" moodCode="EYN">
(code code="32" codeSysten="2, 16, 340. 1. 113883.3.989.2. 1. 1. 197 displayName="reportedCauseOfDeath”/>
<value xsiitype="CE" code="D.9.2.r. 1b" codeSystem="2, 16, 840. 1, 113883. €. 163" codeSystenVersion="D.0. 2. 1. 1a”>
¢l-~ D,8,2,r. la: MedDRA Versioh for Heported Cause(s) of Death #1 - ’
¢1-— D.9.2.1. 1h: Reported Cause(s) of Death (MedlRA code} #i —>
CoriginalText>D. 9. 2. r. 2{/originalText>
¢l-—D.9.2. 1.2 Reported Cause(s) of Death (free text) #1 -->
{fvalue>
{/observation>
</subject0f2>
<subject0f2 typeCoda="SB]">



{chservation classCode="CBS" mcodCede="EVN">
<code code="32" codeSystem="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" displayName="reportedCauseOfDeath” />
(value xsittype="CE" code=“D. 9. % r. 1b” codeSystem="2. 16. 840, 1, 113883. 6. 163" codeSystenVersion="0.9, 2, v, 1a">
<—— D.9.2.r. la: MedDRA Vevrsion for Reported Cause(s) of Death $2 ——>
¢1-= 1.9, 2.r. 1b: Reported Cause(s) of Death (MedDRA code) #2 —>
CoriginalText>D, 9, 2. T, 2{/originalText>
¢}— D, 9,2.r.2: Reported Cause(s) of Death {free text) #2 —>
{/value>
{/ohservation?
¢/subjectOf2y
<{subjeci0f? typeCode="SE]">
Zobservation classCode="CBS” moodCode="EVN">
Coode code="5" codeSystem="%. 16. 840, 1, 113883.3.989, 2, 1. 1. 19" displayName="autepsy”/>
{value xsi:type="BL" value="true”/>
<l— D,8.3 Was Autopsy Done? -—>
<putboundRelationship? typeCode="DRIY">
lobservation classCode="0BS” moodCode="EVN™>
<code code="8" codeSystem="2. 16,840, 1, 113883, 3,989. 2, 1. 1. 19”7 displayNawe="cause0fDeath” />
{value xsiitypa="CE™ code="D.9. 4 x.1b" codeSystem="2.16. 840. 1, 113883, 6, 183" codeSystenVersion="D, 9, 4, 1, 1a"™>
{1 B.9.4 1 la: MedDRA Version for Autopsy-determined Cause(s) of Death #L —>
¢1-— . 9.4 1. 1b Autopsy-determined Cause(s) of Death (MedDRA code) #1 —>
<originalText>D. 9. 4. r. 2¢/originalText>
<l— D.9.4.r.2: Autopsy-determined Cause(s) of Death (free text) #1 —>
(/valued
{fobservation?
</outhoundRelationghip2>
{outhoundRelationship2 typeCode="DRIV">
<ohservation classCode="0BS” moodCode="EVN™>
{cade code="8" codeSystem="2, 16. 340, F. 113883, 3,989, 2. 1. 1. 19" displayName="cause0fDeath” />
¢value xgiitype="CE* code="D.9. 4. r.1b" codeSystem="2. 16. 840. 1. F13883, 6. 163" codeSystenVersion="D, 9. 4. r. 1a”™>
¢l—— 0.9, 4. 1. la: MedDRA Version for Autopsy-determined Cause(s) of Death #2 -->
¢<l— 9.9, 4 r. b Autepsy-determined Cause(s) of Death (MedDRA code) #2 —
CoriginalText>D, 9, 4, r, 2{/originalText> )
¢l—- D,9. 4 r.2: Autopsy-determined Cause(s) of Death (free text) #2 —¥
{fvalued
{/observation>
¢/outboundRelationship2>
{/obgervation>
¢/aub jectOf2>
{subjectOf2 typeCode="SB]">
{observation rlassCode="0BS” moodCode="B¥N">
¢id root="164¢h8R9-D58h—45f2-al2f-42d4d6F4657F7 />
(oode code="99" codeSystew="2, 15, 840, 1. 113883, 3. 98%. 2, L. 1, 19" displayName="reaction”/>
{effectiveTime xsi:type="IVL_T8">
(low value="2009010%"/>
¢{— E.i.4: Date of Start of Reaction / Event #1 —>
<high value="20080102"/>
¢l— E.i.5! Date of fnd of Reaction / Event #1 —3
{/effectiveTime> -
<yalie xsiitype="CE” code="E. i.2.1b" codsSystem="2, 16. 840. 1, 113883. 6, 163" codeSystemVersion="E. i. 2. 1a™>
(}— E.1.2. 12’ MedDRA Version for Reaction / Bvent #1 —> '
¢l— B.i,2. 1b: Reaction / Event (MedDRA code) #1 —>
CoriginalText language="E.1i. 1. 1b")E. i. 1. lal/originalText>
¢l-- E.i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language 1 —>
¢l-— E. i, 1. 1b: Reaction / Event as Reported by the Primatry Source Language #1 —>
</value> '
<location typeCode="LOC™>
localedEntity classCode="LOCE">
{locatedPlace classCode="COUNTRY” determinerCode="TNSTANCE">
<code code="E, 1,9" codeSystem="1.0.3166.1.2.2"/>
¢}— B.1.9: Tdentification of the Country Whers the Reaction / Event Occurred #1 —
{/locatedPlace>
¢{/locatedEntity>
¢{/location>
¢puthoundRelationshin? typeCode="PERT ">
{observation classCode="0BS" moodCode="EVN">
¢eode code="30" codeSysten="Z. 16. 840, 1, 113883, 3. 9892, 1. 1. 16" displayName="reaotionForTranslation”/>
¢value xsi:type="ED">E. i. L 2¢/valua>
¢l-- E.i.1.2: Heaction / Bvent as Reported by the Primary Source for Translation #1 -->
</ohservation> '
{/outboundRelationship2>
ConthoundRelationship? typeCode="FERT">
{abservation classCode="0BS" moodCode="EVN">
Ccode code="37" codeSystem="2, 16. B40. 1. 113883, 3, 985.2, L. 1. 197 di splayName="ternfighlightedByReporter” />
(value xsi:type="CE” code="E.i.3. 1" codeSystem="2. 16. 84C. 1. E13883, 8.989. 2. 1. 1. 107/
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¢!— E.i.3.1: Term Highlighted by the Reperter #1 —>
<{/ohservation>
<{/outhoundRelationship2>
¢outboundRelationship? typeCode="PERT™>
<abgervation classCode="0BS” moodCode="EYN">
¢code code="34" codeSystem="2. 16, 840, 1. 113883, 2,989, 2, 1, 1, 19" displayName="resultsInDeath”/>
(value xsi:type="BL™ value="true”/>
¢I— B.i.3.2a: Regults in Death #1 —
</ohservationy
<{/outboundRelationshin2>
{outhoundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EYN">
{eode code=T217 codeSystem="2. 16. 840, 1, 113883.3,989. 2. 1, 1. 19" displayName="islifeThreatening”/>
<value xsi:type="BL" nullFlaver="NI"/>
¢l-- E. i.3.2b: Life Threatening #1 —>
{/observation
{/outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
<observation classCode="CBS™ moodCode="EVN">
{code code="33" codeSystem="2. 16, 840, 1, 113883.3. 989. 2. 1. 1. 19” displayNeme="requirezInpatientHospitalization™/>
{value xsiitype="BL” value="true”/>
¢l— E.j.3.2c! Caused / Prolonged Hospitalisation #1 —->
</observation>
</outbotndRelationship2>
¢outheundRelatlonship? typeCode="PERT">
<observation classCode="0BS” moodCode="EYN">
{code code="35" codeSystem="2. 16, 840, 1. [13883. 3. 989, 2, 1. 1, 19" displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL" nullFlavor="NI"/>
{|— E.i.3.2d: Disabling / Incapacitating #1—>
</obgervation> : :
¢{/outhoundRelationship2>
<outboundReiationship2 typeCode="PERT">
<observation clagssCode="0BS” moodCode="EYN">
{eode code="12" codeSystem="2.16. B40. 1. 113883. 3,989, 2, L. 1. 19" displayName="congenitalAnemalyBirthBefect”/>
(value xsi:type="BL" nullFlavor="NI"/> -
¢l-- E.i.3.2e: Congenital Anemaly / Birth Defeot #1 —=>
</ochservation)
</outboundielationship2>
{outhsundRelationship2? typeCode="PERT">
<cbservation classCode="0BS” moodCode="EVN™>
{code code="26" codeSystem="2. 15. 840. 1. 113883, 3. 888, 2. L. 1. 19" displayMame="otherMedicallyImpertantCondition”/>
{value xsi:type="BL” value="trus"/>
¢l—— B.i.3.2f: Other Medically Important Condition #1 -->
</fobgervation>
</outboundRelationship2>
<outhoundRelationshipZ typeCode="FERT">
{observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2. 16, 840, 1. 113883.3.989. 2. 1. 1. 19" displayName="outcome"/>
" Cvalue xsiitype="CE” code="E.i.7" codeSystem="2.16.840. 1. 113883.3.989. 2.1, 1, 11"/
{l-— B.i,7: OQutcome of Reaction / Bvent at the Time of Lagt Observation #1 —>
{/ohservation> ' ' .
{foutboundRelationship2>
{outhoimdRelationship2? typeCode="FERT™>
{observation classCode="0B5" moodCode="EVN">
(code code="24" codeSystem="2.16. 840, 1, 113883, 3. 989, 2. 1. 1. 19" displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true"/> :
¢l-— E, i.8' Medical Confirmation by Healthcare Professional #1 —>
{/abservation>
¢/outboundRelationship2>
<puthoundRelationship2 typeCode="FPERT">
{cbssrvation claszCode="0BS" moodCode="EYN™>
<eade code="11" codeSystem="2. 16, 840, 1. 113883. 3.989.5. 1. 3. 2. L. 10" displayName="3:%1 - BE#R"/>
<value xsi:type="CE" code="J2.14.1" codeSysten="2.16, 840, 1, 113883.3.989.5. 1. 3. 2. 1.8"/>
<l-- 886J2.14. 1 #&0 - B #1 —>
</observation> '
</outboundRelationship2>
{/observation>
{/sub ject0Of2>
¢subject0f2 typeCode="SB]”>
{chservation classCode="0BS” moodCode="EVN">
<id roct="2baa?8d6~cBeB-4ebc-93e9-5b860b3142207 />
{eade code="29" codeSystem="2, 16. 840. [, 113883.3.685. 2. 1. 1. 19" displayName="reaction”/>
<effectiveTime xsi:type="I¥L_TS">
(low value="20090101"/>
l— E.i.4: Date of Start of Reaction / Event #2 —
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¢width value="24" unit="E.i.6Eb"/>

¢l-~ E.i, 8a: Duratien of Reaction / Event (number} #2 —>

¢!— E.i.Bb: Duration of Reacticn / Bvent (unit) #2 —>
¢/effectiveTime>

¢valte xsi!type="CE" code="E.i.2.1b" codeSystew="2, 16. 840, 1. 113883, 6. 163" codeSystemVersion="E. 1. 2. 1a">

¢1-— E.1.2. 1la: MedDRA Version for Reactien / Event #2 -->
¢l-— E.i,2,1b: Reaction / Event (MedDRA cade) #2 —>
<originalText language="E, i, 1. 1h">E. i. 1. la</originalText>

{l-- E.i.1.la! Reaction / Bvent as Reported by the Primary Source in Native Language 2 -
¢<l— E.i. 1. 1b: Reaction / Bvent as Reported by the Primary Source Language #2 -->

¢/valued
{location typeCode="LOC™)
<locatedEntity classCode="LOCE™>
(locatedPlace classCode="COUNTRY” determinerCode="[NSTANCE™>
{code code="R. i.9" codeSystem="1.0.3166.1.2.2"/>

¢|— B.i.9: Identification of the Country Where the Reaction / Event Occurred #2 -->

{/locatedPlace?
{/locatedBntity>
</location> )
(outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">

{code code="30" codeSystem="2. L6, $40, 1. 113883. 3, 985.2. 1. 1. 19" di splayName="react ionForTranslation”/>

<value xsi:type="ED">E.1i. 1, 2</value>

¢{=— E i, 1.2! Reaction / Event as Reported by the Primary Scurce for Translation #2 -->

{/ohservation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
{eode code="37" codeSystem="2.16. 840, 1. 113883, 3,989.2.1.1.19"

displayName="termHighlightedByReporter”/>

(value xsitype="CE” code="E.1i.3.1" codeSystem="2.16.840. 1. 113883,3,.289.2.1. 1. 107/>

¢}~ E,i,3.1:Term Highlighted by the Reporter #2 —>
¢/observation>
</outboundRelationship2>
¢ortbeundRelationship? typeCode="PERT™>
¢ohservation classCode="0BS” moodCode="EVN">
<cods code="34" codeSystem="2. 16. 840_ 1. 113883. 3,989, 2. 1. 1. 19"
(value xsiitype="BL" value="true”/>
{f— E.i.3.2a! Results in Death #2 —>
{/observation>
</outboundRelationship2>
<outboundRelationship? typsCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="21" ‘codeSystem="2. 16. 8B40, 1. 113883, 3, 985. 2. 1. 1. 19"
<value xgiitype="BL” mullFlavor="NI"/>
¢l—— B, i.3.2h: Life Threstening #2 ——>
{/observationy
¢/outboundRelationshipZ>
{outbeundRelationship? typeCode="FERT">
{observation classCods="0BS" moodCode="EVN">
Ceode code="33" codeSysten="2. 16, 846, 1. 113883.2,989. 2. 1. 119"
<vyalue xsiitype="BL" wvalue="true”/>
¢l-—— E.i.3, 2! Caused / Prolonged Hospitalisation #2 —
{/observation?
{/outboundRelationship2>
CoutboundRelationshin? typeCode="PERT”>
{observation olassCode="0BS" woodCode="EVN">
Coode code="35" uodeSystem="2. 16, 8B40, 1. 113883, 3, 988, 2,1, 1. 197
{value xsiitype="BL” nullFlavor="NI"/>
¢}-—- E.i,3.2d: Disabling / Incapacitating #2 —>
{/observation>
</outhoiindRelationship2> |
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" mondCode="EVN"> )
<code cods="12° codeSystem="2, 16. 840. 1. 113883. 3. 989, 2.1, 1. 19"
{value xsiitype="BL” nullFlavor="NI1"/>
¢l— E.i.%. %: Congenital Anomaly / Birth Defect #2 —>
¢/observation> '
¢/outhoundRelationshipz>
{outbetindRelatienship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<code code="26" codeSysier="2. 16, 840, 1. 113883. 3. 989. 2. L. 1. 19"
{value xsi:type="BL" value="true”/>
¢l-— E.i.3.2F: Other Medically Important Condition #2 —»
{/observation>
</outhoundRelationship2>

_.11ﬁ

displayiame="resul ts InDeath” />

displayMame="1slifeThreatening”/>
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displayName="congenitalAnomalyBirthDefect”/>

displayName="ctherMedicallyIspertantCondition”/?



{outhoundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
<cade code="27" codeSyster="2. 16. 840. 1. 113883, 3, 989, 2, 1, 1. 19" displayName="outcome”/>
<value ¥=i:type="CE” code="E, 1.7 codeSystew="2. 16, 840. 1, 113883,3, 689, 2. 1, 1. 1175
{l-- E.1i.7: Outecome of Reaction / Bvent at the Time of Last Observation #2 -->
<{/observation)
<{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
<observation classCode="0B5" moodCode="EVN™>
{cade code="24" codeSystem="2. 16. 840. 1. 113883, 3.689. 2. 1. 1. 197 displayName="medicalConfirmationByHeal thPrafessional”/>
{value xsi:type="BL” value="trus"/>
<]— E.1i.8! Medical Confirmation by Healthcare Professional #2 —3
{/okservation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT"™>
Cobservation classCode="0BS" moodCode="EVN">
¢eode code="11" codeSystem="2. 16, 840, 1. 113883, 3, 989, 5, 1. 3.2, . 10" displayName="5R%0 - BEZN"/>
{value xsiitype="CE" code="J2.14.1" codeSystenm="2. 16,840, 1, 113883.3.989.5.1.3.2.1.87/>
<|-- 8@z 14.1 siehn - BEEN B2 -
</observation>
<{/outboundRelationship2>
{/observaticn>
<{/subject0f2>
<subjectdf2 typeCode="SB]">
{ohgervation classCode="CBS” moodCede="EVN™>
¢id root="328626ch—0f1b—4eal-8a0f-e0fF344302dE"/>
(code code="28" codeSystem="2. 16,840, 1.112883.3.980.2,1.1,19” displayName="reaction”/>
<effectiveTime xsi:type="IVL_IS">
<width value="24" unit="E.i.Bb"/>
¢l E. i.6a! Duration of Reaction / Event (number) #3 —>
¢l-- E, i, 6b: Duration of Reaction / Event (unit) #3 —>
<high value="201012017/>
<|-- E.i. 5! Date of Bnd of Reaction / Event H3 —>
</effectiveTimad
¢value xsi:type="CE" code="E.1i.2.1b" codeSystem="2.16. 840. 1. 113883. 6. 163" codeSystemVersion="E. 1. 2. 1a™>
¢J—= E. i, 2.1a: MedDRA Version for Reaction / Event §#3 -—>
¢1— E.i.2. 1b: Reactien / Bvent (MedDRA code) #3 —>
CoriginalText language="E.i.1.1b"E. {. 1. la</originalText>
¢l—— E.i.1.1a: Reaction / BEvent as Reported by the Primary Source in Native Language #3 ——
¢|-= B.i.1. 1b: Reaction / Event as Reported by the Primery Source Language #3 —>
</value>
(location typeCode="LOC™>
{locatedEntity classCode="10CE">
(locatedPlace classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="B.1i.9" codeSystem="1.0.3166.1 2, 27/>
¢l— E.1i.9: Identification of the Country Where the Reaction / Event Dceurred #3 —>
</locatedPlace>
{/locatedEntity>
{/location>
CoutboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
¢code code="30" codeSystem="%. L6. B40. 1. 113883. 3.989. 2. 1. 1. 19” displayName="reactionForTranslation”/>
¢value xsi:type="ED")E.i. L 2{/value}
¢!— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translaiion #3 —>
<{fobsaervation>
</outboundRelationship2>
¢outhoundRelationship? typeCoda="PERT”>
{chservation classCode="0858" moodCode="EVN™>
Ccode code="37" codeSystem="2. 16. 840. 1. E13883, 3,989, 2. 1, 1. 19" displayName="termHighlightedByReporter” />
¢value xsiitype="CE" code="E.1i.3.1" codeSystem="2. 6. 840, 1. 113883, 3.589.2. L. 1, 10"/>
<|-- B, 1. 3. 1:Term Highlighted by the Reporter #3 ~—>
{/observation
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{abservation classCode="0BS" moodCode="EVN">
{code code="34" codeSystem="2, 16. 840. 1. 113883. 3.989. 2, 1. 1. 19" displayName="resultsInDeath”/>
{value xsi:type="BL” value="true"/>
¢I~— E.i.3.2a: Results in Death #3 —>
¢/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{ohgervation elassCode="0BS” moadCode="EVN">
¢code code="21" codeSystem="2. 16.840. 1, 113883. 3. 885.2. 1. 1. 197 displayName="isLifeThreatening”/>
<value xsi:type="BL" nullFlaver="NI"/>
¢!=— B,i,3.2b! Life Threatening #3 —> P
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</observation>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation clessCode="0BS" moodCode="EVN">

Ceode code="35" codeSystem="2, 16. 840.1.113883.3,988, 2, L. 1. 19" displayName="requiresInpatientHospitalization "/

<value xsi:type="BL" value="true”/>
¢l-- E.i.3.2c: Caused / Prolonged Hospitalisation #3 ——>
{/observation)
¢/mitboundRelationship2>
{outboundRelationship® typeCode="PERT™>
Cobservation elaasCode="0BS" moodCode="EVN™>

(code code="35" codeSystem="2, 16.840. 1.112883.3.989.2, 1. 1. 15" displayNams="resultsInPersistentOrSignificanthisability iy

(value xsi:type="BL* nullFlavor="NI"/>
¢|-- B.1.3.2d: Disabling / Incapacitating #3 ——
{/observation> '
</outboundRelationship2>
<autboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCade="EVN">

(coda code="12" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="congeni talAnomalyRirthDefect”/>

¢value x8i:type="BL” nullFlavor="NI"/>
¢]-— E,i.3.2e: Congenital Amomaly / Birth Defect #3 ——
{/vbservation>
</outboundRelationshipZ>
{outhoundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">

<code code="26" codeSystem="2, 16.840, 1. 113883, 3. 989, 2, L. 1. 197 displayName="ctherMedicallylmportantCondition”/>

Avalue xsi'type= "BL” value="true"/>
<}— B.1.3.2f: Other Medically Inportant Condition #3 —%-
{/chservation>
</outboundRelationship2>
<eutboundRelationship? typeCode="PERI™>
{observation classCode="085" moodCode="EVN">

<code code="27" codeSysten="2. 16, 840. 1. 113883, 3,989, 2, 1. 1. 197 displayNane="outcome” />
(yalue xsi:type="CE” code="E.i.7” codeSystem="2.16.840. 1 113883.3, 980.2, 111175
¢{|— K.i.7: Outcome of Reaction / Bvent at the Time of lLast Observation #3 —>

{/ohservation)”
¢/outboundRelationship2>
CoutboundRelationship? typeCode="PERT”>
{abservation classCode="0BS" moodCade="EYN">

<code code="24" cudeSystamﬁ 2. 16. 840, 1. 113883. 3. 689, 2. 1, 1. 18" displayName~ *medicalConfirmationByHeal thProfessional " />

¢value xsiitype="BL” value="true”/>

¢]-- B.i.8: Medical Confirmation by Healthcare Professional #3 —>

{/ohservation>
</outboundReiationship2>
<cutboundRelationship? typeCode="FPERT">
¢ohservation classCode="0BS" moodCode="EVN">

Coade cnde="11" codeSystem="2. 16, 840, 1, 113883, 3. 988. 5. L. 3. 2. L 10" displayName="3/0 - BEEN© />
¢value xsiitype="CE” code="J2.14. 1" codeSystem="2. 16. 840, 1,113883.3.989.5.1.3. 2. L. 8*/>

<I— @@8J2. 14. 1 F&0 - Bisa #8 —
{/ocbservation>
{/outboundRelationship2>

¢/obsarvation?
£/subject0f2>
{subject0f? typeCode="8BI">

{obgervation classCode="0BS" moodCode="EVN">
¢id root="2e99840F-08b4-499c-80ff-ddB415£4fBab" />

<code code="28" codeSystem="2. 16,840, 1, 113883.3.989.2.1. 1. 197 displayName="reaction”/>

<gffectiveTime xsi:type="SXFR_TS™>
<comp xsi:type="IVL_TS™>
low value="20080101"/>
{l— E.i. 4 Date of Start of Reaction / Event #4 —>
¢high value="2010120L"/
¢|— B.1i.5: Date of End of Reaction / Event #4 —>
{/comp>
<comp xsiitype="IVL_TS" operator="A">
{width value="24" unit="E.i,6b"/>
¢|== E i.6a! Duration of Reaction / Bvent (number) #4 —>
¢!-- £, 1.6b: Duration of Reaction / Event (unit) #4 —->
{/comp> i
{/effectiveTime>

<value xsi:type="CE” code="E. i.2 1b”" codeSystem="2. 18, 840, 1, 113883 6. 163" codeSystenVersion="E.1.2.1a™>

¢!— E.1i.2.la: MedDRA Varsion foxr Reaction / Event #4 —>
¢}— B.1, 2. 1b: Reaction / Event (MedDRA code) #4 —>
CoriginalText language="E.3i.1.1b">E. 1, 1, 1a</originalText>

¢l— E.i.1. 1a* Reaction / Event as Reported by the Primary Source in Vative Language #4 —>
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¢l-— B i, 1, 1b: Reacticn / Bvent as Reported by the Primary Source Language #4 —>
{fyaluay
{location typeCode="LOC">
¢locatedEntity classCode="LOCE™>
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="F, i, 9" codeSystem="1.0.3166.1.2.2"/>
{l-- E.1,9: Identification of the Country Where the Reaction / Event Occurred #4 --> )
{/locatedPlace’
<{/locatedEntity>
{/location>
¢outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN")
<code code="30" cadeSystem="2, 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" displayName="reacticnForTranslation”/>
(value xsi:type="ED"JE.i.l.2¢/value>
¢l== B.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #4 -->
{/chservation?
</outhoundRelationship2>
{outboundRelationship? typefode="PERT">
<observation classCode="0BS" moodCode="EVN™>
¢code code="37" codeSystem="2.16.BAU, I, 1138833, 980, 2, 1, 1, 197 displayName="ternHighlightedByReporter?/>
<value xsi:type="CE" code="E.i.3.1" codeSystem="2.16. 840. 1. 113883, 3.989.2. 1. 1, w5
¢l— B.1.3.1iTerm Highlighted by the Reporter #4 -->
{/cbgervation>
{/outboundRelationship2>
{outhoundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
leode code="34" codeSysten="2, 16. B40. 1. 113883, 3. 989, 2. 1. 1, 19" displayName="resultsInDeath”/>
¢value xsiitype="BL" value="true”/>
¢l-— E.i.3.2a: Results in Death #4 —>
{/observation>
{/outboundRalationship2>
CouthoundRelationship? typeCede="PERT”>
{observation classCode="DBS" moodCode="EYN">
<code code="21" codaSystem="2, 16. 84C. 1. 113883. 3. 884. 2. 1. 1. 19" displayNeme="isLifeThreatening”/>
Cvalue z2iitype="BL” nullFlavor="NI"/>
¢! BE.1.3. 2b: Life Threatening #4 —>
{/obhservation>
</outboundRelatisnship2>
{outhaimdRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
(code code="33" codeSysten="2, 16, 840, 1, 113883. 3. 58%. 2. L. 1. 19
<value xsi:type="BL" value="true”/>
¢!— E.i.3.2c: Caused / Prolonged Hospitalisation #4 ——>
</observation?
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<cbservation classCode="0BS" moodCode="EYN™>
(code code="38° codeSystem="2, 16. 840. 1. 113883, 3.989.2. 1, }, 19" digplayName="resultsInPersistentCrSignificantDisability”/>
(value xsiftype="BL" nullFlavor="NI"/>
¢l—— E.i.3.2d: Disabling / Incapacitating #4 —>
{/obzervation>
</outboundRelationship2>
<outhotndRetationship? typeCode="PERT™>’
<observation classCode="0R5" moodCode="EVN">
{code code="12" codeSystem="2, 16, 840, 1, 113883.3.989.2.1.1.19
C(value xsi:type="BL” nuliFlavor="NI1"/>
¢{l-- E,i,3.2e: Congenital Anomaly / Birtk Defect #4 ——>
¢/ubservation>
{/otithoundRelationship2>
<puthoundRelationship? typeCode="PERT">
{ohservation classCode="0BS” moodCode="EVN"> .
¢oade code="26" codeSysten="2. 16, 840, 1,113883.3.989. 2. 1. 1. 19" displayNane="otherMedicallylmportantCondition”/>
(value xsiitype="BL" value="true”/>
¢(}-- B, i, 3, 2f: Other Medically Important Condition #4 —>
¢/observation>'
¢/outboundRelationship2’>
<outhoundRelatiohship? typeCode="PERT">
<cbservation classCode="0BS" moodCode="EVH™>
¢eode code="27" codeSystem="2. 16.840). 1.113883. 3. 989. 2. 1. 1. 19" displayName="nutcome"/>
¢value xsi:type="CE” code="E. i7" codeSystem="2.15, 840, 1, {13883,3.989.2.1. 1. 11"/>
<|=- E.1.7! Outcome of Reaction / Event at the Time of Last Observation #4 —>
</ohservation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
<abservation classCode="0BS" moodCode="EVN™>

-

displayName="requiresInpatientospitalization”/>

”

displayNeme="congenitalAnomalyBirthDefect”/>
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¢eode code="24" codeSystem="2. 16. 840, 1, 113883. 3. 589. 2. L. £. 19" displayName= med1caICanf:eratmnEyHealthPrufesslonal i2)

Cyalue xsi:type="BL” value="true"/>
¢1—— E.i,8: Medical Confirmetion by Healthuare Professicnal #4 ——>
{/cbaervation>
{/outboundRelationship2>
¢outboundRelationship? typeCode="PERT">
Cobservation classCode="0BS” moodCode="EVN">
{code code="11" cedeSystem="2, 16. B40. 1. 113883.3.989,5. 1, 3. 2. 1. 10" displayName="34% « BEER"/>
¢value xsi:type="CE” code="J2.14.1" codeSystem="2.16. 840, 1. 113883, 3,989.5.1.3.2. 1. 8"/
<l-- 888J2. 14.1 i - BhA pe —>
{/observation>
¢/outboundRelationshipZ
¢/observation> o
</sub ject0L2>
CsubjectPf? typeCode="SB]">
(observation classCode="CBS* moodCode="EVN">
¢id root="1071064c-cf10~4a3b-83c1-34F0ddhTeabd” />
<{code code="29" codeSystem="2.16.840. 1. 113883,3,989.2.1.1. 19* displayName=" react]_cn T/
{effectiveTime xsi:type="IVI_TS™>
¢low value="200801017 />
{l— E.i.4: Date of Start of Reaction / Event #6 —>
{/effectiveTime> .
<value xsiitype="CE” coda="E. i, 2. 1b" codeSyster="2, 16. 840, 1. 113882, 6. 163" codeSystemVersion="E. 1,2 Ia">
¢}-— E.i.2 17 MedDRA Version for Reaction / Bvent #5 —>
¢!-— E, i, 2.1b: Reaction / BEvent (MedDRA code) #5 -5
{originalText language="E. i, 1. 1b"2E. 1. 1. la</originalText>
¢J-— ¥ i.1.1a: Reaction / Event as Reported by the Primary Source in Native Langnage #5 —>
¢l— E. 1,1, 1b: Reaction / Bvent as Reported by the Primary Source Language #5 ——>
£ /vatue>
<location typeCode="10C">
{locatedEntity classCode="LOCE">
¢lacatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.1i.9” codeSystem="1.0.3166.1.2,27/>
¢l— B.i,9: Identification of the Country Where the Reaction / Event Occurred #5 —>
{/]ocatedPlace>
{/locatedEntity>
</location>
{outboundRelationship? typeCode="PERT">
{obsorvation classCode="083" moodCode="EVN'>
Coode cade="30" coduSyster="2. 16. 840, 1. 113883, 3, 589. 2.1, 1. 18" displayName="reactionForTransiation”/>
Cvalue xsi:type="ED")E. i.1.2¢/value>
¢{!— B i.1.2; Reaction / Event as Reported by the Primary Source for Translation #5 —>
</observation?
</outboundRelationghip2>
¢outboundRelationship2 typeCode="PERT">
{observation clessCeds="0BS" moodCode="EYN">
¢code code="37" codeSystew="2. 16. 840, 1. 113883, 3,989,2, 1, 1, 19" dlsplayName— ternHighlightedByReporter” />
¢value xsi:type="CBE" cede="E.1i.3.1" codeSysten="2, 16, 84C. 1. 113883. 3. 989, 2, 1, 1, 10 />
¢l B, i.3. LiTerm Highlighted by the Reporter #6 —>
{/observation>
</onthoundRelationship2>
ZouthorndRelationship? typeCode="PERT">
¢observation classCode="OBS" moodCode="EVN">
¢oode code="34" codeSystem="2. 16. 840, 1. 113883, 3, 986. 2.1, 1. 19" displayName="resultsInDeath”/>
Cvalue xsiityps="BL" value="true”/>
<l— E.i.3,2a’ Results in Death #6 —>
</observation?
</oulboundfelationship2>
<outhoundRelationship? typeCade="PERT*>
{ohservation classCode="0BS” moodCode="EYN">
¢oode code="21" codeSysten="2, 16. 840, 1. 113883, 3,989, 2. 1. 1. 19" displayName="isLifeThreatening”/>
Cyalue xsiitype="BL” nullFlaver="NI"/>
¢!—— E. 1.3, 2b; Life Threatening 5 —>
{/observation>
¢/mrthoundilelationship2?
¢outhoundRelationship? typeCode="PERT">
Cohservation classCode="0BS” moodCode="EVN™> '
<code code="33" codeSystem="2. 16, 840, 1. 113883.3. 989, 2,1, 1. 19" displayNawe= requlreslnpahentHnspltahza‘smn o
¢value xsi:type="BL” value="true"/>
¢l— B 1.3 2¢! Coused / Prolenged Hospitalisation #5 —
{/ohservation?
{/vuthoundRelationship2>
<outboumdRelationship? typeCode="PERT">
{ohservation classCode="0OBS” mooadCode="EVN™>

{code code="3E" codeSystem="2. 1B. 840, I, 113883 3,989, 2. 1. 1, 16" displayName="resultsInPersistentOrSignificantDisability i8]
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Cvalue xsirtype="BL" nullFlavor="NI"/>
¢l— B, 1,3, 2d: Disebling / Incapacitating #5 —>
{/observation?
¢/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<code code="12" codeSystem="2. 16. 840, 1, L13883. 3. 989, 2. 1. 1. 19" displayName="congenitalAnomalyBirthDefect”/>
{value xsi:type="BL” nullFlavor="NI"/>"
<!— E.i. 3.2e! Congenital Anomaly / Birth Defect #5 —>
</obgervationy
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN™>
Ceode code="28" codeSyster="2. 15. 840, 1. 113883, 3, 988. 2. 1. 1. 19" displayName="otherMedicallyImportantCondition”/>
<value xsi:type="BL” value="true”/>
¢l— B.i.3.2f: Other Medically Important Cendition #5 —>
{/observation>
¢/outboundRelaticnship2>
{putbamdRelationshin? typeCode="PERT">
<observation classCode="0BS" moodCode="E¥YN">
<code code="27" codeSystem="2, 16, 840, 1, 113883, 3,989.2, 1,1, 19" displayName="outcame”/>
{value xsiitype="CE" code="F.i.7" codeSystem="2.16. 840, 1. 113883.3.980.2.1. 1. 11"/>
{I-— E, i,7: Qutcomz of Reaction / Event at the Time of Laszt Cbservation #6 -->
{/ehservation
¢/outboundRelationshipZ>
<outhotundRelationship2 typeCode="PERT">
{obgervation classCode="0B3" moodCode="EVYN">
(code code="24" codeSystem="2. 16. 840, 1, 113883, 3. 889. 2. 1. 1. 19” displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true”/>
{l-- E.i.8! Medical Confirmation by Nealthcare PerESSlﬂnal ﬂS —>
</observation)
</outboundRelationshin2>
{outhoundRelationship? typeCode="PERT™>
<obgervation eclassCode="0BS” moodCode="EVN">
<code code="11" codeSystem="2. 16. 840, 1. 113883. 3. 986. 5. L. 3. 2. 1. 10" displayName="3%0 « BLXn"/>
<{value xsi:type="CE* code="J2.14. 1" codeSystem="32, 16. 840. 1. 113883. 5. 989.5.1. 3. 2. 1.8"/>
-- 88072, 14. 3 Rk - BEAD #5 - ‘
¢/obgervation>
¢{/outboundRelaticonship2>
{/chservation>
</sub ject0i2>
{gubject(f2 typeCode="SB]">
{observation classCode="OBS” moodCode="EVN">
<id root="1f927283~10b6—4334-9d43-e025640Fb181" />
{code code="29" codeSystem="2. 16. 840. 1. 113883, 3. 888, 2. 1. 1. 19" displayName="reaction />
<{effectiveTime xsi:type="IV[._TS">
<high value="20090101"/>
({-- E.i.4: Date of Start of Reaction / Event #6 ~—>
{/effectiveTime>
{yalue xsi:type="CE” code="E.i.2, 1b” codeSystem="2. 16, 840, 1, 113883, 6, 163" codeSystemVersion="E. i. 2 la™>
¢|—— E.i.2% la: MedDRA Versien for Reaction / Event #6 ~->
¢(!— E. i 2.1b: Reaction / Event (MedDRA code} #6 —>
{originalText language="F, i, 1, 1h">E, i, L. la{/originalText>
¢!— E.i.1.1a! Reaction / Event as Reported by the Primary Source in Natlve Language #6 ——>
¢{-— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language H#6 ——>
{/value)
{location typeCode="L0C">
<locatedEntity classCode="LOCE">
(lacatedPlace classCode="COUNTRY" determinerCode="INSTANCE">
{code code="F.i.9" codeSystem="1.0. 3166.1. 2. 2*/>
<l-— B. 1. 9! Identification of the Country Where the Reaction / Event Occurred 8 —>
{/1ocatadPlaced
</locatedEntity>
</location>
<outhoundRelationship2 typeCode="FERT")
{observation classCode="0BS” moodCode="E¥YN">
{code code="30" codeSystem="2. 16.840. 1. 113883. 3. 089.2. 1.1, 19" displayName="reactionForTranslation”/>
<value xsi:type="ED">E.i.1.2¢/value>
¢<l-- B i.1.2! Reaction / Event as Reported by the.Primary Source for Translation #6 —>
</cbservation>
{/outboundRelatisnship2>
<outhoundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
¢code code="37" codeSystem="2, 16, 840, 1. 113883, 8. 89, 2, 1. 1. 197 displayName="ternHighlightedByReporter”/>
<value xsi!type="CE" code="E.i.3.1" codeSystem="2. 16, B40. 1. 113883, 3.989. 2. 1.1.107/>
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<= B.i. 3. 1:Texrm Highlighted by the Reporter #6 —>
{/observation?
{/outhoundRelationship2>
¢outboumdRelationshipZ typeCode="PERT™>
¢observation classCode="0BS" moodCode="EVN™>

<eods code="34" codeSystem="2. 16,840, 1. 113883, 3, 989, 2. £. L. 19" displayName="resultsInDeath” />

¢yalue xsiitype="BL” value="true"/>
¢!— B, j,3 22: Results in Death #6 —>
¢/observation>
¢/outboundRelationship2?
CoutboundRelaiienship? typeCode="PERT” >
{observation classCode="0BS" moodCode="EVN™>

Coode code="2:" codeSysten="2. 16. 840, 1. 112883, 2.989. 2. 1. L. 19" displayNeme="isLifeThrestening”/>

(value xsiitype="BL" nullFlavor="NI"/>
¢(}—— E.1i.3.2b: Life Threatening #6 —
{/observation>
</outboundRelationship2>
¢outboundRelationship? typeCode="FERT™>
{observation classCode="0BS" moodCode="EVN">

¢code code="32" codeSysten="2. 16, 840.1.112883.3,988,2, 1,1, 18" " displayName= requueslnpatientHuspltallzntlon />

(value xsi:type="BL” value="true"/>
¢l-- E.i.3.2¢c! Caused / Prolonged Hospitalisation #6 —>
{/observation>
{/outboundRelationship2>
{outhpundRelationship? typeCode="PERT™>
{observation classCode="0RS" moodCode="EVN">

{code code="35" codeSysten="2. 16. 840, 1. 113883. 3. 485, 2.1.1.18" displayName="resultsInPersistentOrSignificantDisability”/>

¢value xsi:type="BL” nullFlaver="NI"/>
¢1-— E. i. 3. 2d: Disabling / Incapacitating #6 ——>
{/observation>
¢/otboundRelationship2>
. ¢outboumdRelationship2 typeCode="PERT™>
{ohservation classCode="0BS" moodCode=7EVN">

Ceode code="12" codeSystem="2, 16. 840, 1, 1138E3. 3. 989, 2, 1. 1. 19" displayiame=' congemtalAnomalyBlrthDef&ct >

¢value xsiitype="BL" nullFlavor="NI"/>
¢l-- E.i.3. % Congenital Anomaly / Birth Defect #6 —>
</observation?
</outboundRelationship2>
<outboundRelationshipZ typeCode= PERT”
{ohservation classCode="0BS" moodCode="EVN™>

(code code="26" codeSystem="2.16.840.1, 113883, 3,989.2, 1. 1. 19" displayName="otherMedical lyInportantCondition”/>

¢value xeiitype="BL” value="trus"/>
{!— E.i.3.2f: Other Medmally Important Condition #6 —>
{/observation? -
¢/outboundRelationship2>
(outboundRelationskip? typeCode="PERT">
{observation classCode="08S" mocdCode="EYN™>

¢eode code="27" codeSystem="2. 16. 840, 1, 112883, 3, 989, 2.1, 1. 197 displayName="outcome”/>

<value xsiitype="CE” code="F.i.7" codeSystem="2.16.840.1. 113883.3.989.2. 1. 1 117 />

{l-- B.i.7: Outcome of Reaction / Bvent at the Time of Last Ohservation #e —>

</observation?
</outbeoundRelationship2?
{ottboundRelationship? typeCode="PERT">
¢ehservation classCode="0BS" moodCode="EVN">

Coode code="24" codeSystem="2. 16, 840, 1, 113883, 3. 989. 2. 1. 1. 19" displayName= "nedicalConfirmationfyleal thProfessional”/>

Cvalue xsi:type="BL” value="true”/>

¢l— B i.8: Medical Confirmation by Healthcare Professional #6 --»

{/observation®
{/outhoundRelationship2>
¢outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>

Ceode code="11" codeSystem="2. 16. 840. 1. 113883, 3. 989.5.1. 3. 2. 1. 10" displayName="40 - BE&R"/>
<value xsiitype="CE” code="J2.14,1" codeSystem="2. 16, 840, 1, 113883.3,889.5.1.3.2. 1.8"/>

<1-- e@aJ2, 14. 1 4 - BEEN #H6 -
{/observation>
© </onthoundielationship2>

{/observation>
{/subject0f2>
<subject0f2 typeCode="SBJ">
{observation classCode="0BS" moadCode="EVN">

<id root="c0342069-38ha-423fbEbb-celdbc279d8e” />

{code code="29" codeSystem="2.16. 840, 1. 113883, 3. 986.2.1. 1. 19" displayName="reaction”/>

(effectiveTime xsi:type="IVL_TS">
¢width value="24" unit="E. i, 6b"/>
{|-- E.i.Ba: Duratlnn of Reaction / Event (number) #7 —)
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¢!-—— E. i 6b! Duration of Reaction / Bvent (unit) #7 -—»
{/effectiveTime>
{value xsiitype="CE” code="E.1i.2.1b" codeSystem="2, 16. 840, 1. 113883, 6, 163" codeSystemVersion="8. 1.2 1a">
<!-- B, i,2. 1a: MedDRA Version for Reaction / Event #7 - -
{]— E.1i.2.1b: Reaction / Event (MedDRA code) #7 —>
<originalText language="E.i.1.1b">E, i, 1, 1a¢/originalText>
<= E.1i.1.1a: Reaction / Event as Reported by the Primary Source in Native Language #7 ——>
{{-~ E, i, 1, 1b: Reaction / Event as Reported by the Primary Sotrce Language #7 ——>
</value>
¢lacation typeCode="L0C">
<locatedEntity classCode="LOCE™>
(locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
¢oade code="E. i.9” codeSysten="1.0. 3166, 1.2, 2"/>
¢l— E.%.9: Tdentification of the Country Where the Reaction / Event Dcouryed #7 —>
{/locatedPlace>
</locatedBntity>
/location>
<outhoundRelationship2 typeCode="PERT">
{observation classCede="0BS" moodCode="EVN"> .
<code code="30" codeSystem="2.15. B40. 1. 113883. 3,989, 2, 1. 1. 13" displayName="reactionForTranslation”/>
<value xsittype="ED">E. i. 1. 2<{/value>
<|~- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #7 ——>
{/observation>
{/outhoundRelationship2>
<outhoundRelatisnship? typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN™>
{code code="37" codeSystew="2. 16, 840, 1, 113883, 3. 989. 2. 1. 1. 197 displayName=”termHighligh‘tedByReporter”/)
¢value xsi:type="CE" code="E, i, 3,1" codeSystem="2. i, 84C. 1, 113883, 3, 889, 2, 1, 1, 107/>
¢!~ E.i.3. 1:Term Highlighted by the Reporter #7 ——>
</observation?
</outboundRelationship?>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCade="EVN">
(cade code="34" codeSystem="2. 16, 840, 1, 113883, 3, 989, 2. 1. 1. 19" displayName="resultsInDeath”/>
{value xsi:type="BL” value="true"/>
¢l~- E.3.3.2a: Results in Death #7 -->
</observation> -
</outboundRelationship2>
<outheundRelationshipZ typeCode="PERT™>
{observation classCode="DBS” moodCode="EVN">
Ccode code="21" codeSystem="2. 16,840, §, 113883, 3, 58%. 2. 1, 1. 19" displayName="isLifeThreatening”/>
¢value xsiitype="BL” muliFlaver="NI"/> )
(l— B.i,3.2b: Life Threatening #7 —>
</chservation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
<observation classCode="0BS” moodCode="EVN">
¢code code="33" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2_1. 1. 19" displayName="requiresInpatientlospitalization”/>
{value xsi:type="BL™ value="true"/>
¢l-— B.i.3. 2¢c! Caused / Prolonged Fospitalisation #7 ——
{/observation}
¢/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EYN">
<code code="35" codeSystew="Z 16,840, 1, 113883, 3, 989. 2. 1. 1. 19" displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullFlavor="NI"/> .
<l-- E, i,3.2d: Disabling / Incapacitating ¥7 —->
{/observation>
¢/outhoundRelaticnhship2>
<outhoundRalationship? typeCode="FERT">
{ohservation classCode="D8S" moodCode="EVN">
(code code="12" codeSystem="2. [6. 840, 1, 113883, 3, 689. 2. 1. 1. 19" displayName="congenitalAncmalyBirthbefect”/>
<value xsittype="BL" nuliFlavor="NI"/>
¢l-~ B, i, 3 2e: Congenital Anomsly / Birth Defect #7 —->
</observation?
¢/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
<cbzervation classCode="0BS" moodCode="EVN™>
<eade code="26" codeSystem="2. 16. 840. 1. L13883, 3. 98%. 2. 1. 1. 18" displayName="ctherMedicallyImportantCondition”/>
Cvalue xsi:type="BL" value="true"/>
¢|-~ E.i.3.2f: Other Medically Important Condition #7 —>
{/observation> '
¢/outboundRelationship2>
{outhoundRelationshipZ typeCode="PERT">
<{observation classCoda="0BS” moodCode="EVN">
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Ccode code="27" codeSystew="2. 16, 840, 1. 113883, 3, 989. 2. 1, 1, 19" displayName="outcome” />
(value xsi:type="CE” code="E.i.7" codeSystem="2. 16,840, 1, 113883.3.988. 2, 1 L. 11"/>
¢!— B.1.7: Outcome of Reaction / Bvent at the Time of Last Observation #7 —
{/ebservation>
</outhoundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="B¥YN™>
¢code code="24" codeSystem="2.16. 840, 1. 113883, 3, 989.2. 1. 1. 187 displayName= medlcalCunflmat1unByHea1thPrafessmnal >
{value xsiitypa="BL" value="true”/>
¢l-— B, i, 8 Medical Confirmation by Healthcare Professzional #7 —>
{/observation?
</outboundRelationshipZ>
<outboundRelationship? typeCode="PERT">
lobgervation classCode="0BS” moodCode="EVN™>
¢code code="11" codeSystem="Z. 16. 840, 1. 113883, 3, 989. 5. 1. 3. 2. 1. 10" displayName="3R40 -« BEM"/>
¢yalue xsiitype="CE" code="J2,14.1” codeSystem="2. 16.840. 1. 113883. 3.989.5.1.3.2. L. 87/
<1— eesrz. 14,1 Ko - B R -
<{/observation>
¢/outhoundRelationship2>
{/observation>
¢/sub jact0f2>
{subject0f? typaCode="SBI"»
{observation slassCode="0BS™ moodCode="EVN">
¢id root="515he092~8070-426d-af04-6863263443007/>
{code code="20" codeSystom="2. 16,840, 1. 113883, 3,989.2.1.1. 197 displayName="reaction”/>
¢affectiveTime xsi:type="SKPR_TS™>
{comp xsiitype="IVL_TS>
<low value="200901017/>
{]-- R.i.4: Date of Start of Reaction / Event H#8 —>
<width value="24" unit="E. 1. 64"/>
{1~ E.i,6a: Duration of Reaction / Event (number) #8 —>
¢l-- E.1,6b: Duration of Reaction / Event (upit} #8 -—>
</comp>
<eomp xsiitype="IVL_TS" operator="A">
<high value="201012017/>
¢|-- B.i.5: Date of End of Reaction / Event #8 —>
{/comp?
</etfactiveTima>
{value xsi:type="CE" code="E,i, 2. 1b" codeSysten="2, 14. 840. 1, 113883. 6. 163" codeSystenVersion="E.i.2. ia™>
¢|-— B.1i.2. 1a: MedDRA Version for Resction / Event #8 —> .
¢l— B 1.2 ih: Reaction / Bvent (MedDRA code} #8 —>
{originalText langusge="E.1i.1, 1b"DE. 1. 1. la¢/originalTextd
¢l=- B.i, 1. la: Reaction / Event as Reported by the Primary Source in Native Language 8 —>
¢|— B.i.).1b: Reaction / Bvent as Reported by the Primary Source Language 48 —>
{/valus>
<lacation typeCode="L0C™>
¢lacatedintity classCode="LOCE™>
(locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
Coode code="E.i.9" codeSyatem="1,0, 3166.1.2.27/>
¢1=— B i.9: Identification of the Country Where the Reaction / Event Docurred #8 —
¢{/locatedPlace>
{/locatedBntity>
{/location>
(outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"> :
C(code code="30" codeSyastem="2.15.840. 1. 113883, 3,980. 2. L. 1 19" displayNume="reactionForTranslation”/>
<yalue xsiltypes"FDI'OE, 1, 1. 2¢/value>
¢!— B.4.1,2: Reaction / Event as Reported by the Primary Seurce for Translation #8 -->
{/ohservation> ‘
</outboundRelationship2>
¢outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS" mocdCode="EVN">
<code code="37" codeSystew="2. 16, 840. 1. 113883, 3,989, 2,1, 1. 197 displayName="ternHighl ightedByReporter”/>
(value xsittype="CR” eode="E.i.3.17 codeSysten="2, 1. 840. 1. 113883. 3, 989, 2. L. 1. 107/
¢|— B 1i.3.1:Term Highlighted by the Reporter #8 —>
{/cbservationy
¢/outboundRelationship2>
(outboundRelationship? typeCode="PERT™>
{chservation classCode="0B5" moodCode=" EVN™>
Ccode code="34" codeSysten="2.16, 840, 1, 113883. 3. 980, 2. 1. 1, 197 displayName= “yesultsInDeath™/>
<yalue xsi:type="BL" value="true"/>
¢l-— E.i.3.2a: Results in Death #8 —>
{/ohservation>
{/outboundRelationskip2>
CoutbormdRelationship? typeCode="PERT">
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<observation elassCode="0BS" moodCode="EVN™>
<code code="21" codeSystem="%, 15, 840, 1, 115883. 3. 989. 2. 1. 1. 18"
{value ¥siltype="BL” nullFlavor="NI"/>
<l— E.i.3.2b: Life Threatening #8 ~->
</ohservation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCade="EVN">
<{code £ode="33" codeSystem="2. 16.840.1.113883,3,989.2, 1. 1. 18"
<value xsi:type="BL" value="true”/>
<l-- B.i.3.2c: Caused / Prolonged Hospitalisation #8 —
{/observation>
{/outhoundRelationship2>
<outhoundRelationship2 typeCode="PERT”>
<observation classCode="0RS" moodCode="EVN™>
Ceode code="35" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1,1, 18"
{value xsi:type="BL” nullFlaver="NI"/>
¢l—— E, i,3.24: Disabling / Incapacitating #8 —>
</observation>
{/outhotindRelationship2>
<puthonndRelationship? typeCode="PERT™>
<ohservation classCode="0BS" moodCode="EVN">
{code cade="12" codeSystem="2, 16, 840, 1, 113883. 3. 989. 2. 1. 1. 187
<value xsiitype="BL” nullFlavor="NI"/>
<{— B.i.3.2e: Congenital Anomaly / Birth Defect #8 —>
{/cbservation> '
{/outboundRelationship2>
ZouthoundRelationship2 typeCode="PERT™>
<cbzervation classCode="0R8” moodCode="EVN>
{code code="26" codeSystem="2. LE. 840. L. L13883. 3. 989, 2. 1, 1, 18”7
{value xsi:type="BL" value="true”/>
{l-— E. 1. 3. 2f! Other Medically Important Condition #8 —>
</obgervation?
¢/outboundRelationship2>
¢outboundRelationship2 typeCode="PERT™>
<observation ¢lassCode="0BS” moodCode="EVN™>
<code code="27" codeSystem="2.16. 84C.1.113883.3.989, 2, 1,1, 18"

displayNeme="isLifeThreatening”/>

displayName="requiresInpatientHospitalization”/>

displayName="resultsInPérsistentOrSignificantDisability”/>

displayName="congenitalAnomaiyBirthDefect” />

displayName="otherMedicallyImportantCondition™/>

displayName="outcome” />

(value xsi'type="CE" code="E.1.7" codeSystem="2.16.840. . 113883, 3.989.2. 1. L. 11"/>
{}— E.i.7: Outcome of Reaction / Event at the Time of Last Cbservation #8 —->

</obseryationd
¢/outboundRelationship2>
<outhoundRelationshinZ typeCode="PERT">
<observation clasaCode="0RS" moodCode="EVH™>
<code code="24" codeSystem="2. 16, 840. 1.113883, 3,989, 2, 1. 1, 19"
<value xsiitype="BL” value="true"/>

di splayName="medicalConfirmationByHealthProfessional”/>

<!— B, i.8! Medical Confirmation by Healthcare Protessional #8 —>

</observation>
</otitboundRelationship>
{outhoundRelationship2 typeCode="PERT">
{ohservation classCode="0BS" wmoodCode="EVN™>

¢code code="11" cpdeSystem="2, 16, 840. 1. 113863. 3. 080.5.1.3. 2. 1.

10" displayName="2%n « BEF"/>

<yalue xsi:type="CE” code="J2.14.1" codeSystem="2.16.840C. 1. 113883, 3.989.5.1.3.2.1.8"/>

<}-- @eayz. id. i K4 - BbAn 48 >
{/observation>
</outboundRelationshin2>

¢/observation?
¢/subject0r2>
{subject0f? typeCode="SB]">

{organizer classCode="CATEGORY” moodCode="EVN">

<code code="3" codeSystem="2. 16, 840, 1, 113883, 3, 989. 2. . 1. 20" displayName="testsAndProceduresRelevantToThelnvestigation”/>

<component typeCode="COMP”>
Cobservation classCode="0BS” moodCode="EVN™>

<eode code="F.t.2. Z2b” codeSystew="2. 16, 840, 1, 113883, 6. 163" codeSystemVersion="F.r. 2. 2a">

{}=— F.r. 2. 2a: MedDRA Version for Test Name #1 —>
<}== F.v. 2 2b: Test Name (MedDRA code) #1 -->
{originalText>F, r. 2. 1{/originalText>
¢tem Fx. 21! Test Name (free text) #H1l -->

{/code>

{effectiveTime value="20080101"/>

<l-= F.r. 1i Test Date #1 —>

<value xsi:type="IVL_PQ">
<center value="10" unit="mg/d1"/>
{l~- F.r.%2: Test Result (value / qualifier) #1 —>
(I—— B.r.3.3: Test Result (unit) #1 —>

fvalued
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¢interpretationCode cede="F.T.3.1” codeSystem="2, 16.840. 1. 113883.3.989. 2. 1. L. 12°/>

¢|— F.+. 3. 1! Test Result (code) #1 -7
{referenceRange typeCode="REFV">
{obgervationRange elassCode="0BS” moocdCade="EYN. CRT"™>
<value xsiltype="PG” value="40" unit="mg/d1"/>
¢]— F.r. 4! Normal Low Valuz #1 —>
¢interpretationCode code="L" codeSystem="2, 16.840, 1, 113883, 6, 83"/>
¢/ohssrvationRange
{/referenceRange>
¢referenceRange typeCode="REFV™>
{observationRange classCode="0BS" moodCode="EVN. CRT">
¢yalue xsiitype="PQ” value="110" unit="mg/d1"/>
¢l F.r.5! HNormal High Yalue #1—>
{interpretationCode code="H" codeSystem="2.16.840. 1. 113883, b, 837>
{/observationflangse>
{/referenceRange>
¢outboundRelationship2 typeCode="PERT">
{observatior classCode="0BS" mocdCode="EVN">

Coode code="10" codeSystem="2. 16. 840. 1. 113883. 2. 989, 2. 1. 1, 19" displayName="comment”/>

<value xsi:type="BD">F, r, 6</valued
¢|— F.r.6: Comments (free text} #1 —>
{/observation?
</outbonndRelationship2>
¢putboundRelationship? typeCode="REFR">
{ohservation classCode="0HS" moodCode="EVN">

¢code code="25" codeSystem="2.16.840. 1. 113883, 3,989.2.1. 1. 19" displayNal'ne:'marEInfurmatiunAvailable”/)

Cvalue xsiitype="BL” value="true”/>
¢!—F,r.7: More Information Available #1 —>
{/ohservation> '
</outboundRelationship2>

¢/observation>

</component?

{component typeCode="COMP™>

Cobservation classCode="0BS” moodCode="EVN">

<code code="F, 1. 2. 2" codeSysten="2, 16. 840. 1. 113883. 6. 1637 codeSystemVersion="F.r, 2, 2a">

l—— F.r.2.2a! MedDRA Version for Test Name #2 —>
¢l F.r.2. 2b! Test Name (MedDRA code) #2 =->
{originalText>F. r. 2. 1¢/eriginalText>
¢l-—— B.r, 2. 1: Test Name (free text) #2 —
{/code>
(effectiveTime value="20090101"/>
<}— F.r.1: Test Date #2 —>
<yatue xsittype="IVL_PQ™>
<low nullFlavor="NINF"/>
¢high value="10" unit="mg/dl” inclusive="false”/>
</value>
<l~— F.r.3.2: Test Result (value / qualifier) #2 —
{l— F.r, 3, 3: Test Rosult (unit) #2 -
<I— LT 10 mg/dl #2 —>
{/ohservation>
</component>
{component_ typeCode="COMP">
Cobservation classCode="0BS” noodCode="EVN">

(eode cade="F. r. 2. 2b" codeSystem="2. 16.840. 1, 113883, 6. 163" codeSystenVarsion="F.r. 2, 2a">

¢l— F.1. 2. 2a: MedDRA Version for Test Name 3 —>
¢1—— F.1.2, 2b: Test Name (MedDRA code} #3 —>
{originalText>F. t, 2, 1{/original Text>
{!— F.r. 2. 1! Test Name (free text) #3 —>
{/cade>
{effectiveTime value="20090101"/>
(l-— F,r 1: Test Date H3 —>
<value xsi:type="TVL_PQ"»
<low nullFlavor="NINF"/>
¢high value="10" unit="mg/dl” inclusive="true”/>
{/valued
¢l— F.r.3.2: Test Result (value / qualifier} #3 ~—>
¢le= F.t.3.3: Test Result (unit) #3 -
¢l-— iE 10 mg/dl  H3—>
{/observation>

</component>

{component typsCode="COMP">
{observation classCode="0BS" moodCode="FEV¥N™>

¢code code="F. r.2.2b" codeSystem="32. 16, 840, 1. 113883. 8. 163" codeSystemVersion="F.r, 2 2a">

¢l-- F.t, 2 2a: MedDRA Version for Test Name #4 —
¢}-— F.r.2 2b: Test Name (MedDRA cade) 4 —>
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<originalText>F. r. 2. I<{/originalText>
(== B 1. 2.1 Test Name (free text) B4 —>
{/code?
CeffectiveTime value="200001017/>
¢I— F.r.1: Test Date fid —>
{yalue xsi:type="IVL_PQ*>
Clow value="10" wnit="mg/d1” inclusive="false"/>
<bigh nullFlavor="PINF"/>
</value>
{J-- F.r.3.2: Test Result (value / qualifier) #4 —>
<}— F.r.3.3: Test Result (unit) #¢ ——
<l-- GT 10 mg/dl #4 —>
* {/observation>
{/component’
<component typeCode="COMP™>
{observatiecn classCode="0BS” moodCode="EVN">
(eode code="F. 1.2, 2b” codeSystem="2. 16, 840, 1. 113883. 6. 163" codeSystemVersion="F.r, 2, 2a">
<l F,r.2. 2a: MedBRA Yersion for Test Name #5 —>
{l-— F.r.2.2b: Test Name (MedDRA code) #E -->
{originalText>F. 1. 2. 1{/eriginalText>
<l— F,r 2. 1: Test Name (free text) #bh ——>
{/code>
(effectivelime value="20090101"/>
{]— F.1.1: Test Date #56 —>
{value xsi:type="IVL PQ™>
low value="10" wmit="mg/d]” inclusive="true”/>
¢high nullFlaver="PINF"/>
/value>
¢l-= F.1.3 2: Test Result f{value / qualifier) &5 —>
<l-= F r, 53 Test Result {unit) #6 —>
<|~- GE 10 mg/dl # —>
</obgervation>
</componant>
<{component typeCode="COMP™>
<abservation classCode="0BS” macdCode="E¥YN">
¢code code="F.r. 2. 2b” codeSystem="2. 16. B40. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a">
{l— PF.r.2. 2a: MedDRA Version for Test Name #6.-—->
{l-— F.r.2.2b! Test Name (MedDRA code) HE —>
{originalText?F. r, 2. 1</original Text>’
{l—— F, 1.2 1: Test Name (froe text) #6 —>
¢/cade>
(effectiveTime value="200001017/>
¢l—— B,y 17 Test Date #6 —>
{yalue xsi:type="ED">F.r. 3.4<{/value>
¢l-= B, ¥, 3. 4! Result Unstructured Date (free text) #6 —>
<{/observation>
</component>
{forganizer>
</sub jectDf2>
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
leode code="4" codeSystem="2.16. 840, 1. 113883. 3. 989. 2. 1. 1. 20" displayName="drugInformation”/>
¢<l— G.k Drug{s) Information (repeat as necessary) #l -—>
{component typeCode="COMP">
<substanceAdministration classCode="SBAIM” moodCode="EVN">
<id root="3c91bddF-e39~4aTa~9c30-87671b0efied” />
{consumabla typeCode="CSM">
¢instance0fKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<code code="G, k. 2.1, 1b” codeSystem="TBD-MPID" codeSystemVersion="G.k. 2.1 ta”/>
<}-- G.k 2.1. la: MPID Version Date / Number #1 ——>
¢f~ Gk 2.1 1b: Medicinal Product Identifier (MPID} #1 —
<name>G. k. Z. Z</nane>
¢l— G.k 2.2: Medicinal Product Mame as Reported by the Primary Source #1 —>
{asManufacturedProduct classCode="MANDT>
¢subjectOf typeCode="SB]">
<approval classCods="CNTRCT™ moodCode="EVYN">
&id extension="G.k, 3,17 root="2. 16, 840. 1. 113883, 3.984, 2. L. 3, 4" >
¢l G, k. 3.1: Authorisation / Application Number #1 —>
<author typeCode="AUT”>
{territorialAuthority classCode="TERR™> .
<{territory classCnde="NAT” determinarCode="INSTANCE™>
{code code="G, k. 3.2" codeSystem="1. 0. 3166. 1.2.2"/>
¢l G.k. 3, 2: Country of Authorisation / Application #1 —>
{/territory>
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¢/territorialiuthority>
</author?
¢pertinentInformation typeCede="PERT” )
{pelicy classCode="POLICY” moodCode="E¥YN™>
¢code code="J2. 5, k" codeSystem="2, 16, 840. 1. 113883, 3.989.5.1.3.2. 1. 4"/
<l— 08672.5. k: —BAERRSO) A ESE H —
{/policy>
{/pertinentInformation>
</mpproval>
¢/subject0f>
¢subject0f typeCode="SB]">
(characteristic classCode="0RS" moodCode="EVN">
¢code code="1" codeSystem="2. 16.840. 1. 113883, 3,689, 5. 1.3. 2. 1. 160" displayName="$EEREORAER"/>
<value xsiitype="CE" code="]2.4.k" cedeSystem="2.16.840. 1. 113883,3,980.5.1.3.2.1.37/>
<1-- 088J2. 4. k: FEESEORBED #1 —
{/characteristic>
</ sub jectOf>
{/asManufacturedProduct>
<asSpecializedlind classCode="GEN">
(generalizedfaterialKind classCode="MAT" determinerCode="KIND">
{code>
<{originalText>]J2. 12<{/originalText>
<l-- @@J2. 12 JRBWRARE —
{/code>
{/generalizeddaterialKind>
{/asSpecializedKind>
{ingredient classCode="ACTI™>
{quantity>
¢numerator value="10" unit="G. k.2.3.r.3b%/>
<J— G.k 2.3.r, 3a: Strength (umber) #1-1 —>
(— G,k 2.3, 1, 8b: Strength {unit) #1-1 —>
{denominator value="1"/>
</quantity>
(ingredientSubsiance classCode="}MAT" determinerCode="KIND">
<code code="G. k. 2. 312" cudeSystemw TBD—Substance” codeSys‘tamVersionZ'G k2.3, r. 23”/)

</1ngred1entSubstance>
{/ingredient>
¢ingredient classCode="ACTI™>
<{quantity>
(numerator velue="10" unit="G. k. 2. 3.r. 3b"/>
¢J— .k 2.3, r 3a! Strength (number) #1-2 —3>
(1= G.k.2.8.r.3bi Strength (unit) §1-2 —>
(denominator velue="1"/>
{/quantity>
{ingredientSubstance classCode="WMAT" determinerCode="KIND"»
¢code code="G. k. 2.3, r.2h" codeSysten="TBD-Substance” codeSystemVersion="G. k. 2.3.r.2a"/>
(== 6.k 2.3.r.%a° Substance / Specified Substance TermlD Version Date / Number #1-2 —>
¢<!— G.k.2.3.r.2b! Substance / Specified Substance TarmID $#1-2 ——
(namepG, k, 2. 3. r. 1¢/name>
d— 6.k 2.3.r, 1! Substance / Speclfled Subs‘tance Name #1-2 >
</ingredientSubstance>
{/ingredient?
{/kind0fProduct>
(subject0f typeCode="SBJ">
{productEvent classCode="ACT" moodCode="" EVN">
¢cods code="1" codeSysten="2, 16, 840, 1, 113883, 3. 98¢, 2. 1, 1. 18" displayName=" retailSupply” />
{performer typeCode="FRR">
¢assignedEntity classCode="ASSIGNED">
{representedOrganization classCade="0RG" determinerCode=" INSTANCE™>
<addr>
{country>G, k. 2. 4{/country>
<l— 6.k 2.4: Identification of the Country Where the Drug Was Obtained #1 f*}
{/addr>- . -
{/representedirganization>
{/mssignedEntity>
{/performer>
</productEvent>
{/subjectOf>
<subjectOf typeCode="58]">»
{chservationFrent e¢lassCode="0BS" moodCode="EVN™>
<code code="2" codeSystem="2.16. 540, L. 113883, 3, 986. 6. 1. 3. 2. 1. 107 displayName="—AY FEF RO AFER"/>
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Reaction #t —>

Reaction #l —>

Reaction #2 —>

Reaction #2 —>

Reaction #3 —>

Reaction #3 ——

Reaction #4 —

Reaction H#4 —>

<value xsi:type="CE” code="J2.6.k" codeSysten="2. 16, 840, 1, 113883, 3, 689.5.1.3. 2. 1. §"/>
<I— @gaj2.6. k: —RRMEEROAEER L —
{/ohservationEvent>
</subject0f>
</instance0fKind>
</consumable’
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.Xk.9.i.3.1b"/>
¢l-— G.k.9.1.3. 1a’ Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug #1,

¢]— G.k.9.1.3. 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #1,

<actRefarsnce classCode="0BS” moodCode="EYN">
<id root="164ebBBS-558b-45F2-a02f-42d4dBT46571" />
{factReferenced
{/outboundRelationshipli>
<outboundRelationshipl typeCode="SAE™>
<patseQuantity value="10" unit="G, %k, 9, i.3.2"/>
¢l—— 0, k.9.9.3, 2a; Time Interval hetween Last Dese of Drug and Start of Reaction / Event {number) Drug #1, Reaction #1 —

¢l= 6. k.9 1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (mmit) Drug #1, Reaction 1 —>
<actReference clagzCode="0BS” moocdCode="FVN™>
<id root="154eb8RI-I580—45f2-a02f-42ddd6£4657E" />
{/actheference)
¢/outboundRelationshipl>
{owtboundRelationshipl typeCode="SAS">
{pausefuantity value="10" unit="G k.9.i.3.1b"/> :
<J—— 6,k §.i.3.1a: Time Interval between Begihning of Drug Administration and Start of Reactlon / Event (number) Drug #1,

¢t— G k.9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #1,

{ac¢tReference classCode="0BS” moodCode="EVN">
<id rect="2baa2Bd6-cYeB—4ebe-P3ed-5hRE0LIL4R207 />
{/actReference>
¢/outhoundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pausefQuantity value="10" unit="G,k 9,1, 3, 2b"/>
¢l—~ G.%,9,i.3 2a: Time Interval between Last Dose of Drug and Start of Reactien / Event {numher) Drug #1, Reaction #2 —

¢l== 6.k.9.4.3.2b Time Interval between Last Dose of Drug and Start of Reactiocn / Event {unit) Drng #1, Reaction #2 —>
CactReference classCode="0BS” moodCode="B¥N">
<id root="2baa28d6-c9e8-4ebc-93e9-5b860b3142207 />
</actReference?
{/outboundRelationshipl>
<outbanndRelationshipl typeCode="5A5">
¢pauseQuantity value="10" unit="G, k.8.1.3.16*/>
{l— G.k.9.1i,3 la: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (number) Drug HI,

¢l G.k.9.i.9.1b: Time Interval hetween Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #1,

{actReference classCode="0BS" moodCode="EYN™>
¢id root="3aB626cb—9f1b—4eaf—Ba0f-e0f¥34430adf" />
¢/actReferenced
¢/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE">
{paugeQuantity value="10" unit="G.k.9.i.3.2b"/>
d— Gk.9.1.3 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event {number} Drug #1, Reaction #3 —

<l— 6. k. 91,3, 2h: Time Interval between Last Dose of Drug and Start of Reaction / Event {unit) Drug #1, Reaction #3 -—
<actReference classCode="0BS” moadCode="E¥N™>
<id root="328626cb-9f[b-4ea8-Balt-e0fT34430adf"/>
{/actReference>
{/outhoundRelationshipl>
{otithoundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G. k.9.i,3. 1b"/>
¢l-- G.k.9.4. 3. la: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number} Drug #1,

<l~- 6.k 9.1.3, 1b: Time Interval between Beginning of Drug Administration and Start of Reactiom / Event {unit) Drug #i,

<actReference classCode="0BS" mocdCode="EVN">
<id root="2e59840f-08b4~449c-80Ff-ddR416T4TBaE" />
{/actReference>
</vutboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
¢pauseQuantity value="10" unit="G.k 9.1.3.2b"/>
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Reaction #5 —>

Reaction #B -3

Reaction HE —->

Reaction #6 ~—

Reaction #7 >

Reaction #7 —>

Reaction #8 —->

Reaction #8 ——>

¢l G.k.9.i. 3. 2a: Tine Interval hetween lLast Dose of Drug and Start of Reaction / Event (mumber) Drug #1, Reaction #4 —

¢— % 9.4.3.7h: Time Interval between Last Dose of Drug and Start of Reactlon / Event {unit} Drug #1, Reaction H4 —>
(actReference classCode="0BS” moodCode="EVN™>
<id rnot=”2399B-‘lDf"GSb4*4990—80ff—dd8415f4f835”/)
¢/nctReference>
</outboundRelaticnshipi>
{outboundRetationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k. 9. 1i.3.1b"/> .
¢!— G.k 9.i.2 1a: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (nuwber) Drug #1,

{I— 6. k.8.i.8. 1k Time Interval between Beginning of Drug Administration and Start of Reaction / Byant (unit) Drug #1,

(actRefersnce classCode="0BS” moodCode="EYN™>
<id root="1071064c-cf10~4a3b—83al-34F0ddhTeabd”/>
{/actRefetence?
</outboundRelationshipl>
<eutboundRelationship!l typeCods="SAE">
¢pauseQuantity value="10" unit="G.k.9.1.3.2b"/> , .
¢1— G.k.9.1.3.%a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction #5 --

¢i—— 0.k.9 %.3.2b7 Time Interval between Last Dose of Drug and Start of Reaction / Event {unit) Drug #1, Reaction ¥6 —>
<actReference classCods="0BS® mocdCode="EVN"> ’
¢id root="1071064c~cf10—4a3b-83c1-34f9ddbTeabd” />
{/actReference>
</outboundRelationshipl>
(outhotundRelationshipl typeCode="SAS"™>
(pauseQuantity value="10" unit="G.k 9.1.3. 16"/
{— G.k.9.1.3. Lla: Time Interval between Beginning ef Drug Administration and Start of Reaction / Event (number) Drug #1,

<b— 6.k 9 1,3, 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #1,

CactReference classCode="CBS™ moodCoda="EVN™>
<id Ioetﬁﬂif927283*]0'55-4334—9:143"8925640fb18f”/>
¢/actReference
{/outhoundRelationshipl>
<outboundRelstionshipl typeCode="SAE™>
¢pauseQuantity value="10" unit="G, k. 9. i.3.2b"/>
¢t— G.k.5.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Fvent (number) Drug #1, Reaction #6 —

<|-~ G.k 9., 3 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #1, Reaction #6 —>
CactReference classCode=*CBS” mocdCode="EVN">
¢id root="1£927283~10b6—4334-9d43-e9256407b18E" />
</actReference> .
{/outboundRel ationshipl>
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" wnit="G.k. 9. i 3.1b"/>
(1<~ G.%. 9.1.3. la: Time Interval between Beginning of Drug Adwinistration and Start of Reaction / Event [number) Drug #1,

<]— 6.k 8 4.3 1b: Tine Interval between Beginning of Drug Administration snd Start of Resction / Event {unit) Drug #1,

¢actReference classCode="0BS" moodCode="EVN">
{id root="e0342868—38be-423f-bbbb—celdbe279d8e” />
{/nctReference?
{/outboaundRelationshipl> *
(outboundRelationshipl typeCade="SAE™>
{pauseQuantity value="10" unit="G.k. 9. i, & 2b"/> )
¢l— G.k.9.i.3.%a: Time Interval between Last Dose of Drug and Start of Reaction / Event {nmber) Drug #1, Reaction #7 —

¢1— G.k.9.1.3.2b: Time Interval between last Dase of Drug and Start of Reaction / Event (unit) Drug #1, Reaction §7 —>
(actReference classCade="0BS” mocdCode="EVN™>
<id ruot="e0342969*38he-423f—b5hh-ca14bc279d83"/)
</actRefexence>
</outboundRelationshipl>
CouthoundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k 91,3, 18"/>
¢|-—— 6.k.9,1,3 1a: Time Intexrval between Baginning of Drug Adwinistration and Start of Reaction / Event (number} Drug &1,

¢l-- 6.k 9.i.% 1h: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (unit) Drug #1,
<actRefersncs classCode="0BS" moodCode="EVN'> '
<id roo't="a1SbeOB2—B070—426d—af047585326344330"/> .
</actReference>
¢/outhoundRelationshipl?
<otthoundRelationshipl typeCode="SAE™>
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{pauseQuantity value="10" unit="G k. 9.1i.3 2b"/>
{!-- G,k 9 7,3, 2a! Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #1, Reaction #8 —

¢1— G.k. 91,3, 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #l, Reaction 8 —>
<actReference classCode="0BS” moodCode="EVN">
(id root="ai5be092-8070—426d-af04-68632634430" />
{factReference>
{/outboundRelationshinl>
<outhoundRelationship? typeCode="PERT">
{observation clagsCode="0BS" moodCode="EVN">
<code code="8" codeSystem="2.15. 840. 1. 113883.3. 889, 2. 1. 1. 18" displayName="blinded"/>
<yalue xsi:type="BL” value="true”/>
<l-— G.k. 2. 5. Investigational Product Blinded #1 —>
</ohservationd
{/outhoundRelationship2>
{outboundRelationship? typeCode="COMP">
<l— G, k.4.r: Dosage and Relevant Information (repeat as necessary) Ei-1 -->
{(stbstanceAdministration classCode="SBADM" moodCode="EVN">
<textMG. k 4. r. BS/text>
<l— G k. 4. r, B: Dosage Taxt #1-1 —>
<{effeetiveTime xsi:type="SXPR_TS™>
{gomp Xsi:type="PIVL_TS*> :
<poriod value="10" unit="6G. k. 4.x.3"/>
<l— G.k.4.1.2: Number of Units in the Interval #1-1 -->
{l— G.k.4.1,3: Definition of the Time Interval Unii #i-1 —>
{/eomp>
{comp xsi!type="IVL_TS” operator="A">
low value="200901017/>
(- G. k. 4.r.4: Date and Time of Start of Drug #1-1 ——>
<high value="200901017/>
{l— 6.k 4. r.5: Date and Time of Last Administration #1-I —=>
{/comp> ’
<comp xsi:type="IVL_TS” operator="A">
<width value="4" wnit="G.k 4.1.6b"/>
¢I~~ G.k. 4.1, 6a: Duration of Drug Administration (number) #1-1 —>
<|— G.k.4.1r.6b: Duration of Drug Administration {unit) #1-1 =-->
{/comp>
</effectiveTime>
<routeCode code="G,k 4, r. 10, 2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystemVersion="G. k. 4. r. 10. 2a”>
{I-- G.k.4.r 10, 2a: Route of Administration TermIl Version Date / Number #i-{ —->
¢I— G.k.4.1.10.2b: Route of Adeinistration TernID #1-1 —>
<originalText>G, k, 4.x, 10, 1</originalText>
{J— G.k. 4. 1.10.1: Route of Administratien (free text) #1-1 =3
<{/routeCode>
{dogeRuantity value="10" upit="G, k 4. r. 15"/>
{!— G.k.4.r. 1a Dose {number) #1-1 —>
{!-~ 6.k 4.1.1b: Dose (unit) #1-1 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
{productIpstanceInstance classCode="WMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
¢l G. k. 4.1.7: Batch / Lot Number #1-1 —>
<{/preductInstancelnstance’
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{FormCode cede="G.k. 4.1 9. 2b” codeSysten="TBDDoseForn” codeSystemVersien="8.k 4. r. 9, 2a”>
= G.k. 4, 7.9 2a; Pharmaceutical Dose Form TermID Version Date / Number #1-1 ——>
{|— G.k. 4. r.9.2b: Pharmaceutical Dose Form TermID #1-1 —>
<originallext>G. k. 4. 1. 9, 1<{/originalText> ’
¢l~~ Gk 4 1.9, 1 Pharmaceutical Dose Form (free text) #1-1 —>
<{/formCode>
</kind0fProduct>
</instance0fKind>
</copsumahle>
{inboundRelationship t}rpeCode— REFR">
{observation classCode="CBS" moodCode="EVYN">
<code code="28" codeSystem="2, 16, 840. 1. 113883. 3, 889, 2. 1. i, 19" displayName="parentRoute0fAdministration”/>
{value xsiitype="CE" code="G.k 4. 1.1l 2b" codeSystew="2, 16, 840, 1, 113883, 3, 989, 2.1, 1, 14" codeSystemYersion="G. k. 4.1,
11 2a">
(}— G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #i-1 —>
{]-- G k. 4.1r.11.2b: Parent Route of Administration TermID #1-1 -->
<originalText>G. k. 4. r. 11. 1</originalText>
{l=- G. k. 4.7. 1} 1: Parent Route of Administration (free text) #1-1 -->
</value)
{/observation>
{/inboundRelatienship>
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11, 2a™>

{/subgtanceAdministration?
< foutboundRelationship2>
¢outboundRelationship? typeCode="COMP">
<=~ G.k 4 1! Dogage and Relevant Informstion (repeat as necessary) #1-2 -
¢substanceAdministration classCode="SBADM™ moodCode="EVN">
(text>G k4 1. B/ text>
<— 6. k.4.r. 8 Dosage Text §1-2 ~>
{effectiveTime xsittype="SXPR_IS™>
<comp xsiitype="PIVL_TS™>
<{period value="10" unit="G.k 4,r.3"/>
{]-- G.k 4.1.2: Number of Units in the Interval #1-2 -->
{1— G.k 4. 1.3 Definition of the Time Interval Unit #1-2 —>
</ comp>
<comp xsi:type="IVL_T3" operator="A">
low value="20080101"/>
{l=- G,k 4.1.4: Date and Time of Start of Drug #1-2 —>
<high value="20090101 >
<}-- G,k 4 r.5: Date and Tima of Last Admmstratmn #i-2 -
</comp?
{feffectiveTimed
(routeCode code="G. k. 4 +. 10, 2b" codeSystem="2. 16, 840, 1. 113883, 3, 989 2. 1. 1. 14" codeSystemVersion="G. k. 4.T. 10. 2a">
¢l G.k 4.1.10.2a: Route of Administration TermIl Version Date / Number #1-2 —
¢{-- G. k. 4.1, 10,2h: Route of Administration TermID #1-2 —->
CoriginalText>G, k. 4. r, 10, 1{/originalText?
<i— G.k.4.7.10, 1 Route of Administration (free text) #1-2 —>
¢/routelode)
{doseQuantity value="10" unit="5. k.4.r. 16"/
— 6.k 4. 1. la Doze (number) #1-2 —>
<I— 6.k 4.7, 1bi Dose (unit) #1-2 —>
{consumable typeCode="CSH">
{instanceCfKind clagsGode="INST">
{productInstancelnstance classCode="MHAT” determinerCode="INSTANCE">
. ¢lotNumberText>G. k. 4, r. 7¢/lotNumberText>
¢l— G k. 4.r. 7! Batch / Lot Numbor #1-2 —>
¢/productInstancelnstance>
kindOfProduct classCode="MMAT” determinerCode="KIND">
{FornCode cade="G. k. 4,1.9, 28" codeSystem—'TBD—DosaForm" codeSystemVersion—' Gk 4.r.8 25"

!.— Gk 478, Zb Pharmaceutical Dose Form TermID #1-2 —D
{originalText?G. k. 4. r. 9, 1<{/oviginalText>
¢}— G. k. 4. 1.9 1: Pharmaceutical Dose Form (free text} #1-2 -—>
</FormCode>
</kind0fProduct>
{/instance0fKind>
</consumahle’
<inboundRelationship typeCode="REFR™>
{observation clazsCode="0BS” moodCode="BYN">
(code cade="28" codeSystem="2. 16. 840, 1, 113883. 3. 986. 2. 1. 1. 19" displayName="parentRoute0fAdministration”/>
<value xsi:type="CE" code="G.k. 4.7, 11. 26" codeSystew="2, 16,840. 1. 113883, 3. 98¢. 2. 1. 1. 14" codeSystenVersion="6. k. 4 7.

¢l— G.X 4.1. 15 2a: Parent Rotte of Administration TermlD Version Date / Muber #1-2 -
(l-- G,k 4.v.11.2b: Parent Route of Administration TermID #1-2 —
<originalTsxt>G, k. 4. 1. 11. 1< /originalText>
{}-- G, l. 4. r.11. 1: Farent Route of Adm1n1strat1an (free text) #1-2 -3
</value>
{/observation?
</inboundRelationship>
{/substanceAdministration>
{/outhoundRelationship2>
<outboundRelationship? typeCede="COMP™>
¢l-— G.k.4.1! Desege and Relevant Information (repeat as necessary) H1-3 ——>
¢substanceAdministration classCode="SBADM” moodCade="EVN">
{text>G. k. 4. r. B/ text>
<|-- G.X%. 4.r.8! Dosage Text #1-3 ——>
{effectiveTime xsi:type="SXPR_TS">
<comp xsiitype="PIVL_T5">
{period value="10" wnit="G.k. 4.1.3"/>
¢t~ G.k 4.7,2: Number of Units in the Interval #1-3 —>
¢<l1-— 6.k 4,7, 37 Definition of the Time Interval Unit #1-3 —>
</ comp?
{comp xsi:type="IVL_TS" operator="A">
(low value="20090101"/>
¢l— G.k.4.1.4: Date and Time of Start of Drug #1-3 ——>
(width value="4" unit="G. k. 4.1.6b"/>
¢|— G.k. 4. r.6a: Duration of Drug Administration {number) H1-3 —>
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<|-- G.k 4 r.6b: Duration of Drug Administratien (unit) #1-3 —->
</comp’
{feffectiveTime>
{routeCode code="G, k. 4, r, 10, 2b” codeSystem="2. 16. 840, 1. 113883. 3. 986, 2. 1. 1. 14" codeSystemVersion="G. k. 4. r. 10. 2a™>
¢l— G.k.4,r.10.2a: Route of Administration TermID Version Date / Number #1-3 —>
<l— G.k.4.r.10, 2b: Route of Administration TermID #1-3 —>
<originalText>G. k. 4. r. 10, 1</originalText>
41— G k.4, v, 16,17 Route of Administration (free text) #1-3 —
{/routeCode>
{doseQuantity value="10" unit="G. k. 4.r. 1b"/>
<l— G.k 4.r.1a Dose (numher) #1-3 —->
¢-— G.k 4 x,1br Dose (unit} #1-3 —>
{consumable typeCode="CSH">
{instanceOfKind classCode="INST">
<productInstancelpstance classCode="MHAT" determinerCode="TNSTANCE™>
¢lotNumberText>G, k. 4, r. 7¢/1lotHunherText>
<I-— G. k.4.r.7: Batch / Lot Number #1-3 —>
{/productInstancelnstance>
<kind0fPreduct classCode="MMAT" determinerCode="KIND">
¢formCode code=*G. k. 4. 1. 9. 28" codeSysten="TBD-DosePorn” codeSystemVersion="G.k 4.r. 8. 2a™>
¢(!— G,k 4, 7.9, 2a; Phermaceutical Dose Form TermlID Yersion Date / Numbsr $1-3 —>
<!— G.k.4.T.9. 2b: Pharmaceutical Dose Borm TermlD #I-3 —— .
<originalText>G. k. 4.1, 8. 1</originalText>
I~ G.k 4.v.9. 17 Pharmaceutical Dose Form (free text) #1-3 ——>
{/TormCode>
(/kind0OfProduet)
{/instanceCfKind>
¢/vonsumable>
<inboundRelationshin typeCode="REFR™>
{ohservation claasCode="0B5" moodCode="HVYN">
<code code="28" codeSysten="2. 16,840, 1. 113883. 3. 488, 2, 1. 1. 19" displayName="parentRoute0fAdministration”/>
<value xsi:type="CE” code="0. k. 4. 1. 11.2b" codeSystem="2. 16, B40. 1. 113883, 3. 989. 2, 1. I, 14" codeSystemVersion="G. k. 4. r.
11. 2a”> '
{l— G.k.4.r.11.2a: Parent Route of Administratien TermID Version Date / Mumber #1-3 -—>
<i— G.k.4.r.11.2b: Parent Route of Administratien TermID #1-3 ——
CoriginalText>G. k. 4. 1. 11. 1</originatText>
<i— G.k. 4.r.11.1: Parent Route of Administration (free text) #1-3 —>
</value>
{/ohservation>
{/inboundRelationship>
¢{/substanceidministration)
¢/antboundRelationship2>
{outboundRelationship? typeCode="COMP™>
{!-- G,k 4 r: Dosage and Relevant Informatien (repeat as necessary) #l-4 ——>
(substanceAdministration classCode="SBADM" mocdCode="EVN">
{text>G. k. 4. r. B{/text>
¢l=~ Gk 4. 1.8 Dosage Text Hl-4 —>
{effectiveline xsi!type="SXPR_TS">
Ccomp xsi:type="PIVL_TS">
<{period valne="10" mit="G.k 4.r.3°/>
{I-= G.k 4.1. 2: Number of Units in the Interval #1-4 ——>
<l— G.%, 4.r.3: Definition of the Time Interval Unit #1-4 —>
</conp> '
{comp 75i:type="IVL_TS" operator="A">
<width value="4" wnit="G.k. 4.1. 6b"/> .
{!-— G.k.4.r.6a Duration of Drug Administration (number) #i-4 —>
¢!— G. k. 4 1.6b7 Duration of Drug Administration {unit) #1-4 —>
<high valus="20090101"/>
(== G. k. 4.7.5: Date and Time of Last Administration #1-4 —>
{/comp?
. &JeffectiveTime>
<routeCode code="G. k. 4.r. 10. 20" codeSystem="2. 16. 840. 1. 113883. 3. 889. 2. 1. 1. 14" codeSystemYersion="G, k. 4. r, 10, 2a”>
<l-- G.k. 4.r. 10.2a: Route of Administration TermID Version Date / Number #1-4 -->
¢}J— G.k.4.1.10.2b: Route of Administration TermID fi-4 —>
CoriginalText>G. k. 4, r, 10, 1</originalText>
t— 6. k.4.1.10.1: Route of Administration (free text) #i-4 —-—>
{/routeCode)
{doseQuantity value="10" unit="G.k.4.r.1b"/>
{!— G.k 4.7v.1a Dose (pumber) #1-4 -=>
¢l-- G,k 4,7, 1b: Dose (unit) #$i-4 —>
{consumable typeCode="CSH">
<instanceOfKind classCode="INST">
<productinstancelnstance classCode="MMAT" determinerCoda="INSTANCE”>
<{lotNumberText>G. k. 4, x. 7</lotNumberText>
<l-- G.k.4. 2. 7: Batch / Lot Number #1-4 —>
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</productInstancelnstance’
Ckind0fProduct classCode="MMAT" determinerCode="KIND">
¢fornCode code="G. k. 4.1.9. 2b” codeSystem="TBD-DoseForn” codeSystemVersion="6.k. 4.1.9. 2a"y
(]7 Gk 418 23 ?harmaceutical Dose Form TermID Version Date / Number #1-4 -->

<Dr1g1na1Taxt>G. k. 4.71.9, 1{/original Text>
¢l-- G. k. 4.1.9. 1: Pharwaceutical Dose Form (free text) $l-4 -—>
"¢ /formCode>
</kindXfProduct?
</instance0fKind>
{/consumabley
¢inboundRelationship typsCode="REFR™>
¢ohservation classCode="0BS” moodCode="EVN">
¢eode code="28" codeSystem="2. 16, 840. 1. 113883. 3,980, 2, 1. 1. 19" displayNane= “parentRoute0fAdministration”/>
<value xsiitype= "CE* code="G.k, 4.r.11. 2b” codeSystem="2. 16. 840. 1. 113883, 3. 988. 2. 1. 1. 14" codeSystemVersion="G. k. 4. r.
11, 2a">
¢l G k. 4 r 1L 2a: Parent Route of Adwinistration TermID Yersion Date / Number #1-4 —>
¢!=— G, k.4. 1. 1L, 2b: Parent Route of Aduinistration TermID #1-4 —>
{originalText>G. k. 4. r. 11, 1</original Text>
(b G.k.4.r.11. 1* Parent Route of Administration (free text) #1-4 -->
</value> : ;
</observation>
¢/inhoundRelationship>
¢/substanceAduinistration>
¢/outboundRelationship2>
¢outhoundRelatienship? typeCode="COMP™>
¢t-— G.% 4.17 Dosage and Relevant Information (repeat as necessary) #il-5 --»
{substanceAdministration classCode="SBADM” moodCode="EVN™>
CtextG. k. 4. 1. 8{/text>
¢|— G. k. 4. 1.8 Dosage Text #1-5 —>
<effestiveTime xsi:type="SXPR_TS™>
<comp xsi:type="IVL_TS">
<low value="20080£01"/>
{!— G.k 4.1, 4: Date and Time of Start of Drug #1-5 >
¢high value="26090101"/>
¢l— 6.k 4.1.5: Date and Time of Last Adwinistration #1-5 —
{/comp>
Coomp x8iitype="TVL_TS” operator="A">
(width value="4" unit="G.k 4. r.6b"/>
¢1-- G.k 4.r.6a Duration of Drug Administration (number) HI1-E —>
{4—— G. k. 4. r. 65 Duration of Drug Administration (unit) #1-5 —>
</ comp
{/effectiveTime>
¢routeCode code="G. k. 4.1, 10, 2b" codeSystem="2, 16. 840, 1. 113883, 8,989, 2. 1. 1. 14" codeSystenVersion="G. k 4.r. 10, 2a">
¢<l— Gk 4 1. 10. 22: Rotte of Administration TermID Version Date / Mumber #1-5 -—>
(-~ Gk 4.1 10, 2b: Route of Administration TermID #1-5 ——>
‘ <originalText>G. k. 4. r. L0, 1<{/originalText>
¢l— 6.k 4.r.10.1: Route of Administration {free text) #1-5 —>
{/rotiteCode?
(doseQuantity value="10" unit="G.k 4.1, 15"/>
¢(t== Gk, 4. 1. la Dose (number) #1-5 —>
{— G.k 4.x. 19 Dose (unit) #1-5 —>
{consumable typeCode="CSH™>
{instance0fKind classCode="TNST™>
¢productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{latNumberText>G, k. 4. r. 7¢/lotNunberText>
¢!— G.k.4.1. 7' Bateh / Lot Number #1-6 —>
</productInstancelnstance>
{kindOfProduct classCode="MMAT” determinerCode="KIND"> ~ .
¢formCode code="6. k. 4. 1.9, 2h” codeSysten="TBD-DoseForm” codeSystemVersion="6.k.4.r. % 2a">
<l— G.k 4.1.9. 2a: Pharmaceutical Dose Form TernId Version Date / Number #1~5 —=>
¢l— 6.k 4.1.9, 2b: Pharmaceutical Dose Form TermID #1-6 ——>
(or1g1na1Text)G. k. 4. 1.8, K/original'i"axt)

(/formCode>
</kind0fProduety
¢/instance0fKind>
</consumahle>
{inboundRelationship typeCode="REFR">
<observation clagsCode="0OBS" moodCode="EVN">
Ccade code="28" codeSystem="2. 15. 840, 1, 113883, 3, 089, 2. 1. 1, 197 displayName= “parentRoute0fAdministration”/>
(value xsi:type="CE” code="G.k. 4.r.11.2b" cadeSysten="2, 16. B40. 1. 113883, 3. 989, 2, 1, L. 14" codeSystemYersion="G. k. 4. .
11.2a™>
(!— G.k 4.1, 11. 2a: Parent Route of Administration TermID Version Date / Number #1-5 ——>»
¢1— G.k 4,1r.11.2h Parent Route of Administration TermlD #1-5 —>
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<originalText>G. k. 4.1, 11, 1¢/original Text>
<l— G, k.4, 1. 11, 1: Parent Route of Administration (fres text) Hi-5 -—>
</value>
{/ohservation>
{/inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
{outhoundRelationship2 typeCode="COMP">
¢|— G. k. 4. r: Dosage and Relevant Information (repeat as necessary) H1-6 —->
{substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G, Ik, 4. v, 8{/text>
{}— Gk 4.r.8: Dosage Text #1-6 ——>
<effectivelime xsi'type="SKPE_TS">
{comp Xsiitype="PIVL_TS">
{period value="10" unit="G.k.4.r.3"/>
{]— G. k. 4.1.2; Number of Units in the Interval {f1-6 —>
¢}~ G.k 4.1, 3: Definition of the Time Interval Unit #i-6 —->
</comp>
<comp xsiitype="IVL_TS” eperater="A"> -
<low value="20090101"/>
{l— G k.4.r. 4 Date and Time of Start of Drug #1-6 —>
<width value="4" unit="G.%x. 4.1.8b"/>
<l-- G.k 4. 1. 6a: Duration of Drug Administration (number) #1-6 —>
<l-- G.k.4.1.Bb! Duration of Drug Administration (unit) H1-6 —>
</ conp?
{comp xsi:type="IVL_TS" cperator="A">
<high value="20080101"/> '
<l— G. k. 4. 1.5 Date and Time of Last Administration #1-6 —>
</comp>
{/effectiveTime>
<routeCode code="C.k. 4.r. 10, 2b" codeSystem="2, 16, 840. 1. L13B83. 3. 989. 2. 1. 1. 14" codeSystemVersien="G.k. 4. r. 10, 2a">

¢l— G,k 4,1 10. 22 Route of Administration TermID Version Date / Number #i-§ —>
<l-— G.k.4.1.10. 2b: Route of Administration TermID K16 —>
<originallext>G. k. 4. r. 10, 1<{/originalText>
<i-- G, k.4, r. 10 1: Route of Administration {free text) #1-6 —>
¢{/routeCode>
<doseQuantity value="10" unit="G, k. 4.r. 1b"/>
{!— G.k.4.1. la Dose (number) #1-1 -=>
(= G. k. 4,1, 1b: Dose (unit} #1-1 —>
{consumahle typeCode="CSN">
<instanceOfXind classCode="INST™> .
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7¢/1otNumberText>
<]~ 'G.k.4.r.7: Batch / Lot Number #1-1 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{FormCods code="6, 1, 4.1, 9, 2b” zodeSystem="TED-DossForn” codeSystemVersion="G. k. 4.T1.0.2a”>
¢l— G. k.4, r.9.2a: Pharmaceutical Dose Form TermlD Version Date / Number #1-6 ——>
<!-- G.k.4.7.9.2b: Pharmaceutical Dose Form TermID #1-6 ——>
<originalText>G. k. 4.r. 9. 1{/ariginalText>
¢l G, k. 4,r.9, 1: Pharmaceutical Dose Form (free text) #1-6 ~—>
</TormCode> -
¢/kind0fFroducty ;
</instanceOfKind>
</consumabled
¢inboundRelationship typeCods="REFR">
<{observation classCode="0BS” moodCode="EVN"> .
(code code="28" codeSystam="2, 16, 840, 1. 113883. 3. 989. 2, 1. 1. 19" displayName="parentRoute0fAdministration”/>
{value xsi:type="CE* code="G.%. 4.7. 11 2b" codeSystem="2. 16, 840. 1. 113883, 3. 989.2.1. 1. 14" codeSystemVersion="G. k. 4.T.

11.2a% _ ‘
{!— &. k. 4.r.11. 2a: Parent Route of Administration TermID Version Date / Number H1-6 —>

<|— G,k 4,1 11. 2b: Parent Route of Administration TermID #l-8 -—>
<originalText>G. k. 4.r. i1, 1</originaiText>
<l-- G, k 4. r 11, 1: Parent Route of Administration {(free text) #1-6 —>
{fvalue>
{/ohservation) .
{/inboundRelationship>
</substancefduinistration?
{/outbotndRelationship2>
<{putboundRelationship2 typeCode="COMP™>
<!— G. k. 4.r: Dosage and Relevant Information (repeat as necessary) Rl-7 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
(text?G. k. 4.1, 8{/text>
- G,k 4.1.8: Dosage Text H1-7 —>
{effectiveTime xsi:type="SKPR_TS">
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11.22">

{eomp xsi:type="IVL_TS">
¢low value="200001C17/>
¢l=- G.k.4.r.4: Date and Time of Start of Drug #1-7 —>
¢width value="4" unit="G.k. 4. r. 8b"/>
¢l-- 6.l 4.7, 6a: Duration of Drug Administration (number) $1-7 —>
¢I=- G, k.4.1.6b: Duration of Drug Administratien {unit)} #1-7 —>
</comp? :
{comp xsiitype="TVL _TS” operator="4">
<high value="20080101"/>
<l— 6.k.4.1.5: Date and Time of Lest Adwinistration #1-7 —>
</comp)
{/effectiveTime>
CrouteCode code="6. k. 4 . 10. 20" codeSystem="2. 16. 840. L. 113883, 3. 989. 2. 1. 1. 14" codeSystenVersion="6. k. 4.1, 10. 2a”>
¢<l— 6.k 4.r 10.2a: Route of Administration TernID Version Date / Number #1-7 ——>
¢1-- G.k. 4. 1. 10, %b: Route of Administration TermID #1-7 -—>
{originalText>6. k. 4. . 10. 1<{/originalText?
<l-— G.k.4.1.10, 1 Route of Administration (free text) #1-7 —>
</routeCode>
{doseluantity value="10" unit="G.% 4.r.18"/>
¢}~ G. k. 4.1, 1a Dose (nomber} H1-7 —>
{l— G.k 4,1, 1b: Dose {unit) H1-7 —>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<¢productInstancelnstance classCade="MMAT" determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</1otNumbexrText> ’
<l=- 6.k 4. 1. 7: Batch / Lot Number #1-7 —>
{/praductinstancelnstance?
Ckind0fProduct classCode="MMAT” determinerCode="KIND™>
(fornCode code="G. k. 4.t.9, 2b* codeSystem="TBD-Doseforn” codeSystemVersion="6.k 4.r. 9. 2a">
¢<— G k. 4 7.9, %a: Pharmaceutical Dose Form TermID Version Date / Number §1-7 —>
¢l— G.k. 4 1.8 2b: Pharmaceutical Dose Form TermlD #1-7 —->
<originalText>G. k. 4. 1. 9. 1{/originalText>
¢} G.% 4.1.9. 1: Pharmaceutical Dese Ferm (free text) ¥1-7 —
{/farmCode>
</kind0fProduct>
{/ingtance0fKind>
¢/consumebl e’
¢inboundRelationship typeCode="REFR™>
{cohservalion elassCode="0BS" moodCode="EVN">
¢oode code="28" codeSystem="2. 16,840, 1, 113883.3,989.2. 1,1, 19" displayName="parentRoute0fAdministration”/>
(yalue xsiztype="CE* code="G, k.4.T.11. 2b" codeSysten="2, 16.840.1. 113883.3.985. 2. L. 1. 14" codeSystemVersion="G. k. 4. 1.

¢l-- G,k 4.r.11.2a: Parent Route of Administration TermIh Version Date / Number H1-7 —>
¢l— G.k 4.7. 1L 2b: Perent Reute of Administration TermlD #1-7 —>
CoriginalText>Gi k. 4 1. 1L. i</originalText>
¢l-— G.k.4.r. 11 1: Parent Route of Administration (free text) #1-7 -
</value>
{/cobservation}
</inboundRelationship>
{/substanceAdministration?
</outboundRelationship2>
¢outboundRelationship? typeCode="SUMM">
(observation classCode="0BS” moodCode="EVN">
Ceode code="14" codeSystem="2. 16, B40, 1. 113883. 3. 689. 2. 1. 1, 18" displayNane="cumulativeDoseTaReaction”™/>
<value xsi:type="PQ” value="10" unit="G. % 5b7/>
{l— 6.k 5a: Cumulative Dose to First Reaction (number) #1 —->
¢!— @& k 5b: Cumulative Dose to First Reaction (unit} #1 —>
</observationd
¢/outboundRelationship2?
<puthoundRelationship? typeCode="PERT">
{chservation classCode="0BS” moodCode="EVN">
¢code code="16" codeSystew="2, 16, 840. L. 113883, 3. 989. 2. 1. 1, 19" displayName="gestationPeriod”/>
¢value xsi:type="PQ* value="10" unit="G.k 6b"/>
¢l-- G.k.6a: Gestation Period at Time of Exposure (number) #1 —>
¢(!— @k, 6b: Gestation Period at Time of Exposure (unit) L -->
{/observation>
¢/outboundRelaticnship2>
{outhoundRelationship? typeCode="PERT™>
Cobservation classCode="0BS” mcodCode="EVN™>
¢onde eode="31" codeSysten="2. 16. 840, [, 113883, 3. 682, 2, 1, 1. 19" displayName="recurrance0fkesction”/>
<yalue xsiitype="CE* code="G. k. 9,1, 4" codeSysten="2. 16,840, 1,113883.3.689.2. 1. 1, 16"/
¢l— G.k 9.4 4! Bid Reaction Recur on Re-administration? Drug #1, Reaction 1 ->
CouthoundRelationshipl typeCode="REFR™>
<actReference classCode="0BS" moodCode="EVN™>
Gd root="154eb880-968b—46{2-a02f-42d4d6FAGETE" />
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{/actReference?
{/outhorndRelationshipl>
</ohservation)
¢/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
<chservation classCode="0BS” moodCode="EYN"> N
{eade code="31" codeSystem="2. 16. 840, 1, 113883, 3, 989, 2. 1. 1. 19" displayName="recurrance0fReacticn”/>
<value xsi:type="CE” code="G.k.9.1.4" codeSysten="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 1€"/>
¢l—— 0. k. 9.1.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #2 -—>
{otitboundRelationshipl typeCode="REFR™>
{actReference classCode="0BS” moodCode="EYN™>
(id root="2baa28d6-cHeE—de6c-93e9-5b860bI142207 />
{/actReference>
</outhoundRelationshipl?
{/ohservationd
{/outboundRelationship2>
{outbsundRelationship? typeCode="REFR™>
{ohservation classCode="0BS" moodCode="EVN™>
<code code="9" codeSystem="2.16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" displayName="codedDrugInformation”/>
¢value xsiTtype="CE” code="G. k. 10.1" codeSystem="2. 16.840. 1, 113883, 3,989,2,1.1.17"/>
<|— 6.k 10.r: Additional Information on Drug (coded) (repeat as necessary) #1-1 -—»
</ohservation>
{/outhoundRelationship2>
<outboundRelationship? typeCode="REFR">
<observation classCode="0BS" moodCode="EVN™>
¢code code="9" codeSysten="2. 16. 840. 1. 113883, 3, 989, 2, 1, 1, 19" displayName="codedlrugInformation”/>
¢value xsiitype="CE” code="G.k. 10.t" codeSystem="2. 16.840. 1. 1138823, 3, 989.2.1. 1.17"/>
¢}~ G k. 10, r: Additional Information on Drug ({coded) (repeat as necessary) #1-2 -—>
</observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="REFR”>
<ohservation classCode="0BS" maodCode="E¥N">
{code code="2" codeSystem="2. 16. 840, 1. 113883, 3,688, 2, 1, 1, 19" displayName="additionalInformation”/>
<value xsi'type="S17>G. % 11</value>
<l-- G, k. 11; Additional Information on Drug (free text) #1 —>
¢{/observation>
{/outhoundRelationship2>
<inboundRelationship typeCode="RSON">
{observation classCode="0BS” moodCode="EVN™>
{pode code="19" codeSystem="2. 16. 840, 1. 113883, 8, 084, 2, 1. 1, 19" displayName="indication”/>
{value ¥si’type="CE” code="G.k, 7.%.2b" codeSystem="2.16.840. 1. 113883, 6. 163" codeSystemVYersion="G.k. 7.1.2a">
¢l G,k 7.r,22: MedDRA Version for Indication #1-1 —>
¢l— .k 7.r.2b: Indication (MedDRA code) #1-1 —>
<originalTest>G. k. 7.1, 1{/originalText>
{!l— G.k 7.r.I: Indication as Reported by the Primary Source HI-1 —>
</value>
{parformar typeCode="PRE">
(assignedEntity classCode="ASSIGNED™>
{code code="3" codeSystew="2. 16,840, 1, 113883. 3, 989. 2. 1. 1. 21" displayName="sourceReporter”/>
{/sssignedBntity>
{/performer>
</observation>
{/inboundRelationship>
<inbeundRelationship typeCode="RSON">
{observation classCode="0BS" moodCode="EVN™>
(code code="18" codeSystem="2. 16. 840. 1. 113883, 3. 889. 2. 1, 1. 19" displayName="indication”/>
<value xsi:type="CE" code="G.k.7.r.2b" codeSystem="2. 16, 840, 1, 113883. 6, 163" codeSystemVersion="G. k. 7.r.2a™>
<|-= G.k.7.r.2a! MedDRA Version for Indication #1-2 ——>
<l— G.% 7.7.2b: Indication (MedDRA code} #1-2 —>
<originalText>G, k. 7. 1. 1{/originalText>
(I Gk 7.r.1: Indication as Reported by the Primary Source #1-2 —
</valued
{parformasr typeCode="PRF">
{assignedEntity classCode="ASSIGNED">
<oode code="3" codeSystem="2. 16. 840, 1. |13883, 3, 985, 2.1, 1, 217 displayMame="sourceReporter”/>
{/assignedBntity>
{/performer>
¢/observation>
{/inboundRelationship>
<inboundRelationship typeCode="CAUS">
<act classCode="ACT” moodCode="EVN™>
{code code="0, k 8" codeSystem="2. 18. 840. 1. 113883, 3, 989, 2, 1, L. 15"/
¢l—- §. % 8: Action(s) Taken with Drug #I —>
</act>
{/inhoundRelatjonship’
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¢/substanceAdministrationy
£/ component>
¢1— 6.k Drug(s) Information (repeat as necessary) #2 —>
{conponent typeCode="COMP™>

¢substancehdministration classCode="SBADM” moodCode="EVN™>

¢id root="868d615ce-3h3b-45c7-92dd~69606730c3a9" />
{cehstmable typeCode="CSM">
¢instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND">
(code code="G. k. 2, 1. Zb” codeSysten="TBD-FLPID” codeSystemVersion="G. k. 2. 1. 2a”/>
{l-- G,k 2, 1. 2a: PhPID Version Date / Number #2 —>
¢<l— G.k.2.1.2b: Pharmaceutical Praduct Identifier (PhPID) #2 -->
<name>C. k. 2. 2{/name>
¢l— 6.k 2.2: Medicinal Product Name as Reported by the Primary Source #2 —>
(asManufacturedProduct classCode="MANU">
(subject0f typeCode="SB]">
Capproval classCode="CNTRCT" moodCode="EVN">
4id extension="G, k. 3.1" root="2, 16, 840, 1. 113882, 3,684, 2, 1. 3. 4"/>
¢l— G,k 3. 1: Authorisation / Application Number B2 —>
<author typeCode="AUT™>
(territorialAuthority classCode="TERR™>
¢territery classCode="NAT® determinerCode="INSTANCE">
<eode cods="C. k. 3 27 codeSystew="1.0, 3166, 1,2.27/7
¢l—— G.k.3.2¢ Country of Authorisation / Applicetion #2 —>
{/territory>
{/territerialAuthority>
¢/anthor>
¢pertinentInformation typeCode="PERT™>
¢policy classCode="POLICY” moodCode="EVN">
¢code rode="]2.5. k™ codeSystem="2, 16. B40. L. L1383, 3,989.5,1. 3.2, 1. 4"/>
<l— BEAJ2. 5.k —MRAIERSSOY o KL% 2
{/policyd
{/pertinentInformation>
</approval>
{/subjectDE>
¢subject0f typeCode="SB}">
¢characteristic classCode="0BS" moodCode="EVN">
eade code="1" codeSystem="2. 15. 840. 1. 113883, 2. 589, 5. 1. 3.2, 1. 10" displayName="$iEEFFORMED"/
¢value xsitype="CE" code="]2. 4. k" codeSystem="3.16.840. L. 113883.3.989.5.1.5.2. 1. 375
< 8eeT2 4.k WMEERSFORIRES 42 — ' ’
¢/characteristic)
£/subject0f>
</asManufactiredProduct?
{ingredient classCode="ACTI">
{quantity>
<mumerstor value="10" unit="G.% 2. 3. r.3b"/>
<l— G.k 2 3.r.3a: Strength {number} #2-1 —>
¢l— 6.k 2.3.r.3bI Strength (unit) #2-1 —>
{denominator value="1"/>

<{/quantity>

CingredientSthstance classCode="MMAT™ determinerCode="KIND">

* ¢eode cods="6.k. 2. 3.1.2h” codeSystem="TBD-Substance” codeSystemVersion="G.k. 2.3.r.2a"/>
¢1— G.k.2.3.1.2a’ Substance / Specified Substance TermID Version Date / Number #2-1 —>
= .k 2. 3.1 %b Substance / Specified Substance TermID #2-1 ——>
<name>h k, 2, 3, r. 1</ name>"

<l=— G.k.2.3.1.1 Substance / Specified Substance Name #2-1 —>
¢/ingredientSubstance?

{/ingredient>
¢ingredient classCode="ACTI">
<quantity>
{mumerator value="10" unit="G.k. 2.3.1.3b"/>
<}— 6.k 281 32 Strength (number) §2-2 —->

¢l— 6.k 2.3.r.3b: Strength (unit) #2-2 ——>
{denominator value="1"/>

{/aquantity>
CingredientSubstance classCode="MMAT” determinerCode="KIND">
Coode code="6: k. 2. 3. t. 20" codeSystem="TBD-Substance” codeSystemVersion="G.k. 2.3.1.2a"/>

(i-= G,k 2.%. 1. Za: Substance / Specified Substance TermID Version Dats/Mumber #2-2 -—>

¢/ingredisntSubstance>
{/ingredient>
</kind0OfProduct>

{subjectOf typeCode="SBJ">
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{productEvent classCode="ACT" moodCode="EVN">
{code code="1" codeSystem="2. L6. 840. L. 113883, 3, 689, 2, L, 1. 18" displayName="retailSupply”/>
{performer typeCade="PRF">
{assignedBntity classCode="ASSIGNED™>
{represented0rganization classCode="0RG" determinerCode="INSTANCE">
{addr>
eountry>G. k. 2. 4</country?
<l 0, k.2 4; Identification of the Country Where the Drug Was Obtained #2 —>
{/addr>
¢/represented0rganization>
<{/assignedBntity>
</performer>
{/productEvent>
{/subject0f>
¢subjectOf typeCode="SB]">
{observationBvant classCode="0BS” moodCode="EYN">
<code code="3" codeSystem="2, 16, 840, 1, 113883. 3. 989. 5. 1. 3. 2. 1. t0” displayName="—REREIL O ATHME"/>
<value xs5iltype="CE" code="J2.6.k" codeSystem="2, 16, 840. 1. 113883, 3.989.5.1,3. 2. L. 5"/
<1 088J2. 6. k: —RRREEROCAFRE 2 —
{/observationBvent>
{/sub jectOf>
{/instance0fKind>
{/constmable)
CouthoundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.1.3,1b"/>
§l-~ G, k. 9,1, 3, 1a: Time Interval between Beginning of Drug Adwinistration and Start of Reaction / Event (number) Drug #Z2,
Reaction fi-—> :
¢I=- 6.k 9.4.3.1b! Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug B2,
Reaction #1 —>
<actReference classCede="0BS" mondCode="TVN">
{jd ront="154ebBR9~05Rb—-46f2-a02f-12d4d6F4657F" />
¢/actReference>
</outboundRelationshipl>
<putboundRelationshipl typeCode="SAE"™>
<pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
¢— 6. k.9 1.3 2a; Time Interval hetween Last Dose of Drug and Start of Reamction / Event {(number) Drug #2, Reaction #1 -—>

¢i-- G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event (unit) Drug #2, Reaction #1 —>
{actReference classCode="0BS" moodCode="EVN">
<id root="154ehB89-95Bh-46F2-a02f-42d4d6F4BETE" />
{/actReference>
</outboundRelationshipl>
CouthoundRelationship! typeCode="SAS">
¢pauseQuantity value="10" unit="G, k. 9.i.3.1b"/>
. . ¢{!— 6.k 9.i.3.1a: Time Interval between Beginning of Drug Administratien and Start of Reaction / Event (number} Drug #2,
Reaction #2 —> ' .
¢l G.%9.1.3.1b: Time Interval between Begimning of Drug Aduinistration and Start of Reaction / Event (unit} Drug #2,
Reaction #2 =->
<actReference classCode="0BS" moodCode="FEVN™>
<id root="2baal8d6-c%e8-4e6c—93c9-5b60L314220" />
¢{/actReference>
{/eutboundRelationshipl)
{outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="6. k. 9. 1.3.2b"/>
{l—— G.k.5.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Trug ¥2, Reaction B2 —

¢l— G.%.9.1.3.25! Time Interval between Last Dose of Drug and Start of Reaction / Event {unit) Drug #2, Reaction HZ -->
<aciReference classCode="0BS” moodCode="EVN">
(id root="Zbaa2Bd6-cle8—4ebe~93e9-5bBENLI 142207 />
<{/actReference>
{/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.%k.9.1i.3.16"/>
¢I—- 6.k 9.4.3. la* Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number} Drug H2,
Reaction #3 —>
¢l-~ G, k.9 1.3, 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (unit} Drug #2
Reaction #3 -3
<actReference classCode="DBS” moodCode="EVN">
- {id root="3a8626ch-9T1b—deal-8a0f-e0ff34430adt” />
{/actReference>
</outboundRelationshipl>
CouthoundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k. 9.1.3.2b"/>
{4— 6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug 2, Reaction #3 --
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Reaction #4 —>

Reaction #4 —>

Reaction #5 ——>

Reaction #5 —>

Reaction #6 ~—>

Reaction #6 —>

Reaction #7 —

Reaction #7 ——>

¢l—— G,k 9.i.3. 2b: Time Interval between Last Dess of Drug and Start of Reaction / Bvent (unit) Drug #2, Reaction H#3 —>
¢actRefersnce classCode="0BS” moodCode="EVN">
<id root="5a8626ch-971b-4eab~8a0f-c0Ff34430adf"/>
{/actReference> :
</outboundRelationshipl>
CoutboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k 9.1 3. 18"/>
¢l-- G.k 9.4, 3 la; Time Interval between Beginning of Drug Administration and Start of Reaction / Event (number) Drug 2,

¢1-— 6.k.9.1. 3. 1b: Tine Interval between Begirming of Drug Administration and Start of Reaction / Event (unit) Drug #2,

ZactRefersnce classCode="0BS” moodCode="EVN™>
<id 1‘00t:'2E99340f—oEb4—4QQC*80ff*dﬂ34l5f4f835”/’>
</actReference’
</outbsundRelationshipl>
¢outboundRelationshipl typeCode="SAE™>
¢pauseQuantity value="10" unit="G. k. 9.1.3.2b"/>
¢l-— 6.k 9.i.3. 2a! Time Interval hetween Last Dose of Drug and Start of Reaction / Fvent {nugher) Drug #2, Reaction H#4 —

¢]— G. k. 9.1.3 2b: Time Interval between Last Dose of Drug and Start of Reaction / Bvent (unit) Drug #2, Reaction #4 —>
¢actReference classCode="0BS" moodCode="EVN™>
<d root="2099840f~08h4-499c-80Ff-dd8415f4f8ab"/>
¢/actlieference>
</outboundRelationshipl>
{outhotundRelationshipl typeCode="SAS">
(pauseduantity value="10" unit="G. k. 0.1.3.18"/> .
¢l=— 6.% 0.1 3 la! Time Interval between Beginning of Drug Administration and Start of Reaction / Bvent (number} Drug #2,

¢1— G.k. 9.i.3. 1b: Time Interval hetween Beginning of Prug Administration and Start of Reaction / Bvent {unit) Drug #2,

(actReference classCode="0BS" moodCode="EVN™>
(id root="1071064c—cf10-4a3b-83c]-34f9ddbTeabd” />
{/actReference> )
</outboundRelationshipl>
{outheundRelationshipl typeCode="SAR">
¢pauseQuantity value="10" unit="6. k. 9.1.3.2b"/> .
¢l—- G.%. 9. %3 2a! Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Heaction #5 ——

¢l G.}. 0. 1.3 2h: Time Interval between Last Dose of Drug and Start of Reactien / Event (unit) Drug #2, Reaction #§ —>
<actReference classCode="0BS" moodCode="EVN">
¢id root="1071064c—cf10-4a3b-83c1-34£9ddbTeatid”/>
¢/actReference> .
{/cutboundRelationshipl>
CouthoundRelationshipl typeCode="SAS™>
¢peusefuantity value="30" unit="G. k. 9.i.3. 1"/
¢l—— G.k.G.i.3.1la: Time Interval betwesn Beginning of Drug Administration and Stari of Reaction / Eveni (number) Drug #2,

¢<l-—— 6.k.9.4,3, 1b: Time Interval between Beginning of Drig Administration and Start of Reaction / Bvent (unit) Drug #2,

¢actReference classCode="0B3" maodCode="EVN">
<id root="11927283-10b6-4334-9d43-=925640Fb18E" />
{/actReference>
{/outboundRelationshipi>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" mit="G, k.9.1.3.2b"/>
¢}— 6.k 9.1.3.%a: Time Interval between Last Dose of Drug and Start of Reaction / Event (number) Drug #2, Reaction #6 —

¢l— 6.k 9, i.3.2b: Time Interval betwean Last Dose of Drug and Start of Reaciien / Event {unit) Drug #2, Reaction #6 —>
<actReference classCode="0BS" mocdCode="EVN">
<id root="1£927283-10b6-4334-9d43-e925640Fb18E" />
{/actReference>
</ontboundRelationshipl?
<outboundRelationshipl typeCode="SAS">
¢pauseQuantity value="10" unit="G.k.9.i.3, ib"/>
¢l— G.k.9.1,3. 1a: Time Interval batween Beginning of Drug Administration and Start of Reaction / Bvent (number) Drug #2,

¢!— G.k.9.1. 8 1b: Time Interval between Beginning of Drug Administration and Start of Reaction / Event (unit) Drug #2,

(actReference classCode="CBS” moodCode="EYN™>
¢id Toot="c0342069-38be—4231-b5bb-ce14bo270dRe” />
{/actReferencer
{/outboundRelationshipl?
<outbeundRelationship!  typeCode="SAE">
"¢pauseQuantity value="10" unit="G.k 9, i.3,26"/>
¢l—— G.k.G.1.% 2a! Time Interval between Last Dose of Drug and Start of Reaction / Bvent (mumber) Drug #2, Reaction #7 —

)
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<I— G. k. 8.4, 3. 2b: Time Interval between Last Dose of Drug and Start of Reaction / Bvent (unit) Drug #2, Reaction H7 —)
{actReference classCode="0BS" moodCode="EVN™>
<id root="e0342969-38be—423f-bBbb-cel4bcZT9dBe" />
(/actReference>
</outhoundRelationshipl>
<outboundRelationship! typeCode="SAS">
{paugeQuantity value="10" unit="G.k. 8.i.3.1b"/>
<I— 6.k 9.3 3. 1la: Time Interval between Beginning of Drug Administration and Start of Reactioch / Event (number) Drug #2,
Reaction #8 —>
<l— G. k. 9.i,3. 1b: Time Interval between Beginning of Drug Administraticn and Start of Reaction / Event {(unit) Drug H2,
Reaction #8 —>
<actReference classCode="0BS" moodCode="EVN™>
<id root="2i5be092-8070-426d-af04~E863263443e0" />
{/actReference>
{/outboundRelationshipl>
{outhoundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G. k. 9. i.3.2b"/>
<f-- G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event {number) Drug #2, Reaction #8 —

<!— G, k. 9.1, 3. 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event {unit} Drug #2, Reaction H8 —>
(actReference classCode="0BS” moodCode="EVN">
<id root="al5be092-80T0-426d-af04-6863263443207/>
{/actReference)
</outhoundRelationshipl>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="E¥YN">
<code code="6" codeSystem="2, 16, 840, [ 13883, 3, 880, 2, 1. 1, 19" displayName="blinded”/>
<value xsiitype="BL" value="true”/>
<!— G. k. 2.5 Investigational Product Blinded #2 -
</observation>
{/eutboundRelationship2>
<outboundRelationship? typeCode="COMF™>
<f— G.k.4.r : Dosage and Relevant Information (repeat as necessary) #2-1 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{toxt>G ko 41 8/ text>
(!— G.k.4.r.8: Dosage Text #2-1 —>
CeffectiveTime xsi'type="IVL_TS">
(lew value="20096101"/>
{!— G.k 4, r.4: Date and Time of Start of Drug #2-1 —>
¢high value="20090101"/>
<l— G.k.4.r. 5 Date and Time of Lest Administration #2-1 —>
{feffectiveTime>
(routeCode code="5.k. 4. 1. 10. 2b” codeSystem="2. 16, 840, 1. 112883, 3. 986. 2. 1. 1, 14" codeSystemVersion="G. k. 4. . 10. 2a”>
{— G.k 4.r. 10, 2a: Route of Administration TermID Version Date / Number #2-1 —>
<|— G.k. 4. 1.10. 2b: Route of Adwinistratioen TernID #2-1 -->
<originalText>G, k. 4. r. 10, 1<{/originalText>
<l— 6, % 4 r.10,1: Route of Adwinistration {fres text) #2-1 —>
{/routeCode>
<{doseQuantity value="10" unit="G. k. 4.r. 1b"/>
¢l== G. k. 4. 1. 1a Dose (number) H2-1 —=>
<|l— G.k 4.r. 1b! Dose {unit) #2-1 —>
<consumable typeCode="CSH">
<instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
{IlotNumberTexti>G. k. 4. r. 7¢/lotNunberText>
= Gk 4. r. 7: Batch / Lot Number #2-1 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND™>
(formCode code="G.k 4.1.9. 2b" codeSystew="TBD-DoseForn” codeSystemVersion="G.k 4.r.5,2a">
¢t— G.k, 4, 1.9, 2a; Pharmaceutical Dose Form TermID Yersion Date / Number #2-1 —»
<]=— G.k.4.1.9. 2b: Pharmaceutical Dose Form TermID #2-1 —>
<originalText>G. k. 4. r. 8. 1{/originaiText>
Cl— G. k. 4:1.9 1 Pharmacentical Pose Form {free text) §2-1 —=>
{/formCode> -
{/kind0fProduct>
</instanceCfKind>
</cohsumable>
<inhoundRelationship tyneCode="REFR”>
{ohservation classCode="0BS” moodCode="EVN">
{code dode="28" codeSystem="%. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" displayName="parentRoute0fAdninistration”/>
(value xsiitype="CE" code="G. k.4.r. 11.2b" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14" codeSystemVersion="G. k. 4.r.
11. 2" )
¢l== G. k. 4. 1. 11, 2a: Parent Route of Administration TermID Version Date / Number #2-1 —
¢|— G.k.4.r.11 2b: Parent Route of Administration TermiD H#2-1 —>
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11.2a™>

<oripinalText>G, k. 4. 1. 11, 1¢/original Text>
¢t— G,k 4.1, 11. 13 Parent Rowte of Administraiion (free text) #2-1 —
<Avaluey
</vhservationd
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationshipZ>
CoutboundRelationship? typeCode="COMP™>
¢l—- 6.k 4.1: Dosage and Relevant Information (repeat as necessary) #2-2 —7
¢substancehdministration classCode="SBADM" moodCode="BVN">
(textri k. 4, r. 8/ text>
¢l=- G.k 4.r.B: Dosage Text #2-2 -
{effectiveTime xsi:type="IVL_TS™>
{low value="20090101"/>
¢1— 6.k, 4. 1. 4: Date and Time of Start of Drug #2-2 —>
¢width value="4" unit="G, k. 4.x.6b"/>
¢<l-- G,k 4. 1. 6a: Duration of Drug Administration (number} #2-2 —>
¢l— G.k. 4.1. 6b: Duration of Drug Adwinistration (unit) #2-2 —>
¢/effectiveTime>

{routefode code="G. k. 4. 1. 10, 2b” codeSysten="2, 16, 840, 1. 113883, 3,989, 2. 1, 1, 14" codeSystemVersion="G, k. 4.x. 10, 2a™>

(— G k 4 1. 10. 2% Route of Administration TermID Version Date / Number #2-2 —>
{l— 6.k 4.1.10.2b; Route of Administration TermID #2-2 —>
{originalText>G. k. 4. r. 10, 1¢{/originalText>
¢l-— 6. k. 4.1, 10, 1: Route of Administration (free text) #2-2 —
{/routeCode>
<doseQuantity value="18" unit="G.k.4.r.1p"/>
{|-- G.k. 4. 7. 1a Dose {number) #2-2 —>
¢l—— G,k 4, r, 1b: Dose (unit) #2-2 —>
¢eonsumable typeCode="CSH™>
(instanceCfKind classCode="INST">
N ¢productinstancelnstance classCode="MMAT” determinerCode="TNSTANCE">
{lotHumberText>G. k. 4. r, 7</lotNumberText>
<]~ G. k. 4.1.7: Baich / Lot Number #2-2 —>
{/productInstancelnstance>
<kind0fProduct classCods="MMAT" determinerCode="KIND™>
(FormCode code="G. k. 4.1.9.2h" codeSystem="TBD-DoseForn” codeSystemVersion="G.k. 4.r.9. 22”7

¢1—- G.k.4.1.9. 2b Pharmaceutical Dose Forw TermID #2-2 —>
CoriginalTextyG. k. 4. 1. 9, 1{/originalText>
<l 6.k 4.1.9. 17 Pharmaceutical Dose Form (free text) #2-2 —
¢/TornCode>
</kind0fPreduct>
¢/instance0fKind>
{/constmable>
¢inboundRelationship typeCode="REFR™>
Cobservation ¢lassCode="0BS” moodCade="EVN™>

<eoda code="28" codsSystew="2, 16, B40. 1. 713883.3.989.2,1,1. 197 displayName="parentRouteOfAdmini stration”/>
{yalue xsi!type="CE” code="G.k.4.r. 11.2b" codeSystem="2. 16. 840, 1, 113883. 3, 989.2, 1. 1. 14" codeSystemVersion="G. k. 4. 1.

¢l— 6.k 4,1, 11. 2a: Parent Reute of Administration TermlD Yersion Date / Niwber #2-2 ~=>
¢}~ G.k.4.r. 11, Zb: Parent Route of Administration TermID #2-2 -—>
<ariginalText>®, ¥, 4. 1. 11, 1</eriginalText?
¢} G.k.4.t.11.1: Parent Route of Administration (free text} #2-2 —>
{/value> '
{/chservation?
¢/inboundRelationship>
</substanceAdministration?
¢/outboundRelationship2>
<outbaundRelationship? typeCode="COMP™>
¢l—— G. % 4. r: Dosage and Relevant Information (repeat as necessary) #2-3 -=>
¢substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8¢/text>
<!-- G,k 4.1, 8: Dosage Text ¥2-3 —>
(effectiveTime xsi:type="IVL_TS™>
¢width value="4" nnit="G. k. 4.r.6b"/> .
¢l- G. k. 4. r.6a: Duration of Drug Administration (number) #2-3 —>
¢{— 6.k 4.1, Bb: Buration of Drug Administration {unit) #2-3 —>
Chigh value="20080101"/>
<l—— G.k.4.t. 5: Date and Time of Last Administration #2-3 —>
{/effectivelime>

¢roateCode code="G. k. 4, 1, 10. 20" codeSystem="2, 16. 840, 1. 113883,3.880. 2. 1. 1. 14" ceodeSystemVersion="G. k. 4.1, 10, 2a">

(- €.k 4.7, 10,2a: Rotste of Administration TexrnlD Version Date / Number #2-3 ——>
¢l—— G,k 4.1.10. 2b: Route of Administration TermID #2-3 —>

<originalText>G. k. 4. 1. 10, 1</originalText>

¢|-— G.k.4,1.10, 1; Route of Administration (free text) #2-3 —>
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{/routeCode>
(doseQuantity value="10" unit="G.k. 4.r.1v"/>
¢{I-- G k 4.r. 1a Dose (number} #2-3 —>
{I-- Gk 4.r. 1b: Dose (unit) #2-3 —>
<consumable typeCode="CSM">
{instance0fKind classCode="INST™>
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE™>
<{lotNumherText>G. k. 4, r. 7</lotNunherText>
<!—- 6. k. 4. 1. 7: Batch / Lot Number #2-3 —>
{/productInstanceInstanced
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k 4.r.9.2b" codeSystew="TBD-DoseForn” codeSystemVersion="G. k. 4.r. 9. 2a™>
<{l— G.k.4.1r.9. 2a; Pharmacentical Dase Form TermID Version Date / Number #2-3 —>
f— G. k. 4.1.9. 2b: Pharmaceutical Dose Form TermlD #2-3 —>
{originalText>G. k. 4. r. 8. 1<{/original Text>
¢{!— G.k 4.1r.9.1: Pharmaceutical Doge Ferm (free text) #2-3 ~->
{/formCode>
</kind0fProduct>
</instance0fKindy
<{/consumable>
<inboundRelationship typeCode="RERR">
{observation classCnde="0BS" moodCode="EVN">
{code code="28" codeSystem="2. 16.840.1. 113882, 3,989, 2.1, 1. 19" displayName="parentRoute0fAdministration™/>
<yalue xsi:type="CE” code="G.k 4.r.11,2b" codeSystem="2. 15. 840. 1. 113883, 3, 989. 2. L. 1. 14" codeSystemVersion="G. k. 4.r.
11, 2a™> -
{I— Gk 4.r, 11. 2a: Parent Route of Administration TernID Version Date / Number #2-3 -->
¢l-- G. k.4, r, 11 2b: Parent Route of Administration TermID 2-3 ——>
{originalText>G. k. 4. r. 11. 1{/originalText>
&i=- G,k 4.r. 11, 1! Parent Route of Administration (free text) #2-3 —>
{/value>
¢/observation)
¢/inboundRelationship>
<{/sttbstahceAdninistration>
</outhoundRelationship2>
CoutboundRelationship2 typeCode="COMP"> .
(1=~ G. k. 4.r: Dosage and Relavant Information {repeat as necessary) #2-4 —»
{substanceAdninistration classCode="SBADM” moodCode="EVN">
<textdG k. 4, r. 8¢/ text? .
<|— G.k 4.r.8: Dosage Text #2-4 ~->
{effectivelime xsi:type="SXPR_T5">
<comp xsiitype="PIVL_TS™>
{period value="10" bnit="G.k 4.1.3"/>
<l-- 6.k 4. £.2: Number of Units in the Interval H2-4 —>
<{I— G.k.4.1.3: Definition of the Time Interval Unit #2—4 —>
</ comp>
<comp xsi:type="I¥L_TS” operator="A">
<low value="20090101"/>
¢l=~ G. k. 4.7.4: Date and Time of Start of Drug #2-4 ——> .
</comp>
¢SeffectiveTime?
<routeCode code="G. k. 4. 1. 10. 2b” codeSystem="2. 16. 840, 1. 113883, 3. 89, 2. 1. 1. 14" codeSystemVersion="G. k. 4. r. 10. 2a™>
<l— G.k 4. r. 10 2a:. Route of Administration TermID Version Date / Number #Z-4 -->
{i— G.k. 4.1.10. 2b: Route of Adwinistration TermID #2-4 -->
{originalText>G. k. 4. r. 10. 1{/originalText>
== G, k. 4.1, 10, 17 Route of Administration {free text) #2-4 -—>
</routeCode> )
<doseQuantity value="10" mnit="G. k. 4. r.1b"/>
<!— 6.k 4.r. la Dose (number) H2-4 —>
¢{1-- 6.k 4.7, 1b: Dose (unit) #2-4 —>
{consumable typeCode="CSH">
{instanceOfKind classCode="INST">
{produetInstanceInstance clagsCode="MMAT” determinerCode="INSTANCE™>
<lotHumberText>G, k, 4, r, 7</lotlumberText>
¢l— G.k.4.r.7: Batch / Lot Number #2-4 -->
{/productInstancelnstance>
<kindOfProduct classCode="MMAT® determinerCode="KINI'>
(formCode code="G, k, 4. 7.9, 2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k 4.r. 9. Z2a™>
¢{l— G.k. 4, 1,9 2ar Pharmaceutical DTase Form Termll Yersion Date / Wumber #2-4 -->
¢l-= G. k. 4.1.9 2b: Pharmaceutical Dose Form TermID #2-4 ——
<originalText>G, k. 4. r. 8, I<{/originalText>
{I— G.k 4.1.9.1: Pharmacentical Dose Form (free text) #2-4 -->
{/fornlode?
{/kind0OfProduct>
</instance0fKind>
¢/consumahley
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{inboundRelationship typeCode="REFR™>
{abservation classCede="0BS” moodCode="EVN">
¢pode code="28" codeSystem="2. 16,840, 1, 113883.3.989, 2. 1. 1.19" displayName="parentRouteOfAdmini stration”/>
¢value xsiitype="CE” code="t.k. 4,1, 11 2b" codsSysten="2, 16, B40, 1. 113883. 3. 988, 2. 1. 1. 14" codeSystenVersion="G. k. 4.r,

11, 2a"> .
{l— G k. 4.r 11 2a: Parent Route of Administration TermID Version Date / Number #2-4 ——»
¢l-- Gk 4. 1. 11, 2b: Parent Route of Administration TermiD #2 4 -=>
{originalText>G. k. 4. 1. 11, 1¢/originalText>
¢l-- G.k.4.1.11. 1! Parent Route of Administration {free text}. #2—4 —
fvalue>
{/observation’
¢/inboundRelationshin?
{/subgtanceAdministration>
¢/outboundRelationship2>
{ottboundRelationship? typeCode="COME™>
¢l— G,k 4. r: Dosage and Relevant Information (repeat as necessary} #2-§ —
{substanceAdministration classCode="SBADM" moudCods—"EVN »
{text>G, k, 4. r. B{/text>
<!— G.k 4.r.8: Dosage Taxt #2-5 -—>
<effectiveTime xsi:type="SXPR_IS">
<comp xsiitype="PIVL_T3">
<period value=*10" unit="G. k. 4.r.3"/>
¢l—— (k. 4.7.2: Number of Units in the Interval #2-5 ——
. ¢!-— G. k. 4.1.3: Definition of the Time Interval Unit #2-5 —>
</comp?
{oomp xsi:type="IVL_TS" operater="A">
<high value="20080101"/>
¢l— G. k.4, v.5: Date and Time of Last Administration ¥2-B -2
(/comp>
</effectiveTimay
¢routeCode code="G. k. 4. r. 10.2b" codeSystem="2, 16. 840, 1, 113883, 3. 689, 2, 1. 1. 14" codeSystenVersion="G, k. 4. 1,10 Za™>
¢l— Gk 4 1.10. 2a: Route of Adwinistration TermID Version Date / Number #2-5 —>
¢l—— G,k 4.1.10.2b% Route of Administration TermID #2-6 —>
(originallext>G. k. 4., 10, 1</originalText>
—— G. k. 4 1. 10, 3: Route of Administration (free text) #2-5 —>
</routeCode?
¢doseQuantity value="10" unit="G. k. 4. r. 1b"/>
¢(l-- G.k 4.r. la Dose {(number) H#2-5 ——>
{I-- 6.k 4.1 1b: Dose (unit) #2-6 —>
{cansumable typeCode="CSH">
¢instanceOfKind classCode="INST™>
¢productInstanceInstance classCode="MMAT" determinerCode="TNSTANCE">
<lotNusberText>6, k. 4. . T{/lotNurberText>
¢l— G.k.4.r. 7! Batch / Lot Number #2-5 —>
</productInstancelnstance
<kindOfProduct classCode="MMAT" determinerCode="KIND">
formCeds code="G. k. 4. 1.9, 28" codeSystem— TBD-DoseForm” cndeSystemVersian—’G k4.1 9 22"

/fnrande)
¢/kind0fProduct>
{/instance0fKind>
</consumable>
{inboundRelationship typeCode="REFR">
Cobservation classCode="0B5" moodCode="EVN">
<ende code="28" codeSystem="Z. 16. 840. L. 113883, 3,980, 2. 1. 1. 16” displayName="pareniRotteOfAdministration”/>
<yalue xsi:type="CE" code="G.k. 4.1.11.2b" codeSystem="2. 16.840.1, 113883.3.989.2. L. 1. 14" codeSystemVersion="G.k. 4.1
11.2a™
¢l-— G k. 4.1, 11. 2a‘ Parent Route of Adwinistration TermID Version Date / Wumber #2-5 -
¢l— G.k 4.r. 11. 2h: Parent Route of Administration TermID H§2-5 —>
<originalText>G, k. 4. 1. 11. 1< /original Text>
¢i— Gk 4.1, 11. 17 Parent Route of Administration (free text) #2-§ -=
¢fralue> '
{/chservation?
</inboundRelationship?
{/substanceddninistration>
¢/outboundRelationship2>
CowthoundRelationshipZ typeCode="COMP™>
¢l=— Gk, 4. 77 Dosage and Relevant Information (repeat as necessary) #2-6 -->
¢substanceAdministration classCode="SBADY" moodCode="EVN">
Ctext»G. k. 4.1, 8</textd
<l— G,k 4. r.B: Dosage Text #2-6 —>
<effectivelime x=i!typa="SXPE_TS">
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<eomp xsi:type="PIVL_TS">
{period value="10" unit="G.k. 4.1.3"/>
{I-- G.k. 4.r.2: Number of Units in the Interval #2-6 ——
{I-- 6.k 4. r.3: Definition of the Time Interval Unit #2-6 —
- {/comp?
<comp xsi:type="TVL_TS” operator="A">
(width value="4" unit="G. k. 4.r.6b"/> .
¢l-— G.k. 4.7, 6a: Duration of Drug Administration (number) #2-5 —>
¢<l— 6.k 4.1.6b: Duration of Drug Administration {unit) #2-6 —>
</ eomp> .
(/effectiveTime> .
(routeCode code="G. k. 4.r. 10. 2b" codeSysten="2. 16, 840, 1. 113883, 3. 985, 2, 1, 1. 14" codeSystemYersion="G. k. 4. 1. 10. 2a™>
{l— G,k 4.1, 10 2a: Route of Administration TermID Version Date / Number #2-6 —>
¢1— G. k. 4.r.10.2b: Route of Administratian TermID #2-6 ——>
CoriginalText>G. k. 4. r. 10, 1</originalText>
{!-- G.k. 4.1 10.1° Route of Administration (free text) #2-6 —>
{/routeCode>
(doseQuantity value="10" unit="G. k. 4. r, 15"/>
{l—- G, k. 4.7. la Dose {number) H2-6 —>
<!— G.k.4.1.1b: Dose (unit) #2-6 —>
<consumable typeCode="CSM">
{instanceOtKind clagsCode="INST">
- <productInstanceInstance cisssCode="MMAT™ determinerCode="INSTANCE™>
<lotNumberText)G. k. 4. r. 7</lotNunberText>
(|-~ G. k.4.r.7: Batch / Lot Number #2-6 —>
{/productInstancelnstance>
ind0fProduct classCode="MMAT" determinerCode="KIND™>
(fornCode code="G. k. 4. 1. 9. 2b” codeSysten="TBD~DoseForn” codeSystemVersion="G. k. 4.r. 9. 2a™>
{I— G, k. 4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-6 —>
{l— G.k. 4. 1.9 2b: Pharmaceutical Dose Form TermID H2-6 —->
<originaiText>G, k, 4, r, 9. 1{/originalText>
¢}— G.k.4.1r.9.1: Pharmaceutical Dose Form {free text) #2-6 —>
</formCode> ’
</kind0fProduct>
</instance0fKind>
{/constmable>
{inboundRelationship typeCode="REFR">
<obaservation classCode="0BS” moodCade="EVN">
{code code="28" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1.1, 19" displayName="parentRoute0fAdninistration”™/>
Cvalue xsi:type="CE" code="G. k.4.r.11 2b" codeSystem="2. 16, 840, I, 113883, 3, 989, 2, 1, 1, 14" codeSystenVersion="G, k. 4, r,
15 2a">
{l— G,k 4 1. 11, 2a: Parent Route of Administration TermID Yersion Date / Number #2-6 —>
¢{f~~ G, k. 4 r. 11, 24: Parent Route of Administration TermID H2-6 ——>
CoriginalText>G. k. 4. 1. 11. 1{/originalText>
¢l— G,k 4,1, 1%, 1; Parent Route of Administration (free text) H2-6 -—>
</value> :
</chservation>
{/inboundRelationship>
<{/substanceAdministration>
{/outhoundRelationship2>
{outboundRelationship2 typeCode="COMP™>
{!— G.k 4.r! Dosage and Relevant Information (repeat ag necessary) H2-7 -—
(substancefdministration classCode="SBADN" moodCode="EYN">
Ctext>G. k. 4. r. 8</text>
¢l-- G. k. 4. 1.8 Dosage Text H2-7 —>
(effectiveTime xsi:type="PIVL_TS">
<period value="10" mit="G. k. 4.r.37/>
{— G.k.4,r.2: Number of Units in the Interval #2-7 -->
{l-- &. k. 4,r, 3! Pefinition of the Time Interval Unit #2-7 —>
{/effectiveTime>
(routeCode code="G.k. 4. r.10.2b" codeSysten="2. 16. 840. 1. 113883. 3. 689. 2. 1. 1. [4" codeSystenVersion="6. k. 4. . 10, 2a™>
<i— G. k. 4. r. 10.2a’ Route of Administration TernlD Version Date / Number #2-7 —>
A— G, k. 4, .10, 2b: Route of Administration TermID H2-7 —>
CoriginalText)G. k. 4. r. £0. 1{/originalTextd>
<l— G.k 4.r.10.1: Route of Adninistration {(free text) #2-7 ——>
¢/routeCode>
{dosaQuantity value="10" unit="G. k, 4,1, 1b"/>
<I-— G.k.4.r, 15 Dose (number) #2-7 —>
]~ G k.4.r.1b: Dose (unit) #2-7 -
{consumable typeCode="CSM">
{instance0fKind classCode="INST"> :
{productInstanceInstance classCode="MMAT” determinerCode="TNSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
¢}— G.k.4.r.7: Batch / Lot Number #2-7 —>
¢/productInstancelnstance)
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¢kindOfProduct classCode="MMAT® determinerCode="KIND">
¢FoarmCode code="6. k. 4.r. 9. 2b" codeSystem="TBD-DoseFarm” codeSysten¥ersion="4. k. 4, 1.9.2a™>
= G.k.4.r. 9. 2a; Pharmsceutical Dose Form TermlD Version Date / Number #2-7 —>
¢t-- G. k. 4.1.9, 2b: Pharmaceutical Dose Form TermID H2-7 —>
{originalText>G. k. 4. 1. 9. 1</originalText> .
¢|— G.k% 4. r. 9. 1: Pharmaceutical Dose Form (free text) #2-7 —>
</formCode>
</kindDfProduct>
</instanceOfKind>
{/consumable?
¢inboundRelationship typeCode="REFR"Y
{observation classCode="085" moodCode="EVN">
Ccode code="28" codeSystem="2. 16. 840, I, 113883. 3.989. 2. 1. 1, 19" displayName="parentRonte0fAdministration”/>
(yalue xsi:type="CE” code="G,k.4.r. 1l 2b" codeSystem="2, 16. 840. 1, 113883. 3. 089,21, 1. 14”7 codeSystemVersion="6. k. 4. r.
11, 2a™> '
¢|— G.k. 4.7, 11. 2a° Parent Route of Administration TermID Version Date / Rumber #2-7 —>
¢{l-— G. % 4.r.11. %b: Parent Route of Aduinistration TermID #2-7 ——>
originalText?G. k. 4. . 11, 1<{/original Text>
¢l G,k 4. T.11.1: Parent Route of Administration {free text) #2-7 —>
</value> .
</observation)
¢/inboundRelationship>
¢/substancehdministration>
¢/outboundRelationship2>
{outhoundRelationship? typeCnde="COMP™>
¢— G.k. 4 r: Dosage and Relevant Information (repeat as mecessary) #2-8 —2
<substanceAdministration classCode="SBADM" moodCode="EVN“>
<text?6, k. 4. . B¢/ text> ’
{— G.k 4. r.8. Dosage Text #2-8 —>
<effectiveTime xsi:type="IVL_T8">
{low value="20090101"/>
¢l G.k. 4 1.4 Date and Time of Start of Drug #2-8 ——>
{/effectiveTima>
¢rowteCode code="G. k. 4. r. 10. 26" codeSystem="2. 16, 840. L, 113883, 3, 989. 2. 1. 1, 14" codeSystemVersion="G. k. 4. x. 10, 2a™>
¢1-- G.k.4.7.10. 2a: Ronte of Administration TermID Version Date / Number H2-8 —> :
(1—~ G.k. 4.1.10, 2b: Route of Administration TermID #2-8 ——>
CoriginalText?G. k. 4. r. 10. 1</original Text>
{l=—- G,k 4.1.10. 1: Route of Administration (free text) §2-8 —>
¢/routeCode>
(doseQuantity value="10" unit="G.k.4.r. 1b"/>
<]— @k 4.1 1a Dose (nuwber) #2-8 -->
" ¢l— G,k 4.r.1b: Dose (unit) H2-8 —>
<consumahle typeCode="CSM">
<inztance(fKind c¢lassCode="INST">
¢productinstancelnstance classCode="MMAT” determinerCode="INSTANCE">
¢lotMunberText>G. k. 4. r. 7{/lotNupberText>
e G. k.4.r. 7 Batch / Lot Number #2-8 —>
{/productInstancelnstance>
(kind0fProdnct classCode="MMAT" determinerCode="KIND™>
(FornCode cede="0.k 4. 1. 8 ?b" codeSystem="TBD-DoseForm” codeSystemVersion="G.k: 4.1.9.2a">
== G.k 4.r.9. 24 Pharmacentical Dose Form TermID Version Date / Number #2-8 —->
¢l-— G. k. 4. 1.9, 2b: Pharmaceulical Dose Form TermID #2-8 —>
C(originalText>G. k. 4. ¥, 9. 1{/originalText>
<l-— 6.k 4 1.8, 1: Pharmaceutical Dese Form {free text) #2-8 —>
</fornCode> ‘
<findOf Product>
{/instance0fKind>
{/consumablad
{inboundRelationship typeCode="REFR">
(ohservation classCode="0BS” moodCode="EVN">
¢code code="28" codeSystem="2. 16.840. 1. 113883, 3,889. 2. 1. 1. 19" displayName="parentRouteGfAdministration”/>
¢value xsiitype="CB” code="G.k. 4 x 1% 2b” cedeSystem="2.16. 840, 1, 113883, 3.989. 2. L. 1. 14" codeSystemVersion="G.k. 4.r.

11, 2a"> .
¢l G.k. 4.r.11. 2a: Parent Route of Administration TermID Yersion Date / Number §2-8 -—>

{}— G.k.4.1. 11, 2b: Parent Route of Administration TermId #2-8 -->
CoriginalText>G. k. 4. r. 11, 1¢/originalText>
¢l-— G. k. 4.7.11.1: Parent Route of Administration (free text) #2-8 —>
</value> !
¢/ochservation>
{/inboundRelationship>
¢/substanceAdninistration?
¢ /outboundRelationship2>
CoutboumdRelationshin? typeCode="COMP™>
¢l— G k. 4 r: Dosage and Relevant Information (repeat as necessary) #2-8 -
(substanceAdrinistration classCode="SBADM" moodCode="EVN">
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Ctext>C. k. 4. r. 8{/text>
{l— G,k 4, r. 8 Dosage Text #2-9 -—>
{effectiveTime xsi:type="IVL_TS™>
<high value="20090101"/>
<!— G.k.4.1.5: Date and Time of Last Administration #2-9 -—>
<feffectiveTime>
CrouteCode code="6.k 4. r. 10, 2b” codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 14" codeSystemVersion="0, k. 4.1, 10, 22">
<l— 6.k 4.1 10, 2a; Route of Administration TermID Version Date / Number #2-9 —->
¢}~ G.k.4.1.10.2b: Route of Administration TermID #2-9 —>
<ariginalTextd6. k. 4. r. 10. 1</originalText)
¢l—— G.%k.4.x.10.1: Route of Administration {free text) #2-9 ——>
{/rduteCode>
{doseQuentity value="10" unit="G.k 4.r Ib"/>
¢)— G.k. 4.r. 1a Dose (number) #2-9 -—>
!— 6. k.4.1.1b: Doge {unit} #2-9 —>
{consumable typeCode="CSM">
(ingtance0fkind classCode="INST">»
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
<lotNumberText>G. k. 4. r. 7</TotNumbexText>
<l— G.k.4.1.7: Bateh / Lot Number H2-9 —>
{/productInstanceInstance
<{kindOfProduct classCode="MMAT" determinerCode="KIND">

<formCode code=". k. 4.7. 9. 2b" codeSystem="TBD-DoseForn” codeSystemVersion="G.k, 4.r.9.2a">
¢l G k., 4.r.8. 2a: Pharmaceutical Dose Form TermlD Yersion Date / Number #2-9 —>
{!— 6.k 4.1.9, 2b: Pharmaceutical Dose Form TermID #2-9 ——>

SoriginelText>G. k. 4. r. 8. [{/originalText>
(=~ G.k.4.1,9.1: Pharmaceutical Dose Form (free text) #2-9 —
{/fornCode>
{/kindOfProduct)
</in5tapceOfKind)
¢{/consumahle>
{inboundRelationship typeCoda="REFR™> )
{ohservation classCode="0BS" moodCode="EVN">
(code code="28" codeSystem="2, 16.840. 1. 113883, 3,082, 2, 1, 1, 19" displayName="parentRoute0fAdninistration”/>
¢value xsiitype="CE” code="G.k. 4.1, 11,2b" codeSystem="2.16. 840, 1. 113883. 3. 989. 2. L. 1. 14" codeSystemVersion="G.k 4. 1.
11.22">
<l— G.k.4.r. 1L.2a: Parent Route of Administration TermID Version Date / Number #2-9 —»
{l— G. k. 4.r.1L.2b! Parent Route of Administration TernID #2-8 —->
{criginalText?G. k. 4 1. 11, 1¢/original Text>
(J-— G, k. 4.r.11. 1! Parent Route of Administration {(free text) #2-6 -->
</value>
</ohservation>
<{/inbotmdRelationship>
{/substanceAdministration>
¢/outboundRalationship2>
<outbhoundRelaticnship2 typeCade="COMP">
¢l-= G.k 4. r: Dosage and Relevant Information (repeat as necessary) #2-10 -3
<{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k- 4. r. B/ text>
{l-- G.k.4.r.8: Dosage Text #2-10 —>
<effectivelime xsi:type="IVL_TS">
<width value="4" unit="G. k. 4.r.6b"/>
<l— G.k. 4.1, Ba: Duration of Drug Administration (number) #2-10 —>
<}— 6. k.4.r.6h: Duration of Drug Administration (unit) #2-10 -
{/effectiveTime>
(routeCode code="G. k. 4.r.10,2b" codeSystem="2, 16, 840. 1. 113883. 3. 989, 2. 1. 1. 14" codeSystemVersion="G. k. 4.1, 10, 2a™>
¢}-— G, k.4 1 10, 2a: Route of Administration TermID YVarsiocn Date / Mumber H2-i0 —>
{)— G.k.4.1.10.2b: Route of Administration TernID #2-10 —>
<originalText>G. k. 4. 1. 10, 1</originalText> ’
¢l— G.k.4.1.10.1: Route of Adwinistration {free text) #2-10 —>
{/routeCode>
{doseQuantity value="107 unit="G. k. 4. r. 1b"/>
¢f=~ G.lk 4.r. la Dose (number) #2-10 —->
{l— G.k.4.1.1b: Doge {unit) #2-10 —>
{eonsumahle typeCode="CSM">
<instancelfKind classCode="INST"»
{productInstancelnstance classCode="MMAT" determinerCode="TNSTANCE™>
{lotNumberText>G. k. 4. r. 7¢/lotNumberText>
{l-- G,k 4, . 7: Bateh / Lot Number #2-16 —>
{/productInstanceinstance’
<kind0fProduct classCode="MMAT” determinerCode="KIND">
(formCade code="G. k. 4.r.8.2b" codeSysten="TBD-DaseForn” codeSystemVersion="G. k. 4. r.9.2a">
<}-— G. k. 4.1.9. 2a! Pharmaceutical Dose Form TermiD Version Date / Number #2-10 —-
" ¢l—- G,k 4.1 9 2b: Pharmacestical Dose Form Termil #2-10 -——>
{originalText>G. k. 4. 1. 9. 1{/originalText}
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¢l Gk 4.r. 9.1} Pharmaceutical Dose Form (fres text) H2-10 —>
{/fornCode>
{/kind0fProduct?
</instancedfKind>
{/consumable>
¢inboundRelationship typeCode="REFR™>
{cbservation classCode="0BS" moodCode="BVN">
¢code code="28" codeSystem="2. 16,840, 1, 113883, 3. 989, 2. 1. 1. 197 displayName="parentRoute0fAdministration”/>
¢yalue xsi:type="CE” code="G.k 4.r.11 2b" codeSystew="2. 16. 840. 1. 113883, 3.985.2. 1, 1. 147 codeSysienVersion="G. k. 4.1
i1, 2a">
¢l— G k. 4z 11, 2a: Parent Route of Adwinistration TermlD Yersion Date / Mumber #2-10 —>
¢l=- G.k 4. r.11. 2h: Parent Route of Administration TermId #2-1¢ —>
CoriginalText?G. k. 4.1. 11, 1</originalText?
© ¢J-- G.k.4.r. 11. 1: Patent Route of Administration (free text) #2-10 -—>
</valued
{/ohservation>
{/inboundRelationship>
{/substanceddministration>
. </outboundRelationship2>
CoutboundRelationship2 typeCode="SUMM™>
{observation classCode="0BS” moodCode="BYN™>
¢eode code="14" codeSysten="2. 15. 840, 1. 113883, 3,989, 2, 1. 1. 197 dlsplayName— cunulativeDoseToReaction” />
(yalue xsiitype="PQ” value="10" unit="G.k. 5b"/>
¢!— G.k Ba: Cumulative Dose to First Reaction (number) #2 -—>
¢!— G.k Bb: Cumulative Dose to Pirst Reaction (unit) #2 —>
{/cbservation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT">
(observation classCode="0BS" moodCode="EVN">
¢eode code="16" codeSysten="7%. 16, 840, 1. 113883, 3. 989, 2, 1, 1, 18" displayName="gestationPeriod”/>
(value xsi:type="PQ” value="10" unit="G. k. 6b"/>
<l—— G X 8a: Gestation Peried at Time of Exposure (number} #2 -
¢<|— G, %, 6b: Gestation Period at Time of Bxpostre (unit) #2 ——
</observation®
</outboundRelationship2>
¢outhoundRelationship2 typeCode="PERT">
{ehgeryation classCode="0BS" woodCade="EVN™>
(code code="31" codeSystem="2. 16.840. 1. 113883, 2, 989, 2,1, 1. 19" displayName="recurrance0ffeaction”/>
Cvalue zsiltype="CE" code="G.k.9.1.4" codeSystem="2. 16, 840, 1. 113883, 3,989, 2. 1. L. 16"/>
¢l— G. k. 9,1i. 4: Did Reaction Recur on Re-administration? Drug #2, Reaction §1 —>
<outboundRelationshipl typeCode="REFR™>
CactReference classCode="0BS” macdCode="EVN">
<id root="154eh889-058b-4512-a02f-42d4d8F4EETE"/>
</actReference>
</outboundRelationshipl>
{/vhservation>
{/outboundRelationship2>
{authoundRelationship2 typeCode="FERT">
{observation classCode="0BS" moodCode="EVH™>
<eode code="31" codeSystem="2, 16.840. 1. 113883.3.989.2.1. 1, 18" displayName="recurrance0fReaction”/>
{value xsi:type= “CE* eode="G. k. §.1. 4" codeSystem="2. 16. 840, 1. 113883, 3, 989, 2. 1. 1. 16" />
(— G.k 9. i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #2 —>
CouthotndRelationshipl typeCode="REFR">
{actReference classCode="0BS" moodCode="EVN">
¢id root="2baa28d6-cIel-406c-93e9-50860DI142207/>
{/actReference’
{/outboundRelationshipl>
{/observation>
{/antboundRelationship2y
<putboundRelationship? typeCode="REFR"> .
¢ohservation classCode="0BS” moodCode="EVYN">
(code code="9" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 11197 displayName="codedDrugInformation”/>
<value xsi:type="CE" code="G.k, 10.1" cadeSystem="2. L6. 840, 1, 113883, 3.985,. 2. 1. L. L7
¢l-- 6. k. 10.r: Additional Information on Drug (coded) (repeat as necessary} fiz-1 —
{/observation?
¢/cutboindRelationship2>
{outboundRelationship2 typeCode="REFR"> -
Cobservation classCode="0BS”" mocdCode="EVN">
<eode code="8" codeSystem="2. 15, 840. 1, 113883, 3, 989. 2. 1. 1. 19" displayNeme="codedDruglnfornation”/>
<value xsi:type="CE” code="G. k. 10.r" codeSystem="2. 16. 840, 1. 113883, 3,889, 2. 1. 1. 17 i
¢l=- G,k 10.1: Additional Information en Drag (coded) (repeat as necessary) H2-2 —
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="REFR”>
{chservation classCode="0BS" moodCede="E¥YN™>
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<cods code="2" codeSystem="2. 15, 840, L. 113883.3. 986, 2. 1, 1, 19" displayName="additionalInformation”/>
{value xsi:type="ST",G. k. 11{/value>
<J—- . % 11: Additionsl Infermation on Drug (free text) #2 ——>
</observation>
{/outboundRelationship2>
¢inbommdRelationship typeCode="RSON™>
<observation olassCode="0BS" moodCode="EVN">
<code code="19" codeSysten="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" displayName="indication"/>
<value zsi:type="CE” code="G.k.7.T.2b" codeSystem="2.16.840. 1, 113883, 6, 163" codeSystemVersion="G. k. 7.r.2a">
}-- G,k 7, 1. 2a: MedDRA Version for Indication #2-1 —>
-- 6.l 7.7.2b: Indication (MedDRA cede} #2-1 —>
<originalText>G. k. 7. 1. 1{/originalText>
¢!~ G. % 7.r.1: Indication as Repoarted by the Primary Source §2-1 ——>
</value>
<performer typeCode="PRF">
{azsignedEntity classCode="ASSIGNED"> .
(code code="3" codeSystem="2. [, 840, 1, 113883. 3. 989. 2. 1. 1. 21" displayName="sourceReporter”/>
</assighedBntity>
{/performer>
¢/ohservationy
¢/inboundRelatiohship>
{inboundRelationship typeCode="RSON">
lobservation classCode="0BS" moodCode="EVN">
¢code code="19" codeSysten="%. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 19" displayName="indication”/>
<valoe xsi:type="CE" code="G.k 7.r.2b" codeSystem="2. 16. 840. 1. 113883, 6. 163" codeSystenVersiop="G. k. 7.r.2a">
<{I== G.k.7.r.2a: MedDRA Version for Indication #2-2 ~->
¢|l-= G, k. 7.1, 2b: Indication (MedDRA code) #2-2 —>
{originalText?G. k. 7. r. 1</ariginalText>
<l-= G k 7.t. 17 Indication as Reported by the Primary Source #2-2 ——>
</value> ’
¢performer typeCode="PRF*>
{assignedBntity classCode="ASSIGNED™>
<code code="3" codeSystem="2, 16, B40. 1, 113883, 3. 989, 2, 1. 1. 21" displayNeme="sourceReporter”/>
{/agaipnedBntity>
{/performer>
{/phservation>
</inboundRelationship>
{inboundRelationship typeCode="CAUS™>
<act classCode="ACT” moodCode="EVN">
(code code="G. k. 8" codeSystem="2, 16, 84C. 1, 113583, 3, 989. 2. 1. 1. 15"/>
<1— .k 8: Action{s) Taken with Drug #2 —>
<factd
¢/inboundRelationship>
{/substancefdministration>
</component>
</organizer>
</subjectOf?>
<(zubject0fZ typeCode="SB]">
{organizer classCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2, 16. 840, 1. 113883, 3.989. 5, 1. 3. 2. 1. 11" displayName="THEROIE"/>
{component typeCode="COMP”> .
<ohservation classCode="0BS” moodCode="EVN™> .
<code code="T" codeSystem="2. 16, 840, 1. 113883. 3. 289, 5, £, 3, 2, 1, 10" displayNeme="J HB¥"/>
{value xsi!type="INT” value="1"/>
<i—— @@aT2. 13.r. 1: /AHE¥ #1 —
{/observationd
<{/component’?
<component typeCode="COMP™>
{ohservation. classCode="0BS" moodCode="EVN">
<code code="8" codeSystem="2. 16, 840, 1, 113883, 3, 989. 5. 1. 2, 2. L. 10" displayName="3}8:508" />
{value xzi!type="ED">J2.13.r.2¢/value}>
<l— @eayz. 13.v.2: HEER #1 —
{/observation>
{/component>
{component typeCode="COMF™>
(observation classCode="0B5" moodCode="EVN">
* <eode code="0" codeSystem="2. 15. B40. [. 113883, 3,989, 5. 1.3. 2. L. [0” displayName="BR384R"/>
-(value xsi:type="CE” code="J2.13.r.3" codeSystem="2.16. 840, 1, 113883, 3,989.5.1,3.2. L. 7°/>
<J— 8@672.13.1.3: FTM H1 —
{/observation>
</component> .
<component typeCade="COMP™>
{ohgervation classCode="0BS" moodCode="EYN">
<code code="10" codeSystem="2. 16. 840, 1. 113883, 3. 989, 5. 1. 3.2, 1, 10" displayName="#IEHF DEFOEE"/>
<value xsi:type="BL". value="true"/>
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¢l— @88F2. 13. r. 4 WEPOEFIOFSE 1 —
{/observation)
{/component>
{/organizery ~
</subject(f2>
<subject0f? typeCode="SB}">
(organizer classCode="CATEGORY" moodCode="BVN">
¢eode code="1" codeSystem="2.16, B40, 1, 113883.3.989.5.1.3.2,1. 117 displayName="{HEROHEE" /> .
{component typeCode="COMP™>
{ohservation classCode="0BS” maodCode="EYN">
{eode code="7" codeSystem='2,lE.E40‘1.113883.3.989.5.1.3.2.1.10” displayName="JB HRI¥"/>
¢yalue xs1:type="INT” value="1"/>
<l-- 8@8J2.13.r. 1@ [EiHmEIEE #2 —>
{/observation?
</component.?
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
Coode code="8" codeSysten="2, 16.840. 1. 113863. 3. 989.5,1.2.2. L 107 displayllame="%tHHRE"/>
<value xsiitype="ED">J2.13.r. 2¢/value>
<l— @882 18, r. 2: WHIRD #2 —
<{/observation>
</component>
Ccomponent typeCode="COMP™>
{observation clagsCode="0BS” moodCode="EYN">
¢code code="9" codeSystem="2. 16, 840, 1, 113883, 3, 989.5.1,3.2. 1. 107 displayName="FR3E4"/>
(value xsi:type="CR" code="]2,13.1.3" codeSysten="2, 16. B40. 1. 113883, 3,989, 56.1.3.2.1.77/>
<!— @8@Y2. 13.r.3: BESEAE #2 -
{/phservation?
{/component)
{component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN™>
¢code code="10" codeSystem="Z. 16, 84C. 1. 113883, 3, 58%. 5, 1. 3. 2. 1. 10" dlsplayNamef'H%“P@;‘E“%@ﬁﬂ%"/>
(yalue xsiitype="BL” value="false"/>
<|— @88J2.13.v. 4 BHAHOREHIOHFE 2 —>
¢/ohservation’
</component>
</organizer>
{/sub ject0f2>
{/primaryRole>
¢/subjectl?
{component typeCode="COMP”>
¢eausal ityhssessment classCode="0RS” noodCode="EYN">
{code code="20" codeSystem="2, 16.840,1,113883.3.989.2.1.1,19" di splayName="interventicnCharacterization”/>
¢valve xsi:type="CE" code="G.k. 1" codeSystem="2. 16,840, 1, 113883, 3. 989.2.1.1.13"/>
(l=- G, k.1: Characterisation of Drug Role Drug #1 —>
{subject? typeCode="SUBJ">
<productUseReference classCode="SBADM™ moodCode="EVN">
<id root="3c91b4d5—e039-4a7a-9c30-6T671b0ef9e4" />
{/productliseReference>
{/subject2>
<{/causalityAssessment?
{/component>
<component typeCode="COME”>
¢eansal ityAssessment classCode="0RS” moodCode="EVN™>
¢code cede="20" codeSystem="2, 16, 840.1.113883,3.989.2. 1, L, 15" displayName="interventionCharacterization "/
<value xsi:type="CE” code="G.k.1” codeSystex="2, 16.840. 1.113883.3.586.2. 1. L. 13°/>
¢<)— G.k.1! Characterisation of Drug Rele Drug #2 —->
{subject? typeCode="SUBJ">
{productliseReference classCode="SBADN” moodCode="EVE*>
¢id root="68d6fHce—3b3b—4507-92dd-69206730c329" />
</productUseReference>
<{/subject2>
{/cansalityAssessment?
{/component>
(compenent typeCode="COMP™>
(causalityAssessment classCode="0RS” mnodCode—'EVN”)
(oods code="39" codeSystar="2, 16. 840. 1. 113883. 3, 989, 2. 1. 1. 19" displayame="causality”/>
¢value xsi® type— ST >6. k. 9, i, 2. 1. 3</value>

(methodCode)

LariginalText>G. k. 9. 1. 2, 1. 2{/original Text>

¢l— G.k.9.1i 2. 1.2 Method of Assessment Drug #1, Reaction ¥1, Assessment #1 —>
</methodCode’
<author typeCoder"AUT”>

¢assignedBntity classCode="ASSIGNED">
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{code>
{originalText>G, k, 9. 1. 2. r. 1<{/originalText>
<l— G.k.9.1i.2.1. 17 Soutce of Assessment Drug #i, Reaction #1, Assessment #1 —>
{/code>
{/assignedBntity>
{/author>
<subjectl. typeCode="SUBJ">
<adverseEffectReference classCode="0BS" moodCade="EVN">
<id root="154eb889-958b—4512-202F-42d4d6T465TL" />
{/adversebffectReference’>
{/subjectl>
<{subject? typeCode="SUR]">
(productUseReference classCode="SBADM" meodCode="EVN">
¢id root="3c91hd4d5—e035-4aTa-9c30-67571b0ef9ed” />
{/productUseReference>
{/subject2>
{/causalityfissessment>
¢/camponent> )
{component typeCode="COMP™>
{ecausnlityAssessment classCode="0BS” moodCode="EVN">
{code code="39" codeSysten="2. 16, 840. 1. 113883. 3. 989, 2. 1, 1. 19" displayName="causality”/>

<value Xsi:type="ST">G.k 9.1i.2. 1. 3</vaiue>
¢l—G, k.9, 3,21 3 Result of Assessment Drug #1, Reaction #2, Assessment #1 ~—>
{methodCode>

{eriginalText>G. k 9. 1. 2. 1. 2¢/originalText>
<1—G. k. 9.1.2. 1. 2: Methed of Assessment Drug #1, Reaction #2, Assessment #i -
</methodCode’
Cauthoz typeCode="AUT™>
{assignedBntity classCode="ASSIGNED">
{code>
CoriginalTaxt>G, k, 9.1, 2, v, 1{/original Text>
(l— G.k.9.i. 2. r. |: Source of Assessment Drug #1, Reaction #2, Assessment ¥I —>
{/code>
¢/assighedEntity>
</anthor>
<{subject! typeCode="SUBJ]">
{adverseEffectReference classCode="0BS” moodCode="EVN">
¢id root="2baa28d6-cYe8-4ebe—93:9-5b8E0B3I42207 />
¢/adverseBffectReference>
{/subjectl>
{subject2 typeCode="SUBJ">
{productlseReference classCode="5BADM” moodCode="EVN">
<id root="3c891bd4d5-e039-4a7a-8c30-67671b0efGe4" />
</productUseReference>
</subjectl>
{/cansalityAssessment>
</component?
<component typaCode="COMF™>
{causalityAssessment classCode="0BS” moodCode="EV¥N">
<{code code="3G" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2, 1, 1. 19" displayName="causality”/>
<yalue xsi:type="ST">G.k. 5.1i.Z r.3¢/value>
<l=-G, k. 8,i.2. r.3: Result of Assessment Drug #2, Reaction #2, Assessment #i —>
<methodCode>

CoriginalText>G. k. 9. i.2.r. 2{/originalText>
—G. k. 9.1, 2. 1.2 Method of Asseaswent Prug #2, Reaction K2, Assessment #l —>
{/methodCode>

<author typeCode="AUT">
<assignedEntity classCode="ASSIGNEL">
<{code?
<originelText>G. k. 9, i. 2. r. 1¢/originalText>
{J— 6.k 9.1, 2.r. 1! Source of Assessment Drug #2, Reaction #2, Assessment #1 —>
</code>
{/assignedEntity)
¢/author)
<{subjectl typeCode="SUB)">
<adverseBffectReference classCode="0BS” moodCode="EVN">
<id roét="2haa?8dfcHe8-4eBc~93c9-5b860b3142207 />
{/adverseEffectReference>
</subjestl>
(subject? typeCode="SUB]">
<{productUseReference classCode="SBADM" moodCode="EVN">
<id reot="68d6f5ce~3bib~450T-92dd-69=06730¢3a07 />
</productUseReference>
{/subject2>
¢/causalityAssessment)
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</conmponent?
{component typeCode="COMP”>
¢causalityhssessment classCode="0BS" moodCode="EVN™>
¢eode code="39" codeSysten="2, 16, 840, 1, 113883, 3. 989. 2. 1. 1, 18" displayName="causality”/>
¢yalue xsiitype="ST™>G. k. 9. 1,2 r,3{/value>
<=6, k, 9. 1. 2. 7.8 Result of Assessment Drug #2, Reaction B2, Assessment #2 —
<methodCede>
<originalTextG. k. 8. 1. 2. r. 2¢/original Text>
6.k 9.1, 2.7. 2: Method of Assessment Drug #2, Reaction H2, Assessment #2 ——
{/methodCode>
<authar typeCode="AUT">
{assighedBntity classCode="ASSTIGNED™>
<{eode>
<originalText>G. k, 9. i. 2 r. 1¢/originalText>
¢l—— 6.k 9.1,2.1. 1! Source of Assessment Drug #2, Reaction #2, Assessment g2 —>
¢/eode> :
{/assignedBntity>
{/author>
¢subjectl typeCode="SUBJ™>
¢adverseEffectReference claseCode="08S” moodCode="EVN">
¢id root="2haa28d6—cIek-defc-03eI-5b860b314220" />
{/adverselffectReference>
¢/subjectl> ’
{subject? typeCode="SUB]™>
¢productlseReference elassCode="SBADH” moodCede="EVYN">
¢id root="5Bd6f5ce—3b3h—45c7-92dd-69e06730c3a9"/>
{/productlseReference>
</subject2>
¢/causalityAssessment?
{/compenent>
{component] typeCode="COMP™>
(observationBvent .classCode="CBS" maodCode="EVN">
<code code="10" codeSystew="2, 16.840. 1. 113883.3. 986, 2, 1,1.19" displayName="comment” />
<value xsi:type="ED"DH, 2{/value>
¢}-- H.2! Reporter’ s Comments —>
¢auther typeCode="AUT™>
¢assignedBntity classCode="ASSIGNED"> .
{cade code="3" codeSystem="2,16.840,1, 113883.3. 980, 2. L. L. 21" displayName="sourceReporter”/>
{/assignedBEntity>
</anther>
} {/observationBvent>
¢/component1>
{componsnt! typeCode="COMP”>
¢obgervationBvent classCode="0BS" moodCode="EVN">
<code code="15" codeSystem="2.16. 840, 1. 113883, 3,589. 2. 1. 1. 18* displayName="diagnosis”/>
Cvalue xsiitype="CE* code="H,3.r.1b" codeSystew="2 16. 840. 1. 113882, 6, 163" codeSystemVersion="H.3, r. 1a"/>
¢l— H.3.t.1a' MedDRA Version for Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction / Event BL -—>
¢J— K.3.r. 1b: Sender’ & Diagnesis / Syndrome ‘and / or Reclassificmtion gf Reaction / Event (MedDRA cods) #1 -
Cauther typeCode="AUT™> /
{assignedEntity classCode="ASSIGNED™>
¢code code="1" codeSysten="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1, 21" displayName="sendor”/>
¢/agsignedintity>
¢/author>
¢/chservationEvent>
¢/component1>
{companentl typeCode="COMP">
{observationBvent classCode="CBS” meodCode="EVN™>
(eode code="16" codeSystem="2, 16, 840, 1, 113883, 3,989, 2, 1.1. 197 displayName="diagnosi="/>
<value xsi:type="CB” code="H.3.T.1b" codeSystem="2.16.840, 1. 113883, 6. 163" codeSystemVsrsion="H. 3. 1. 12"/>
|- H. 3.1, 1a: MedDRA Version for Sender’ s Diagnosis / Syndreme and / or Reclassification of Reaction / Bvent #2 —
¢}— H.3.%.1b; Sendsr’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA code} #2 —>
<author typeCode="AUT">
(assignedEntity elassCode="ASSIGNED™> .
<code code="1" codeSystem="Z. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 21" displayNamaﬂ'sender'/)
{/azsignedBatity>
{farthory
{/chservationBrent>
</componentl>
<gomponentl typeCode="COMP™>
{observationEvent classCode="0B3" moodCode="EVN">
{eode code="10" codeSystem="3, 15, 840. 1. 113883, 3, 989, 2. 1. 1. 19" displayName="comment”/>
¢value xsi:type="ED"DH, 4¢/value) ’
¢|— H.4! Sender’s Comments —>
<author typeCode="AUT"> .
{assignedBntity classCm_iet”ASSIGNEi)”)

- 47 —



<{code code="1" codeBystem="2, 16, 840, 1, 113883, 3, 989, 2, [. 1, 21" displayName="sender”/>
¢/assignedEntity>
{/author>
{/observationEvent>
¢/componentl>
Coompohent] typeCode="COMP™>
{observationEvent classtdeﬂ'OﬂS' moodCode="EYN">
<code code="3" codeSystem="2. 16. B40. 1. 113883, 3. 684, 5. £. 3.2, 1. 10" displayName="FR_FBTIo A= AL 1"/
<value xsi:type="ED">JZ.7.2¢/value?
<I— @@eJ2.7.2: RETIHTDIAVE
¢{/chservaticnEvent>
</componentl>?
<componentl typeCode="COMP”>
{observationFvent classCode="DBS” moodCode="EVN"> .
(eode code="4" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="/{uE DM R FFE" />
(value xsi!type="ED">JZ.9{/value> ’ .
<1 @saJz. 9 WRECHMETE —
{/observationBvent>
</componentl>
<eompenentl typeCode="COMP™>
{observationBvent classCode="0BS” mocdCode="EYN">
{code code="5" codeSystem="2. 16.840. 1. 113883, 3,989, 5, 1.3, 2, 1. 10" displayName="45#& D %ti5"/>
Cyalue xsi:type="ED">J2. 10</value)
<1— @@dJz. 10: S#% ot —
</pheervationBvent)
</component1>
{componentl typeCode="COMP”>
Zobservationfrent classCode="0BS" moodCode="EYN">
{code code="6" codeSystem="2. 16.840. 1. 113883. 3. G86. 5. L. 3. 2. 1. 10" displayName="% O{hSEFIRE" />
Cvalue xeiitype="ED">JZ. 11</valued
<1— @eaJz, 11 TS EIES -
{/observationEvent>
</compenentl>
<componentl typeCode="COMP™>
{obgervationBvent classCode="0BS” moodCode="EYN™> .
{code code="12" codeSystem="2.16.840. 1. 113883. 3, 986. 5. 1. 3. 2. 1. 10" displayName="$f&ERFDOER"/,
(value xsiitype="ED">J2. 16¢/value}
<l-- @@eJz. 16: WENFECEA —>
</observationBvent>
¢/componenti>
{component) typeCode="COMP™>
{obzervationBvent elassCode="0RS” meodCode="EVN">
{code code="13" codeSystem="2. 16.840. 1. 113883. 3. 989, 5. 1. 3. 2. 1. 10" displayName="{ii#1"/>
<value xsi:type="ED*>J2.19</value>
(1— @BEYZ, 19: fEL ——>
{/ubservationEvent>
</component 1>
<componentl typeCode="COMP"> )
{ohservationEvent classCode="0BS" wocdCode="E¥YN">
{cade code="14" codeSystem="2, 16, 840, 1, 113883. % 986, 5, 1, 3. 2, 1, 10" displayName="{f§352"/>
{yalue xsi:type="ED">]JZ.20</value>
<|-- B88]2.20: fE2 —
¢/ohservationBvent>
¢/componentl>
<componentl typeCode="COMP™>
{obgervationBvent classCode="0B3" moodCode="EVN">
{code code="15" codeSystem="2. 16, 840, 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" displayName="{f§#3"/>
<value xsiitype="ED">J2. 21<{/value> .
1-- @eaJ2 21: %3 ~>
{/ehservationBvent?
{/compenentl>
<{componentl typelode="COMP™>
{observationEvent classCode="0RS” mondCode="EVYN">
{code code="18" codeSystem="2. 16.840. 1. 113883. 3. 689.5. 1. 3. 2. 1. 10" displayName="{§¥%4"/>
<value xsi:type="ED">]J2, 22</valued
¢|-- @BeJez. 22: {ii&E4 —>
{/observationBvent>
{/eomponent1>
{/adverseBventAssessment>
{/component? .
{component typeCode="COMP">
{abservationBvent classCode="0BS" moodCoda="EVN™>
<code code="1" codeSystem="2. 1. 840. 1. 113883. 3. 989. 2. 1. 1. 19” displayName="additionalPocumentsAvailable”/>
<valve xsi:type="BL” value="true”/>
<]-— €. 1.6, 1! Are Additional Documents Available? —)
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{/observationEvent>
{/ecomponent>
{component typeCode="COMP">
(observationBvent classCode="0BS" moodCode="EVN">
¢gode code="23" codeSystem="2. 16. 8B40, 1, 113883, 3,989, 2. 1. 1. 197 displayNeme=" localCriteriaForExpedited”/>
¢value xsi:type="BL" value="true”/>
¢]-~ C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? -—>
{/observationEvent>
</component>
{component typeCode="COMP™>
(observationBvent classCode="0BS" moodCode="EVN">
¢code code="36" codeSystem="2. 16.840. 1, 113883, 3,989, 2.1.1. 197 displayName="sunmaryAndComment” />
(value xsi:type="ED" language="H. 5.z, 1b")L 5. 1. lal/value>
¢(|— W 5. r. la: Case Summary and Reporter’s Comments Text #1 —>
<I— H. 5.7 1b: Case Summaty and Reporter’ s Comments Language #1 ——>
<author typeCode="AUT">
{agsignedBntity classCode="ASSTGNED">
{cods mode="2" codeSystem="2. 16, 840, 1, 113883. 3.98%. 2. 1. L. 21" displayName="reporter”/>
{/assignedEntity>
</author?
{/cbservationEvent>
{/component’?
{component typeCods="COMP™>
{observationBvent classCode="0BS” moodCode="EVN">
(code eode="38" codeSystem="2, 16, 840. 1. 113883. 3,089, 2, 1. 1. 19" disp)ayName="summaryAndComment”/> -
¢yalue xsi:type="ED* language="H.5.r. 1b">R. 5. 7. la{/value>
¢(l—- H.5.r. la! Case Summary and Reporter’'s Comments Text #2 -—
¢!— H.5.1.1b: Case Sutmary and Reporter’ s Comments Language #2 -——>
{anthor typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
¢code code="2" codeSystew="%, 16, 840. 1. 113883, 3.989, 2.1, 1. 21" dizplayName="reporter”/>
{/assignedBntity>
</author>
{/observationEvent>
¢/component?
CoutboundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG” meodCode="EYN">
¢code code="1" codeSystem="2. 16, 840, 1. 1313883.3,989. 2. L. 1. 22" dlsplayNamE— initialReport”/>
¢subject0f2 typeCode="SUBJ">
¢eontrolActEvent classCode="CACT” moodCode="EVN">
Caitthor typeCode="AUT">
{agsignedfntity classCode="ASSIGNED”>
Ceode code="C. 1.8, 2" codeSystem="2. 16, 840, 1, 113883.3.989. 2. L, 1,37/
<l-—(, 1,8 2: First Sender of This Case —>
{/assignedEntity>
{fauthor?
{/eontrolActEvent>
" {/subject0f2>
</relatedInvestigation?
{/outhoundRelationship>
¢outboundfelationship typeCode="SPRT™)
¢relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code nullflaver="Na"/>
{stthjectOf2 typeCode="SUBJ™>
{eontrolActEvent classCode="CACT" moodCode="EVN™>
¢id &xtension="C.1.10.r" reot="2.16.840.1. 113883, 3, 989.2. 1.3.2"/>

¢l-- C.1.10.1: Identification Number of the Report Which Is Linked to This Report (repeat as neecessary) #1 -—>

¢/controlAciBvent>
¢/subjectOfZ>
{/relatedinvestigation>
</outboundRelationship>
¢eutboundRelationiship typeCode="SPRI™>
crelatedInvestigation classCode="INVSTG” moodCode="EVN™>
<code pullPRlaver="HA"/>
¢suhjectOf2 typeCode="SUBT™>
{controlActEvent classCode— CACT" moodCode="EVN">
<id extension="C.1.10.t" root="2, 1. 840. 1. 113883. 5. 989. 2. 1. 3. 2"/

¢1— €, 1,10.r: Identification Number of the Report Which Is Linked to this Report {repeat as necessary) #2 —?

{fecontrolActEvent>
{/suh ject0f2>
{/relatedInvestigation>
</outboundRelationship?
<outhoundRelationship typeCode="SPRT">
(priorityNumber value="1%/>
¢le- C.2.1.5: Primary Source for Regalatory Purposes #1 —>
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{relatedInvestigation classCode="INVSTG" moodCode="EVN™>
{code code="2" codeSystem="2. 16. 84C. 1. 113883. 3.980. 2. 1. 1. 22" displayName="sourceReport”/>
CstbjectQf?2 typeCode="SUB]">
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
{assignedBntity classCode="ASSIGNED™>
<addr>
<{strestAddressLine?C, 2, r, 2. 3¢/streetAddressline)
<{— C.2.r.2.3: Reporter's Street #I —>
<city>C. 2. r. 2, 4{/city>
{l-= (. 2.r.2. 4 Heporter's City #l —
{state>C, 2. r. 2. 6</stated
<l-— €. 2.r.2.67 Reporter s State or Province #1 —>
<{postalCode>C. 2. r. 2. 6{/postalCode>
{l— C.2,1.2. 6 Reparter’ s Postcode §1 —>
</addr>
<{telecom value="tel:C.2.1.2.7"/>
{1— C.2.1.2.7: Reparter’ s Telephone #1 —
{assignedPerson classCode="PSN” determinerCode="TNSTANCE™>
<name>
{prefixnC, 2, 1, 1. 1¢/prefiz>
{l== £.2.r.1.1: Reporter’ s Title #1 -—>
{given>C. 2. r. 1. 2</given>
- Cozr 1 2 Reporter’ s Given Mame Bl -3
CaivendC. 2. r. 1. 3</givend
{l-—C 2,1, 1,3: Reperter’ s Middle Neme H1 >
<family>C. 2. 1. 1, 4</Tamily>
<¢}=— C.2.r.1.4: Reporter’ s Family Name #1 —>
¢/ namey
<asQualifiedBntity classCode="QUAL">
<code code="C. 2. r 4" codeSystem="2.16, 840.1, 113883.3,980.2.1.1.6"/>
¢l €. 2.r.4: Qualification #1 ——>
<{/asQualifiedEntity>
<{aslLocatedEntity classCode="LOCE™>
{location classCode="COUNTRY” determinerCode="INSTANCE™>
{eode code="C.2.r. 3" codeSystem="1,0, 3166.1,2.2"/>
<{]— €. 2.r. 3 Reporter’s Country Code #1 —>
</location}
¢/aslocatedEntity>
{/assignadPerson>
¢representedOrganization classCede="0RG" determinerCode="INSTANCE™>
<name>C. 2. r. 2, 2{/name>
<l— £, 2. 1,2, 2 Reporter' & Department #1 —>
<assignedBntity classCode="ASSIGNED">
{representedCrganization classCode="ORG" determinerCode="INSTANCE™>
<{nameC. 2. r. 2. 1{/name>
¢l=—C.2.r.2.1: Reporter’ s Organisation #1 —>
{/representedirganization’
{/assignedEntity>
{/represented0rganization)
¢/assignedEntity>
</author>
" {/controlActEvent>
</auhject0f2>
¢/relatedinvestigation>
¢/outhoundRelationship>
<outboundRelationship typeCode="SPRT">
{rolatedinvestigalion classCode="TNVSTG" moodCode="E¥YN">
{code code="2" codeSystem="2. 16. 840, 1, 114883, 3. 989, 2. 1. 1. 22" displayiName=" qnurceReport iy
<subjectOf2 typeCode="SUBJ"»
{controlActEvent eclassCode="CACT” woodCode="EYN"»
<author typeCode="AHT">
<{assignhedEntity classCode="ASSIGNED">
{addr>
{streetAddresslLine>C, 2, 1, 2. 3¢/streetiddressLine)
{1— C.2.1.2.3: Reporter' s Street #2 —>
<eity>C. 2.1, 2, 4</city>
<!— C 2.r,2 4! Reperter's City #2 —>
{statedC, 2. 1. 2. 6<{/stated
(l=—C,2,1.2, 6 Reporter's State or Province #2 ~>
<postalCode>C. 2. 1. . 6</postalCode>
<)— €. 2.r. 2. 6: Reporter’ s Pastecode #2 -—>
</addr>
<telecom value="tel:( 2.1.2.7°/>
¢]-- €. 2. x. 2 7 Reporter' s Telephone #2 -
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¢assignedPerson clagsCode="PSH” determinerCode=" INSTANCE” >
<name?
<prefix>C. 2.7, 1. 1{/prefix>
{l—— €, 2,r. 1. 1: Reparter’s Title #2 -->
<given)C.2.1. 1. 2{/given>
<l— C.2.r. 1.2 Reperter's Given Name #2 -—>
<givendC. 2.1, 1, 3</given>
¢l— £, 2,r. 1.3 Reporter’ s Middle Name #2 —>
(Family>C. 2.r. 1. 4</fanily>
{l== C.2.r. 1 4: Reporter’s Family Name #2 —>
{/hane>
{asQualifiedBntity classCode="QUAL">
(code code="C.2.r.4" codeSystem="2. 16. 840. 1, 113883, 3,989, 2, 1. 1. 6"/>
¢|— C.2.r. 4 Qualification #2 -->
<{/asQualifiedEntity>
<aslLocatedintity classCode="LOCE™> ‘
. <losation classCode="COUNTRY" determinerCode="TNSTANCE">
(code code="C.2.1.3" codeSystem="1.0, 3166, L. 2.2"/>
¢f— C.2.1.3: Reperter’ s Country Code #2 —>
{/location>
¢/aslocatedEntity>
</assignedPerson
{representedOrganization classCode="ORG” determinerCode="INSTANCE™>
<name>C. 2. r. 2, 2{/name>
{f== C. 2 r 2.2: Reporter’s Department #2 —>
¢assignedEntity classCods="ASSTGNED™Y
{representeddrganization classCode="0RG" determinsrCode="INSTANCE™>
<namerC, 2, v, 2. 1{/name> :
¢l— G.2.r.2.1: Reporter’ s Organisation #2 -->
</representedOrganization>
</assignedEntity>
{/representeddrganizationy
{/assignedEntity>
</author>
{/controlfictBvent)
{/subjectif2>
¢/relatedInvestigation>
¢/outhoundRelationship?
{subject0Dfl typeCode="SUB]">
(controlActEvent classCode="CACT” woodCode="EVN">
Cauthor typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
eode eode="C.3. 1" codeSystem="2. 16. 840, 1. 113883.3.989. 2. 1. 1. 7"/>
{l—— C,3.1: Sender Type —>
{addr>
{streetAddressLine>C. 3, 4 1</streetAddressLina>
¢l~-.C. 3.4, 1: Sender’s Street Address —>
{eity>C. 3, 4, 2¢/city>
<1— C.3.4.2: Bandexr’s City -
{state>C. 3. 4. 3<¢/stated
{l—— . 3.4,3: Sender’s State or Province —>
{/addr> ' :
<telecom value="tel:C.3.4.6"/>
{l— {.3.4.6: Sender’ s Telephone —2
(telecom value="fax!C 3.4 77/
{J— C.3.4.7: Sender’ 5 Fax —
(telecom value="mailto:C.3.4.87/>
<l— £, 3.4.8: Sender's E-mail Address —>
(assignedPerson clagsCode="PSN” determinerCode="INSTANCE">
<nhame>
{prefixz>C. 3. 3, 2¢/prefix>
<l— C.3.3.2: Sender's Titlo —>
<given>C. 3. 3, 3{/given>
<l— €, 3,8 3: Sender’ s Given Name —>
{givendC. & 3, 4</given?
<f— £.8.8. 4! Sender’ s Middle Name —>
<familydC. 3. 3. 54/ Tanily)y
{}— C.2.3.5: Sender’s Family Name ——>
{/name?
¢aslocatedBntity classCode="LOCE™>
¢location clagsCode="COUNTRY” determinerCode="INSTANCE">
{code code="C.3,4.5" codeSysten="1.0.3166.1.2.2"/>
<!— (.5 4.5: Sender’s Country Code —>
</location>
{/asLocatedEntity>
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{/assignedPersony
{representeddrganization classCode="0RG" determinerCode="INSTANCE">
<name>C, 3. 2{/name>
{!— €.3.2! Sender’s Organisation —»
<{/representedOrganization®
{/assignedEntity>
</author>
{primaryInformaticnRecipient typeCode="PRCP™>
<assignedBntity classCode="ASSIGNED">
CassignedPerson classCode="PSN” determinerCode="INSTANCE™>
<namey
<{prefix>J2. 18. 2</prefix>
<I— @gerz 18.2: RfFF FEE —
(family>J2. 18. 3</fanily>
T ¢l— GB@J2. 18, 3: HEE M -
<given>]J2. 18, 4</given’ . .
<!— e@wjz 18.4: ZiEAE £ —
{/mame>
</assignedPerson®
<representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<namepJ2. 18, 1{/hame>
(l-- @8gJ2. 18, 11 ZEF Mk —
{/representedlrganization>
(/assignedEntity>
{/primaryInformaticnRecipient>
{/controlictEvent>
</ auhjectOf >
<subject0fl typeCoade="SUB]™>
{controlictEvent classCode="CACT" woodCode="EYN">
<id assigningAutherityName="C. 1, 8 1.r. 1" extension="C, 1. 9.1 r. 2" root="2. 16. 840. L. 113883,3.989.2. 1. 3. 3"/>
{J-- C.1.9.1.1.1: Source{s) of the Case Identifier (repeat as necessary) #1 -
<I-- €. 1,9.1.r.2 Case Identifier(s) #1 —> .
</controlActEvent>
{/subject0f > .
{subject0fl typeCode="SUBJ">
<controlActEvent classCode="CACT” moodCode="EVN*>
{id assigningAuthorityName="C.1 9,1 r.1" extension="C, 1. 4. 1. r. 2" root="2. 16.840. 1. 113883.3.985.2.1.3.3"/>
¢]— €. 1.9.1.1.1: Source(s} af the Case Identifier (repeat as necessary) #2 —)
¢ — €. 1.9.1.r.2 Case Identifier(s) #2 ~->
{/controlictEvent)
<{/suhjectOf1>
¢subjectOf2 tyrpeCode="SUBJ">
<investigationCharacteristic classCode="0BS" moodCode="B¥N™>
<{code code="1" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2, 1. 1. 23" displayName="ichReportType”/>
{value xsi:type="CE" code="C.1.3" codeSystem="2. 16.840, 1. 113883.3,989,2,.1,1,2°/>
<|— €, 1.3 Type of Repart ——>
</investigationCharacteristic>
¢/subject0f2>
(subjectOf2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="E¥N">
{vode code="2" codeSystem="2, 15. 840, 1, 113883. 3, 989, 2, 1. 1, 23" displayName="otherCaselds”/>
(value ¥siitype="BL" value="true”/>
{]=- €.1.9. 1 Other Case Identifiers in Previous Transmissions —>
{/investigationCharacteristic>
</subject0f2>
(sthject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{gode code=”3" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2. 1. 1, 23" displayName="nullificationAmendmeniCode”/>
{value xsi:type="CE” code="C.1.11.1" codeSystem="2, 16, 840, 1. 113883, 3,980, 2, 1. 1,5"/>
¢f— C.1.11.1: Report Mullification / Amendment -—>
¢/investigationCharacteristic>
{/subject0f2>
<subjectOfZ typeCode="SUBJ]">
{investigationCharacteristic classCode="0BS” moodCode="E¥N">
(code code="4" codeSystem="2, 16.840. 1.113883.3.989. 2, 1. 1. 23" displayNeme="nullificationAmendmentReason”/>
{value xsi!type="CE™>
{ariginalText>C. 1. 11. 2{/original Text>
¢}— C.1.11. 2! Reason for Mullification / Amendment —>
</valued
{/investigationCharacteristic»
{/subjectOfd>
CaubjoctOf? typeCode="3UB]">
{investigationCharacteristic classCode="0B3" moodCode="EVN">
(code code="1" codeSysten="2. 16, 840, 1. 113883, 3. 989. 5. 1. 3. 2. 1. 12" displayName="5BUES (BEMR ",
{value xsittype="CE” code="]2. 1a” codeSystem="2, 16.840.1, 113883, 3,989,5,1,3.2.1,1"/>

- B2 —



<1-- e@aJz. 1a: ERRUEE (BESH)
{/investigationCharacteristicy :
{/subject0f2> '
<subjectOf2 typeCode="SUB]™>
(investigationCharacteristic classCade="0BS” moodCode="EVN">
{code code="2" codeSystem="2. 16, 840, 1.113883.3,986,.5.1.3. 2. 1. 12" displayName="$t5#2H H"/>
<value xsiztype="15" value="20130107"/>
<— 6@@y2.2.1: @WEREY —
</investigationCharacteristic>
{/subject0f2>
{subjectDf2 typeCode="SURJ">
¢investigationCharacteristic classCode="0BS” moodCode="EVN">
‘eode code="3" codeSystem="2_ 18, B40, 1, 112883.3.989. 5. 1.3, 2. 1. 12" displayName="#&REACETIZ AL}/
{value xsiitype="ED">JZ. 2 2</valued
b peaJ2. 2.2 ERF AT S oAV 2
{/investigationCharacteristic>
¢/subjectOfZ>
¢subject0f2 typeCode="SUB]">
¢investigationCharacteristic elassCode="0BS" moodCode="EVN">
Ceode code="4" codeSystem="2.16. 840. 1. 113883, 5, 989. 5. 1. 3. 2. 1. 12" displayNane="BIRFE 7 7 77/
Cvailte xsiitype="CE” code="J2,3" codeSystem="2.16.840.1, 713883, 3.989. 5. 1. 8.2, 1.27/>
<|-- @88y2.3: EpMRET S X —
</investigationCharacteristic>
{/subjectOf2>
{subjectOf2 typeCode="SIB]™>
{investigationCharacteristic classCode="0BS" moodCode="EVN">
{oode code="5" codeSystem="2, 16, 840. 1. 113883. 3,989, 5,1, 3, 2. L. 12" displayNeme="3$R% BN 7 7 270
(value xsi:type="CE” code="J2.8. 1" codeSystem="2, 16.840. 1. 113883. 3. 989, 51.3.2.1.6"°
<l-- ggaJe. 8. 1 WEX@HN T TS —
{/investigationCharacteristic>
¢/subjact0f2>
¢subjectdt? typeCode="SURT >
¢investigationCharacteristic classCoda="0BS" macdCode="EVN">
<code code="6" codeSysten="2, 16, 840. 1. 113883, 3, 689. 5. 1. 3, 2. 1. 12" dizplayName="$R 50} G5t MR />
(value xsi:type="BD">]J2, 8. 2{/value>
<\ g@8J2. 8. 27 HSHESORE —
{/investigationCharacteristic?
{/subjectlfa>
{/investigationEvent>
</subject>
</controlActProcess>
</PORK_IN048016UV>
{l—- Message #1 ——>
<l—— Message #2 —>
<l—- PORR_IND49016UV —>
¢|— /PORR_ING49G16UV —>
<|-- Message #2 —>
{receiver typeCode="RCV™>
¢device classCode="DEV” determinerCode="INSTANCE">
<id extension="N, 1.4" roct="2.16. 840, 1. 112883.3.989.2.1.3. 14" />
¢l— N.1.4: Batch Receiver ldentifier -—>
fdevicey -
¢/receiver>
<sender typeCode="SND">
{device classCode="DBY” determinerCode="TNSTANCE™>
<id extension="N.1.3" root="%, 16, 840, 1. 113883. 3, 989.2. 1. 3, 137/
¢l-— N. 1. 3: Batch Sender Identifier .—>
¢/devicey
</sender>
</MCCL_IN2601000V01>
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MLBRA A% 2 (HIFEiRE)

<%xml version="1.0" encoding="UTF-8"7> ‘
<MCCI_IN200100UV01 ITSVersion="¥ML_L. 0" xsi:schemaLocation="urn:hl7-org:v3 NCCI_INZ60100UY0L, xsd” xmlns="urn:hl7-org:v3” xmlns:xsi="http://www, w3, org/
2001/¥MLSchema—instance”>
<id extension="N.1.2" root="2.16, 840, 1. 113883, 3.989.2.1,3.22"/>
<I=— M, 1,2: Batch Number ——>
CcreationTime value="201012141516177/>
<l-~ N.1.5: Date of Batch Transmission —>
<responseModeCode code="D"/>
(interactionId extension="MCCI_INZ0O1DOUVOL” root="2.16.840. 1. 113883. 1.6"/>
<name code="N.1.1" codeSystem="2.16.840. 1. 113883. 3.988.2.1.1.1*/>
<[~ N.1.1: Type of Messages in Batch —>
{1-- Message H1 —>
<PORR_ING45018UYV>
<id extension="N.2.r.1" root="2.16.840. 1. 113883.3.989.2. 1.3.1"/>
(I— N.2.r. 1! Message ldentifier —>
{creationTime value="201012:4151617"/>
{l-—— N.2.r.4: Date of Message Creation —>
<¢interactionld extension="PORK_INO49016UY" root="2. 16. 840. 1. 113883. 1. &"/>
{processingCode code="P"/>
<processingModeCode code="T"/>
{acceptickCode code="AL"/>
{receiver typeCode="RCY™>
<device classCode="DEV" determinerCode="INSTANCE">
<id exlension="N. Z.r.3” root="I 16, 840, 1. 113883, 3, 988, 2. 1. 3, 12"/>
|- N.2.1r.3: Hessage Receiver Identifier —> - \
/device>
<freceiver>
{sender typeCode="SND">
{device classCode="DEV” determinerCode="INSTANCE">
<id extensien="N, 2.r.2" root="2.16.840.1.113883.3.989.2.1. 3. 11"/>
¢!— N.2.r.2: Message Sender ldentifier ——>
{fdeviced
</gender>
<econtrolActProcess classCode="CACT” moodCode="EVN">
{code code="PORR_TEC49C16UY" codeSystem="2. 16, 840. 1. 113883. 1. 18"/>
<!-= HL7 Trigger Event ID ~=>
CeffectiveTime value="201012141516177/>
(|— C.1.2: Date of Creation ——> ) .
{subject typeCade="SUBT™>
<investigationBvent classCode="INVATG” moodCode="RVN*>
<id extension="C.1.1" root="2.16. 840. I. 113883.3.989.2. 1. 3. 1"/
<]— €. 1.1: Sender’s {case) Safety Report Unique Identifier —>
<id extensien="C. 1, 8, 1" root="2, (6, 840, 1, 113883, 3,989, 2, 1.3, 2" />
¢1— £, 1,8.1: Worldwide Unique Case Identification Number —>
<id extension="J2.1b" reot="2, 16.840. 1. 113883, 3.989.5.1,3.2. 3. 1*/>
- @BAJ2. 1b: FERIES (FR) —
<code code="PAT_ADV_EVNI” codeSystem="2, 16. 840, 1. 113883, 5.4"/>
{textrH. 1</text>
¢{~~ %, 1: Case Nerrative Including Clinical Course, Therapeutic Heasures, Outcome and Additional Relevant Information -—>
(statusCode code="active”/>
(I-- 888]2.7.1 T, RETERS —
{effectiveTime>
(low value="20090101"/>
{l-- €. 1,4: Date Report Was First Received from Source —>
{/effectiveTime>
<availabilityTime value="20090101"/>
<|— C.1.5: Date of Most Recent Informaticn for This Report -->
{reforance typeCode="REFR">
<document classCode="DOC” moodCode="EVN">
<code code="2" codeSystem="2. 16. 840. 1, 113883. 3.989. 2. 1. . 27" displayNane="1iteratureReference”/>
{title>J2. 17, r</title> :
<l @gagz. 17.r B/ AR #l — =
<text mediaType="application/pdf” representation="B84">C. 4. r. 2¢/textd
<I-="C. 4, r.2: Included Documents #1 —> .
¢hihliographicDesignationText>C, 4, r, 1</bihliographicDesignaticnTaxty?
¢l-- C. 4,1, 1! Literature Reference(s) #! ——>
{participation typeCode="AUT">
{assignedBntity classCode="ASSIGNED™>
(representedirganization classCode="0RG" determinexCode="INSTANCE™>
{agLocatedBntity classCode="LOCE™>
{location classCode="COUNTRY” determinerCode="INSTANCE">
<{code code="J2,15.r" codeSystem="1,0. 3166, 1.2, 27/
<I— @eajz. 15.r AFE # -
{/location?
{/aslocatedBntity>



{/represented0rganization>
{/assignadBntity>
{/participation>
{/document>
¢/reference’
{reference typeCode="REFR">
¢documeni classCode="DOC" moodCode="EYN">
(code code="2" codeSystem="Z. 16,840, 1,113883.3.989.2.1. 1.27" displayName="1literstureReference”/>
Ctitled]2. 17 x{/title>
- @aaJe. 17, r B/ RO #2 —>
(text mediaType="application/pdf” representation="B64">C.4.1. 2¢/text>
<l== ¢, 4,r.2: Included Dociments 2 —>
¢hibliographicDesignationText>C. 4. . 1{/bibliographicDesignationText>
_(I—— C.4.r.1: Literature Referonce (s} #2 ——>
<participation typeCode="a1">
{assignedBntity classCode="ASSIGNED™>
{representedOrganization classCode="0RG” determinerCode="INSTANCE">
{asLocatedBntity classCode="LOCE™>
¢location elassCode="COUNTRY” determinerCode="INSTANCE™>
<eode code="J2. 15.¥” codeSystem="1. 0. 3166. 1.2.2"/>
{|-- @g@Jz. 15. r AXKE H#2 —>
</locationd
</aslocatedEntity>
¢/representeddrganization> .
{/assignedEntity>
{/participation> '
{/document>
{/reference?
{component typeCode="COMP™>
<adverseFventAssessment ¢lassCode="TNVSTG” moodCode="EVN™>
<sttbject] typeCade="SB]™>
<primaryRole classCode="INVSBI">
{playerl classCode="PSN" determmerCcde—"INST.‘\NCE'/)
¢subjectOf] typeCode="SBI"> .
{researchStudy classCode="CLNTRL” moodCode="EVN">
¢id extension="C.5. 3" root="2. 16. 840, 1. 113883, 3. 986. 2. 1. 3. 57/
<l-- C.5.3! Sponsor Study Number —>
¢code code="C. 5. 4" codeSystem="%. 16, 840. 1. 113883.3.989.2. 1, 1,8 el
¢!~ C. 5.4 Study Type Where Reaction(s) / Event{s) Were Observed -—>
{LitledC. 5, 2¢/title>
<l— C. 6. 2: Study Name —>
¢authorization typeCode="AUTH™>
{studyRegistration classCode="ACT" meodCode="EVN">
<id extengion="C.5.1.r.1” reot="2, 16.840, 1, 113883, 3,689, 2, L. 3. 67/
¢l-- C.6.1,1.1: Stedy Registration Number Bl —>
<author typeCode="AUT™>
¢territorialAuthority classCode="TERR™>
{governingPlace elassCode="COLNTRY” determinerCode="INSTANCE™>
<code code="C,5.1.T.2" codeSystemw="1.0, 3166.1.2.2"/>
¢l—~ G5, 1.1.2! Study Registration Ceuntry #i1 —>
{/governingPlace) .
{/territorialAuthority>
¢/author>
¢/studyRegistration?
</authorization>
Cauthorization typeCode="AUTH">
<studyReglstrat1un classCode="ACT” moodCode="EVN">
<id extension="C.5, 1, r.1” root="2. 16,840, 1, 113883. 3. 989, 2 13,67/
¢l-- €. 5 1, 1.1 Study Registration Number 2 ——>
<auther typeCnde— AUT">
{territorialAuthority classCede="TERR">
{governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
¢code code="C. 5. 1.r.2" codeSystem="1.0.3186. L, 2. 2"/>
(== €. 5. 1. v 2: Study Registration Country #2 —>
{/governingFlace>
¢/territorialiuthority>
(/author>
{/studyRegistration>
{/authorization>
{/researchStudy>
{/subject0fl>
(subjectDE2 typeCode="SB]">
<organizer classCode="CATEGORY” moodCode="BEVN">
¢eode code="4" codeSystem="2. 16, 340, 1. 113883, 3. 98%. 2. 1. 1. 2¢” displayName="drugInformatien”/>
¢— 6.k Drug(s} Infermation (repeat as necessary) #1 —>
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<component typeCode="COMP™>
{stbstanceAdministration classCode="5BADM” moodCode="EVN">
<id root="3c81b4d5-e039-4a7a-5c30-67671b0ef0ed” />
{congumable typeCode="CSM">
<instaneeOfKind classCode="INST">
<kind0fProduct classCode="MMAT” determinerCode="KIND">
(code code="G. k. 2. 1.1b" codeSystem="TBD-MPID"/>
{|— 6.k.2. 1. 1b: Medicinal Product Identifier (MPID} #1 -->
<name?G, k. 2. 2</name>
<I— 6.k 2.2 Medicinal Product Name as Reported by the Primary Source #1 —>
<asManufacturedProduct classCode="MANU">
<subjectOf typeCode="SBJ*>
Capproval classCade="CNTRCT” moodCode="EVN">
<id extension="G.k.3. 1" root="2.18. 840. 1. 113883. 3.989. 2. 1. 3. 4" />
<l-- G.k 3.1: Authorisation / Application Number #1 —>
{author typeCode="AUT™>
{territorialduthority classCode="TERR">
{territory classCode="NAT” determinerCode="INSTANCE">
<code code="G,lk, 3, 2" codeSysten="1, 0, 3166, 1,2, 2"/
{J= G.k 3. 2: Country of Authorisation / Application #1 —
{/territory>
{/territorialduthority>
{/author>
{pertinentInformation typeCode="PERT">
<{policy eclassCode="POLICY” moodCode="EYN">
{code code="J2. 5. k" codeSysten="2. 16. 840, 1. 113883.3.989.5.1. 2.2, 1.4"/>
<I— 2g8Jz. 6.k —BRAEFRLEOU AT ESE #H —
{/poalicy>
¢/pertinentInformation>
</approval?
" {/subjectOf>
<subjectOf typeCode="SB]">
{characteristic classCode="0BS" moodCode="EVN">
<code code="1" codeSystem="2, 16, 840, 1, 113883, 3, 986. 5. 1. 3. 2. 1. 10" displayName="#HERELE OWRERES" />
(yalue xsi:type="CE” code="J2.4.k" codeSystem="2. 16, 840, 1, 113883.3.98%,5,1, 3.2, 1,3%/>
<1 @gayz. 4. k: FHERESEOREES #1 —>
¢/characteristicy
</subject0f>
{/asManufacturedProduct)
<asSpecializedKind classCode="GEN">
<generalizeddaterialKind classCode="MAT" determinerCode="KIND™>
{code>
{originalText>]2. 12<{/originalText>
<I-- 82Tz 12: EBESEE —
{/code>
¢/generalizedMaterialKind>
{/asSpecializedKind>
{ingredient classCode="ACTI">
<ingredientSubstance clsssCode="MMAT" determinerCode="KIND">
<code eode="G., k, 2, 3, 1. 2b” codeSystem="TBD—Substance”/>
{]-- 6.k 2.3.r.2h! Substance / Specified Substance TermlD #1-1 —>
<nameG. k. 2. 3. r. 1</nane>
<l G.k.2.3.1. 17 Substance / Specified Substance Name #1-1 —>
{/ingredientSubstance>
<fingredient?
{ingredient classCode="ACTI™> -
<{ingredientSubstance classCode="MMAT" determinerCode="KIND">
<code code="G, k 2. 3.r. 2b” codeSystem="TBD-Substance”/>
<}— G,k 2 3.1 2b: Substance / Specified Substance TermID #1-2 —>
<name>G. k. 2. 3, r. 1</name> ) :
<l— .k 2.3.r.1: Substance / Specified Substance Name #1-2 —>
{/ingredientSubstance)
{/ingredient>
</kindOfProduet>
(subjectOf typeCode="SB]™>
{observationBvent classCode="0BS" moodCode="EVN">
{code code="2" codeSystem="2, 16, 840, 1, 113883, 3, 986. 5. 1. 3. 2. 1. 10" displayName="—f% HER L O AFEE"/>
(value xsi:type="CE” code="JZ.6.k” codeSystem="2. 16, 840, I, 113883, 3,980,5, 1. 3. 2. 1. 5"/>
<l— @8872. 6. k: —RAERLOAFER # ~>
</ohservationEvent>
</subject0f>
</instancedfKind>
{/consumable>
{/substanceddministration>
{/component?



{/organizer?
</subi ject0f2>
{subjectDf2 typeCode="SBI">
{organizer classCode="CATEGORY" moodCade="BVN">
¢code code="1”" codeSystem="2. 16, 840, 1. 113883, 3.989.5.1.3.2. 1. 11" displayName="TBERDIE"/>
<component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
¢eode code="T" codeSystem="2. 16, 840, 1. 113883, 3, 980, & 1. 3.2, L. 10" displayName="1F HEIE"/>
<yalue xsiitype="INT" value="1"/>
¢l-- g@eJz. 13.x. 1: BHMEE #1 —>
{/ohservation?
{/component>
{component typeCode="COMP*>
¢ohservation classCode="0RS" moodCode="EVH">
¢code code="8" codeSysten="2. 16,840, 1. 113883, 3. 989. 5. L. 3. 2. L. 10" displayRame="5} RRH"/>
(value xsi:type="ED">]JZ. 13, r, 2¢/valued
<|-- @@eJz 13.». 2 WHKH H1 —
{/observation?
</component>
<component typeCode="COMP”>
¢ohservation classCede="0BS” moodCode="EVNT>

(eode code="9" codeSystem="2, 16, 840. 1. 113883.3.989.5.1. 3.2, 1, 10" displayName="FAZEIR" /)
(value xsi!type="CF" code="J2.13.1.3" codeSystem= "2, 16, 840. 1. 113883, 3,989, 5. 1,3, 2. 1. 77/
J— @egJz. 13.r. 30 FAFEAR H#1 >
¢/obsarvation>
¢/component>

{component typeCade="COMP™>
¢ohservation classCode="0R5" moodCode="EYN™>
¢code code="10" codsSystem="2. 16. 840, 1, 113883, 3.989.5. 1, 3, 2. 1. L0 displeyName="REENOEROHE"/>
{value xsi!type="BL™ value="true”/>
<l— oeaJ2. 13 r. 4 BEFOENOTE #1 —
</phservationy
{/component>
{/organizer>
</subjectOf2>
<subject0f2 typeCods="5B]">
{organizer elassCode="CATEGORY” moodCode="EVN"> -
<code code="1" codeSysten="2Z, 16, 840. L. 113882, 3.989.5.1. 3.2, 1, 11”7 displayName="{4E )RR E" />
<component typeCode="COMP™>
{observation classCode="OBS” mocdCode="EVN™>
Ceode code="T" codeSystem="2, 16, 840, 1, 113383, 3. 889. 5. 1. 3, 2. 1, 107 dlspl‘lyName— fEHE />
(value xsi!type="INT" value="1"/>
- @8dJ2, 13,1, 1: BB 42 —
</ohgervation?
¢/component>
<component typeCode="COMP">
{observation classCode="0B3" moodCode="EVN">
Coode code="8" codeSystem="2. 16. 840, 1. 113883, 3. 989. 5. 1. 3. . L. 10" displayNane="3d S5/ />
C(yalue xsi:type="ED">J2, 13.r. 2{/value>
<I-- @8632. 13.x.20 WERB W2 —
(/ohservation;
{/component>
{compenent typeCode="COMP™>
{chservation classCode="08S" moodCode="EVN">
{eade code="9" codeSystew="2, 16, 840, 1, 113883. 3. 888, 5. L. 3. 2. L. 10”7 displayName="FBFEFH"/>

{vyaiue xsi!type="CE” code="]Z, 13.1.3" codeSysiem="2, 16, 840.1. 113883.3.989.5.1.3.2. L, hafss
(l-— geeJ2, 13. 7. 37 FIFIE #2 -
{/observation>
{/component>

{component typeCods="COMP">
{observation classCode="0BS" mocdCode="EVN">
“Coode oode="10" codeSysten="2, 16. 840. 1, 113883. 3. 989. 5. 1. 3. 2. 1. 10" displayName="H 3P OREMOFMR"/>
(value xsi'type="BL" value="false”/>
<J—- @8@J2.13. 1. 4 WEPOEHIOFTM B2 >
{/observation>
{/component)’
{/organizer>
{/sub jectOF2>
{/primaryReled>
¢/subjectl?
<componsntl typeCode="COMP">
{observationEvent classCode="DB8" moodCode="EVN">
<oode code="10" codeSystew="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" displayName="comment”/>
<value xsi:type="ED">H. 4</value>
(|- H, 4: Sender’s Comments ——>



¢author typeCode="AUT">
{assignedEntiity classCode="ASSIGNED">
{code code="1" codeSystem="2. 16, 840. 1. 113883, 3. 989, 2.1.1. 21" displayName="sender”/>
{/assignedEntity>
</author>
{/observationBvent>
<{/componentl>
{component! typeCode="COMP">
CobssrvationEvent classCode="0R3" moodfode="EVN">
(code code="3" codeSystem="2. 16. 840. 1. 113883, 3, 980.5, 1, 3. 2, 1, 10" displayName="RETIC T A 7/
{value xsi:!type="ED">J2.7.2¢/value>
I— 2@8J2.7.2: RETKRTHIALF —>
</ohservationEvent)> .
{/componentl)
<componentl typeCode="COMP”>
{ohservationBvent classCode="0BS" macdCode="EVN">
{code code="5" codeSystem="2.16.840. 1. 113883, 3,986, 5. 1. 3. 2. 1. 10” displayName="4O3I5" />
<value xsi:type="ED">J2, 10<{/valued
<|— @aaJ2. 10: % DHE —
{/observationBvent>
</componentl>
<componentl typeCode="COMP™>
<observationBvent classCode="0BS” moadCode="EVN">
{gode code="6" codeSystem="2, 1A. 840. 1. 113883, 3. 980. 5. 1. 3.2, 1. 10” displayName="-F D {hBEFIFLE"/>
<value xsi:type="BD">J2. 11</value)> :
<l— e@ajz i1: FO{EBEEESF —>
{/observatienBvent>
{/component1>
{componentl typeCode="COMP">
{ohservationEvent classCode="OBS” moodCode="EVN">
<code code="12" codeSystem="Z.16. B40. 1. 113883.3.989.5. 1.3, 2, 1. 10" displayName="$%MEDEAL" />
<value xsi:type="ED">J2. 16¢/value>
<l— @8ej2. 16: MERFOER —
{/observationEvent>
{/pompanentl>
{/adverseBventAssessment>
{/companent>
{component typeCode="COMP™>
<observationEvent classCode="0BS” moodCode="EVN">
{code code="23" codeSystew="2, 15, 840. L. 113883. 3.989. 2. 1. 1. 19" displayName="1ocalCriteriaForExpedited”/>
<value xsi:type="BL” value="true”/>
¢}=~ C.1. 7! Does This Case Fulfil the Logal Criteria for an Expedited Report? --»
{/ohservationEvent?
</component>
<outboundRelationship typeCode="SERT">
¢relatedInvestigation classCode="INVSTG&" moodCode="EVN"}>
{code code="1" codeSystem="2.16.840. 1. 113883. 3. 98%. 2. 1. 1. 22" displayName="initialReport”/>
<subject0f2 typeCode="SUBJ]">
<eontrolActfivent classCode="CACT” moodCode="EVN">
<(auther typeCode="AUT">
<¢assignedBntity classCode="ASSIGNED">
{eode code="C, 1,8, 2" codeSystem="2. 16. 840. 1. 113883.3.980.2,1. 1.3 />
¢l— €.1.8.2: First Sender of This Case -
{/assignedEntity>
{/author>
{/controlActEvent>
</subject0fZ>
{/relataedlnvestigation>
{/outhoundRelationship>
{outboundRelatiohship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG” moodCode="E¥N">
<code nullFlavor="NA"/>
<{subjectdf2 typeCode="SUB]">
<controlActEvent classCode="CACT” mocdCode="EVN">
<id extension="C, 1, 10.x" reot="2. [6. 840, 1. 113883. 3. 989. 2. 1. 3. 2"/>
¢!-— € 1.10.r! Identification Number of the Report Which Is Linked to This Report (repeat as necessary} #i —>
{/eontrolActEvent> :
(/subjectﬁf?l)
¢/relatedInvestigation>
{/outhoundRelationship)
<outhoundRelatienship typeCode="SPRT">
<relatedInvestigation classCode="INYSTG" mocdCode="EVN">
<code nullFlavor="NA"/>
<zubject0f? typeCode="SUBJ">
{controlictBvent classCode="CACT" moodCode="EVN"}



¢id extansion="C.1.10. 1" rooct="%2. 16, 840.1. 113883,3, 689.2.1.3.2"/>
¢!=- C.1,10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary)
</cnntrolﬁctEven‘E>
{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<gubjectOfl typeCode="SUBJ">
<controlActBvent classCode="CACT" meodCode="EVN™>
<author typeCode="AUT™> ’
<assignedEntity classCode="ASSIGNED™>
<addr>
{streetAddressLinedC. 3. 4. 1</streetAddressLine?
¢l-- G, 3, 4,17 Sender’ s Street Address ——>
{eity>C. 3. 4. 2¢/city>
(e 23, 4. 20 Sender’ s City -—>
{statedC. 3. 4. 3{/stated
¢l-= C.3.4, 3! Sender’ s State or Province —>
{/addr>
{assignedPerson classCode="PSN” determinexrCode="INSTANCE™>
<nama>
<prefix>C. 3, 3, 2¢/prefix>
<l— €.3.3.2: Sendex’s Title —>
<given>C. 3. 3, 3¢/given>
¢}— €.3.3.3: Sender's Given Name ——>
<{given>(. 3. 3. 4¢/given)
(!— C.3,3, 4! Sender’ s Middle Name ~—
<family>C. 3. 3, B<¢/Tamily>
{]-~ C.3.3.5: Sender’ s Family Name —>
{/name>
<aslocatedEntity classCode="LOCE">
(location classCode="COUNTRY” determinerCode="INSTANCE">
{code code="C, 3, 4,5” codeSystem="1.0. 3166, 1.2.2"/>
¢!—- C,3,4,6: Sender’ s Cotntry Code —>
</location>
(/aslLocatedEntity>
{/assignedPerson>
{representedOrganizatien classCode=" DRG determinerCede="INSTANCE™>
<(name>C. 3. 2</name>
<}— (. 3.2 Sender’ s Organisation —>
¢/representedOrganization
</assignedBntity>
</author>
{/controlidctEvent?
¢/subject0f1>
CsubjectOfl typeCode="SUBJ">
<contrelActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityMame="C. 1.9, 1. 1,1” extension="C.1.%.1.r.2" root="0 16,840, 1, 113882, 3.989,2.1,3,37/>
c¢l== €, 1.9, 1.r.1: Source(s) of the Case Identifier {repest as necessary) #l —>
<l— ¢.1.9. 1. 1.2 Case Identifier(s) #1 ——>
</contralActBvent>
<{/subjectCfl>
¢stibject0f1 typeCode="SURI">
(controlActBvent classCode="CACT” mocdCode="EVN">
.<id assigningAuthorityName="C.1.9.1.r. 1" extension="C.1,9, L. r. 2" root="2.16. 840. 1. 113883, 3, 989, 2.1,3.3"/>
<l=— ¢, 1,8,1,1.1: Source(s) of the Case Identifisr (repeat as necessary) #2 —>
¢|— £.1.9.1. 1.2 Case Tdentifier(s) #2 —>
{feontrolActBvent> )
</subjectdf1>
<subject0f2 typeCode="SUBJ">
¢investigationCharacteristic classCode="085" moodCode="EVN™>
" ¢ecede code="1" codeSystem="2. 18. 840. 1. 113883, 3. 989, 2. 1.1, 23" displayName="ichRepertType” />
(value xzeiitype="CE” code="C.1.3" codeSystem="2. 16,840, 1, 113883.3.989.2.1.1.2"/>
¢!— C, 1,3 Type of Report —>
</investigationCharacteristic>
</subject0fZ>
<subject0f? typeCode="SUBI">
{investigationChatraeteristic classCode="0BS” moodCode="EVN">
¢code code="2" codeSysten="2. 16, 840, 1, 113853, 3. 989, 2. 1. 1. 23" displayName= “otherlaselds” />
{value xsi:type="BL" value="true"/>
<l— €.1,9.1 Other Case Identifiers in Previous Transmissions -ﬁ>
{/investigationCharaeteristic>
(/subject0f2>
<sub ject0f2 typeCode="SUB]">
(investigationCharasteristic classCode="08S" moodCode="EVN">
{code code="3" codeSysten="Z, 16. 840, 1, 113883, 3, 989, 2. 1. 1. 257 dlsplayName- “nul lificationAmendmentCode”/>

-8 -

#2 —>




<value xsi!type="CE" code="C.1.11.1" codeSystem="2. 16. 840, 1. 113883, 3, 98¢, 2, 1, 1,5"/>
<!— €.1.11.1: Report Nullifiecation / Amendment —>
{/investigationCharacteristic
{/subject0Of2>
{subject0fZ typeCode="SUB]">
<{investigationCharacteristic classCode="0BS” moodCode="EVN™>
{code code="4" codeSystew="2. 16. 840, 1, 113883, 3, 689, 2. 1. 1. 23" displayName="nullificationAnmendmentReason”/>
{value xsi:type="CE™>
{originalText>C. 1. 11. 2</originalText>
{}— C.1.11. 2: Reasen for Nullification / Amendment —>
</value>
¢/investigationCharacteristic>
</subject0fa>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883 3,080, 5 1.3.2 1. 12" displayName="RRBIZH S (/&) "/,
{value xsi:type="CE" code="]2, 1a” codeSystem="2. 16.840. 1, 113883.3.989, 5. 1.3.2. 1. 1*/>
<I— ggeJz. 1a: MAIEE (HEasHE —
<{/investigationCharacteristic>
</eubjectdfz>
¢subject0f2 typeCode="SUB]">
{investigationCharacteristic classCode="0BS” moodCode="EVN"} .
<code code="2" codeSystem="2. [6.840. 1. 113883.3.989.5.1. 3. 2. 1. 12" displayName="$1$128 B />
{value xsi’type="T8" value="20130157"/> ’
<l-— ggaJz. 2,10 MERER —
{/investigationCharacteristic)
</subject0f2>
<subject0f2 typeCode="SUBJ™>
{investigationCharacteristic clagsCode="0BS" meadCode="EVN">
{code code="3" codeSystem="2, 16. 840, 1. 113883, 3,989, 5, 1.3, 2. 1. 12" displayName="#iSHH HIcPl3B = A 17N
Cvalue xsi:!type="BD7>J2.2. 2{/value>
<1-- @8aJz.2.2; MEBFPICPTEaALF —
{/investigationCharacteristic>
{/subject0f2>
{/investigationEvent}
<{/subject>
{/controlActPracess>
{/PORR_INC49016LY>
{l— Message #1 —>
¢!— Message #2 —>
<!-- PORR_INO4S0I60V —->
<I-— /PORR_INO490160Y —>
{]-- Message #2 —>
{receiver typeCode="RCV™>
{device classCode="DEV” determinerCode="INSTANCE™>
<id axtension="N. 1. 4" root="2, 16. 840. |. 113883. 3. 889. 2. 1. 3. 14"/>
<!— N. 1. 4: Batch Receiver Identifier —>
{/device>
</receiver>
<{sender typeCode="SND">
{device elagsCode="DEV” determinerCode="INSTANCE™>
<id extension="N.1.3" root="2. 16.840.1.113883.23.989,2,1,3,13"/>
<!— N.1.3: Batch Sender Identifier -~
{/device>
{/sender>
{/MCCT_IN200100UV0L>



XMLBBA v AF A (SHEHERE)

¢l version="1, 07 encoding="UTF-8"7>
<MCCT INZDO100UV01 ITSVersion="YML_1.0" xsi:schemaloeation="urn:hl7-orgiv3 MCCI_TN200100UV0L. xsd” xmlns="urn:h17-org:v3” xmlnsixsi="http://www. w3. org/
2001/XMLSchema-instance™>
¢id extension="N, 1. 2" root="2, 16,840 1,113883.3.986.2.1.3, 2"/
{I— N.1.2: Batch Number —>
{creationTime value="20101214151617"/>
¢l— N.1.5: Date of Batch Transmission —>
<responseliodeCode code="1"/>
¢interactionld extension="MCCI_IN2001000VO1" root="Z.16. 840, 1. 113883, 1. 8"/>
(name code="N.1.1" codeSystem="2. 16. 840, 1. 113883, 3,089.2.1.1.17/>
{{=- N.1.1! Type of Messages in Batch —>
<l—— Message #1 —>
{PORR_1INO49016UV>
¢id extension="N. 2,r.1” root="1. 16.840. 1.113883.3.98%.2. L.3.1°/>
<l— N.2.r.1: Hessage Identifier —>
<oreationTime value="20101214161817"/>
<I— N. 2. 1. 4: Date of Message Creation —>
Cinteractionld extension="PORR_IND490:6UV” root="2. 16, 840, 1. 113883, 1, 8%/
{processingCode code="P"/>
{processingMedeCods code="T"/7
ZacceptAckCode code="AL"/>
<receiver typeCode="RCY">
¢device classCode="DRY” determinerCode="INSTANCE">
¢id extension="H. 2.r.3" root="2 16.840. 1, 113883.3.989.2.1,3.12"/>
<l== N.2.7.3: Message Recsiver Identifier -->
</device>
{/receliver?
¢sender typeCode="SND">
(device classCode="DEV" determinerCode="INSTANCE">
<id extension="N. 21,27 root="2.16.840, L. L13A83, 3, 980.2.1.3,117/>
¢i— N.2.1.27 Message Sender Identifier -—>
{/deviced
{/sender>
¢controlActProcess classCode="CACT” moodCode="EVi">
¢code code="PORR_TE049016UV™ codeSystem="2. 16, B40. 1. 113883, 1. 18" />
¢1-- HL7 Trigger Event ID ——>
(effectiveTime valus="201012141516177/>
<l— C.1.2: Date of Creation —>
{subject typ.eCode=’SUB}’>
(investigationfvent classCode="INVSTG” moodCode="EVN">
<id extension="t.1.1” root="2. 16,840, 1, 113883, 3,988.2. 1. 3. 175
¢1—— ¢.1.1: Sender's (case) Safety Report Unigque Identifier —>
¢id extension="C.1.8.1" root="2.16. 840.1.113883. 3,980, 2, 1.3. 27/
¢]— €. 1.8 1! Worldwide Unique Case Ldentification Number --»
id extension="J2.1b” root="2, 16.840, 1, 113883.3.989.5. 1. 3. 2. 3. /5>
<|— geaje. 1b: HAES FE —
¢code code="PAT_ADV_EVNT” codeSystew="%, 16, 540, 1. 113883.5.47/>
<textH. 1</ text>
41— H.1: Case Narrative Including Clinical Course, 'Therapeutic Measures, Outcome and Additional Relevant Information —->
{&statusCode code="active”/> ’ :
(I 888J2.7.1 T, FETES —
{effectivelime>
(low value="20090101"/>
(I €. 1.4! Date Report Was First Received from Source —->
{/effectiveTime>
¢availabilityTime valus="20090101"/>
¢l—- C,1,5: Date of Most Recent Information for This Repert ——>
{reference typeCode="REFR"> '
¢decument classCode="D0C" mocdCode="EVN">
Ccade code="2" codeSysten="2, 16. 840. 1. 113883. 3.989. 2. 1. 1,277 displayName="literatureReference”/>
<text mediaType="application/pdf” representation="B64">C.4.r. 2</text>
{]-- C.4.r.2! Included Documents Hl -->
<hibliographicDesignationlext?C. 4. 1. 1¢/bibliographicDesignatienText>
{}— C.4.1.1: Literature Reference(s) #1 ——>
{participation typeCode="AUT">
{assignedBntity classCode="ASSIGNED">
{representedOrganization classCode="0RG" determinerCode="TNSTANCE">
¢asLocatedEntity classCode="LOCE">
¢location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="J2.15.1" codeSystem="1, 0, 3166.1.2,27/>
<l-- @eeJz.15.x ARE #1 -
¢/location’
{/asLocatedBntity>
{/representedOrganization>
{/agsignedEntity>



{/participation>
</document>
¢/reference>
{reference typeCode="REFR™>
{docunent classCode="DOC" moodCode="EYN">
<code code="2" codeSysten="2, 16. 840, 1. 113883, 3.985.2. 1. 1. 27" displayName="literaturcReference”/>
<Ctext mediaType="application/pdf” representation="R647>C. 4. r, 2¢/text>
(1-- C. 4. x.2: Included Documents #2 —>
<hiblicgraphicDesignationText>C. 4. 1. 1{/bihliographicDesigrationText>
¢!— C.4.r.1: Literature Reference(s) #2 —>
<participation typeCode="aUT">
<{agsighedfntity classCode="ASSIGNED™>
{representedOrganization classCode="0RG” determinerCode="INSTANCE">
{asLocatedEntity classCode="LOCE™>
¢location classCode="COUNTRY” determinerCode="INSTANCE">
Coode code="J2.1B.r” codeSystem="1 0. 3166.1.2, 27/
<I— @8eJ2. 15, r AXRE #2 —>
¢/locationd
¢/asLocatedBntity?
{/represented0rganization>
{/mssignedBntity>
{/participation>
{/document>
</reference>
{component typeCode="COMP">
<adysrssBventAssessment: classCode="TNVSTGE™ moodCode="EYN™>
{subjectl typeCode="SBJ">
{primaryRole classCode="TNVSBI">
<playerl classCode="PSN” determinerCode="TNSTANCE"/>
{subject0f1 typeCode="SBJ">
{researchStudy classCode="CLNTEL" moodCode="EVN">
<id extension="C, 5. 3" root="2, 16, 840, 1. 113883, 3.969.2.1.3.5"/>
¢!— C.B.3:; Sponsor Study Number —>
<code code="C, 5, 4" codeSystem="2, 16, 840, 1. 113883, 3.989. 2. £. 1. 8" /">
<I— €. 5. 4! Study Type Where Reaction(s) / Event(s) Were Observed —>
CtitledC. 5, 2¢/title>
¢}— C.5.2: Study Name —>
<authorization typeCode="AUTH™>
<{studyRegistration clagsCode="ACT" moodCode="BYN">
<id extension="C. 6. .. 1" root="2. 16. 840. 1. 113883, 3,989, 2.1, 3. 6"/>
¢!— €.5.1.r. 17 Study Registration Number #1 —>
Cauthor typeCode="AUT">
{territorialAuthority classCode="TERR">
{(governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.5. 1. r.2" codeSystem="1.0, 3166, 1.2, 2°/>
(}— C.BE.1.r.2: Study Registration Country 1 —>
¢/governingPlace>
</tarritorialAuthority>
</author>
<{/studyRegistration>
{/authorization?
Cauthorization typeCode="AUTH™>
{studyRegistration classCode="ACT" moodCode="RYN">
id extension="C.5. 1. r.1" root="2.16.840. 1. 113883. 3. 080. 2. 1. 3. 67/>
{l— C.5.1i.r.1 Study Registration Number #2 —>
<author typeCode="AUT">
{teyritorialfuthority classCode="TERR™>»
<governingPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.5. I.r.2" codeSysten="1.0.3186.[.2.2"/>
¢l— €, 5. 1.r. 2! Study Registration Country #2 -—>
{/governingPlace>
{/territorialAuthority>
{/author>
</studyRegistration>
{/authorization>
{/researchStudy>
</subjectOf1>
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY" moodCade="EVN">
{code code="4" codeSystem="2.16. 840. 1. 113883, 3. 989, 2.1, 1. 20" dlsplayNama—"drugInformaLlon £
{!— 6.k Drug(s) Information {repeat as necessary) #1 —>
{component typeCode="COMP">
{substanceAdministration classCode="SBADM” moodCode="EVN">
<id root="3¢91bdd5-e(36-4a7a-Bc30-67671b0ef9e4” />
{consumable typeCode="CSH">



<instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT® detexminerCode="KIND™>
<code code="G. k. 2. 1. 1b” ecodeSysten="TBD-WFID"/>
{l== G.k 2, 1.1b: Medicinal Product Identifier Q®ID) #1 -->
<name>G. k. 2, 2{/name>
¢1-— G,% 2,2: Medicinal Product Name ag Reported by the Primary Source #1 —
(asManufactursdProduct classCode="MANU™>
{subjectOf typeCode="SB]">
{approval classCode="CNTRCT” woodCode="EYN">
¢id extension="0.k 3.1% root="2, 15, 840, 1, 113883. 3.982.2,1.3.4"/>
<}— G.k 3.1 Autherisation / Application Number Hl —->
<author typeCode="AUT™>
{territorialAuthority classCode="TERR™>
(territory classCode="NAT” determinerCode="INSTANCE">
{code code="G. k. 3, 2" codeSystem="1.0.3166.1.2.2"/>
¢l-— G.k.3.2: Country of Authorisation / Application #1 —>
{/territory>
{/territorial Authority>
</author>
<nertinentInformation typeCode="PERT"™>
. {pelicy classCode="POLICY” moodCode="EVN">

{gode code="]2.5.k" codeSystem="2. 16.840. 1. 113883.3,989.5.1.3.2, 1. 4"/>
<— gagJe bk —RAEEGFCI RS EST H —
{/palicy> .
</pertinentInformation>
{/approval}
{/subject8f>

{subjectOf typeCode="SRI">
{characteristic classCede="0BS” moodCode="EVN">
(code code="1" codeSystem="2. 16. 840, 1, 113883, 3,989.5.1.3.2. 1. 10" displayName="FTE RS EF OWRBLE S />

¢value xsiitype="CE" code="J2, 4. k" codeSystem="2. 1. 840. 1, 113883, 3,686,6.1.3.2.1.3"/>
<1 6@aT2. 4. k: FEHREOREES 1
¢/characteristic>
</subject0f>

</asManufacturedProduct’
<asSpecializedKind classCode="GEN">
¢generalizediaterialKind classCode="MAT" determinerCode="KIND™>
{coded
{originalText>J2.12<{/originalText>
<-- 8@J2. 12: TREREEARS —
{/code>
¢/generalizeddaterialKind>
{/asSpecializedKind>
{ingredient classCode="ACTI">
{ingredientSubstance classCode="WMAT” determinerCode="KIND">
¢eode code="G. k. 2. 3. 1. 2h" codeSystem="TBD~Substance”/>
¢l-— G. k 2.3.r.2b! Substance / Specified Substance TermID HI-1 —
<nawme>G. k. Z. 3, 1, 1{/nane>
¢l-— G.k.2.3.1.1: Substance / Specified Substance Name #1-1 ~=>
{/ingredient3ubstance> i :
¢/ingredient> '
{ingredjent classCode="ACTI">
{ingredientSubstance classCode="MMAT" detertiinerCode="KIND">
(eode code="G.k, 2. 3.r. 2h" endeSystem="TBD-Subgtance”/>
<}~ § k. 2.3.1.2b: Substance / Specified Substance TermID #1-2 -—>
{name>G. k. 2. 3. r, 1<{/name>
¢l— G.k.2.3.7.1: Substance / Specified Substance Name #1-2 —D>
</ingredientSubstance>
¢/ingredient>
</kind0fProduct?
<stbject0f typsCoda="SRI™>
{ohservationBvent classCode="0BS” moodCode="EVN"> .
<code code="2" codeSysten="2. 16, §40, 1, 113883, 3, 989. 5. 1. 5. 2. 1. 10" dizplayNeme="—AX BIERH O AFER"/>
¢yalue xsiitype="CE" code="J2.6,k” codeSystem="2, 16, 840. 1. 113883.3,089.5,1.2.2. 1.5"/>
<1-- gag2. 6. ki —XAERFOAFER 1 —
{/ohservationBvent)
¢{/subject0f>
¢/instance0fKind>
¢/consumable>
</substanceAdministration?
{/component?
{/organizer>
{/subject0f2>
{subject0f2 typeCode="SBI">
{organizer classCode="CATEGORY” moodCode="EVN">

’




<code code="1" codeSystem="2. 16. 840, 1. 113883, 3. 989.5. 1. 3. 2. 1. 11" displayName="{SEADITE"/>
¢component typeCede="COMP”>
{observation classCode="0BS” mocdCode="EYN™>
{code code="7" codeSystem="2. 16, 840, 1. 113883, 3, 989. 5. 1, 3, 2. 1, 10" displayName="/@ H}mI¥" />
Cralue xsiitype="INT" wvalus="1"/>
<l @883z, 13.v. 1: JBHEE 1 —
{/observationd>
</component)
<component typeCode="COMP">
<observation classCode="0BS” moodCode="EVNT>
{code code="8" codeSystem="2. 16. 840. L. 113883, 3,989, 5. 1. 3. 2. L. 10" displayName="%}&%%M"/>
<value xsi:type="ED">JZ. 13.1.2¢/value>
<l 8aJ2. 13, 1. 20 MEKA # —
{/observation>
</component>
Ccomponent typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
{code code="9" codeSystem="2, 16, 840, 1. 113883, 3,989, 5, 1, 3, 2, 1, 10" displayName="BR 30" />
<value xsi:type="CE" code="J2.13.r.3" codeSystem="2. 16.840. 1. 113883.3.989.5,1.3.2. 1.7"/>
<]-- 80A72.13.r. 3: MW #1 )
{/vhservation?
{/componenty
{component typeCode="COMP">
<observation classCode="0BS" moodCode="EYN">
{cede code="10" cadeSystew="2. 16. 840. 1. 113883, 3.989. 5. 1. 3.2, 1. 10" displayName="{R3K'F DIER OF "/
¢value xsi:type="BL” value="true”/>
<i-— geeJ2. 13. 1. 4: BRI OERHOHEE #1 —>
<{/abservation)
</cemponent>
{/organizer>
{/sub jectdfz>
{subject0f2 typeCode="SBJ">
Corgenizer classCode="CATEGORY” moodCode="EVN™>
<oode code="1" codeSystem="2, 16. 840, 1, 113883, 3,988, 5,1, 3. 2. 1. 117 displeyName="{EEROIEE"/>
{companent typeCode="COMP™>
<observation classCode="0BS" moodCode="EVN">
{code cade="T7" codeSystem="2, 16, 840, 1, 113883,3. 988, 5, 1, 3. 2, 1. 10" displayName="f&8 H[M&" />
{value xsi!type="INT” value="1"/>
(- 686J2.13.r. 1: JEINEHL #2 —>
</observation> '
</component>
<{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVYN">
<code code="8" codeSysten="2, 16, 840, 1, }13883, 3, 989, 5. 1, 3, 2, 1 10" displayName="3HSRBH"/>
(value xsi:type="ED">]2.13.r.2¢/value>
<~ 86072, 13. 1. 2: HBER #2 —>
<¢/chservation?
</component)
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EVN">
¢eode code="9" codeSystem="2. 16. 840, 1, 113883. 3. 489, 5. 1. 3. 2. 1. 10” displayName="B3F6+E"/>

<value xsiitype="CE" code="J2.13.1.3" codeSysten="2. 16, 840. 1, 113883.3.989.5, 1.3, 2. 1. T°/>
<l-- 880712, 13, x. 3: PA3SIE #2 —>
</observation>
</ component>

{companent typeCade="COMP">
{observation classCode="0BS" moodCode="EYN™>
{code code="10" codeSystem="2, 16, 840, 1. 113883, 3,980, 5, 1. 3,2, 1. 10" displayNane="{%3E OfE 0 A7 1E7 />
{value xsi:type="BL” value="false”/>
<|— @8eJ2. 13. 1. 4: ERPOEACHE #2 —
</observation>
{/component?
{/organizery
{/sub jectlf2>
{/primaryRole>
{/subjectl>
Ccomponent] typeCode="COMP™>
{observationfvent classCode="0B5" moodCode="E¥YN">
<code code="10" codeSystem="2, 16.840. 1. 113883. 3, 988. 2. 1. 1, 19" displayName="comment”/>
<value xsi:type="ED">H. 4</valued
¢}— H. 4: Sender’ s Comments —>
{zuthar typeCode="AUT">
¢assignedEntity classCode="ASSIGNED">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 688. 2. 1. 1. 21" displayName="sender”/>
(/assignedEntity) '



¢/author>
{/observationBvent?
¢/compenent1d
(componentl typeCode="COMP™>
{observationEvent classCode="0BES” muodCode— VN>
(code code="3" codeSystem="2. 16, 840. 1, 113883, 3,989, 5, 1, 3.2. 1. 10" displayName="RFETICHT BT A 7>
<value xsiztype="ED">JZ.7.2</valued
<l— B@8J2.7.2: RETIHTBE2AL T
{/ohservationEvent>
{/eomponentl>
{componentl typeCode="COMP”™>
{observationEvent elassCode="0BS” moodCode="BEVN">
{cods code="5" codeSystem="2, 16, 840. 1. {13883, 3,989, 5, 1, 3. 2. 1. 10" displayName="45# D#E"/>
<value xsi:type="ED™>JZ.10</value>
<-- GE8J2. 10: SHOXE —>
{/obsexrvationEvent>
</component1>
{component]l typeCode="COMP™>
{opservationBvent classCode="0BS" moodCade="EVN">
" <code code="6" codeSystem="Z, 16, 840. 1. 113883, 3, 989.5.1.3.2. 1. 10" displayName="% D{BSEEAET" />
(yalue xsiitype="ED">J2.11</value>
<J— egelz 11 FoMBEFESE —
{/observationBvent?
¢/componentl>
<compohentl typeCode="COMP"»
{observationEvent classCode="0BS™ mecodCode="EVN">
(code code="12" codeSystem="2. 6, 840, 1,113883.3.989.5.1.3.2. L. 10" dlsplayName—”ﬁ*W/ﬁl@ﬁfE />
<yalue xsi:type="ED">J2. 164/value>
<|— paaje. 16: WENFOES —
{/ohservationBvent> ,
¢/componentl>
{/adverseEventAsssssment>
</component>
<¢omponent typeCode="COMP”>
{observationEvent classCode="0BS" moodCode="EVN">
{code code="23" codeSystem="2. 16.840. 1. 113883. 3,989, 2.1, 1, 18" dLsplayNameu- localCriteriaForExpedited”/>
{yalue xsi:type="BL” value="true”/>
{1— C.1.7! Does This Casze Fu1f11 the Local Criteria for an Expedited Report? ——>
(/vhservationEvent>
</component?
¢outhoundRelationship typeCode="SFRT">
{relatedInvestigation classCode="TNVSTG” moodCode="EVN">
{code code="1" eodeSystem="2, 16, 840. 1, 113883, 3. 989. 2. 1. 1, 22" displayName="initialRepcrt”/>
Cgub jectOf? typeCode="SUBJ™>
{cantrolActEvent classCode="CACT™ maodCode—'EVN >
¢author typeCode="AUT">
{assighedBntity classCode="ASSIGNED">
<code cade="C, 1,8,2" codeSystem="2, 16, 840. 1. 113883. 3.988,2, 1,1, 37 />
¢l-— C.1.8:2: Rirst Sender of This Case -->
{/assignedEntity>
</author>
{/contxolictEventd
{/subject0f2>
{/relatedInvestigationr
{/aunthoundRelationship>
<outhoundRelationship typeCode="SPRI">
(relatedinvestigation classCode="INVSTG” moodCode="EVN™>
{pode nullBlavor="NA"/> .
<subject0f2 typeCode="SUBJ">
<controlactEvent classCode="CACT” moodCode="EYN™>
¢id extension="C.1.30.r" root="2.186.840.1. 113883.3.989,.2.1,3,2"/>
¢1=— C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary)
{/controldctEvent>
{/subjectOf2>
¢/relatedInvestigation>
{/outboundRelationship>
{outhoundielationship typeCode="SPRT”>
{relatedInvestigation clasaCode="TNVETG” moodCode="EVN">
<code nuilFlavay="NA"/>
{gubject0f2 typeCode="SUB]">
{controlActBvent classCode="CACT” moodCode="BYN">
¢id extension="C. L. 16.¥" roct="2, 16,840, 1. 113883. 3. 988. 2. 1. 3. 2"/>
¢l . 1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary)
{/controlictBvent?
{/subjectDfe>

#i—>

#2 —



¢/relatedInvestigation?
¢/outboundRelationship>
{sitb ject0Of1 typeCode="SUB]">
CcontrelictEvent classCode="CACT” meodCode="EVN">
Canthor typeCoda="AUT">
{assignedfntity classCode="ASSIGNED">
{addr>
{streetAddressLine>C. 3. 4. 1{/streetAddressLine>
{l— C.3.4.1: Sender' s Street Address —>
eity>C. 3. 4. 2¢/city>
({-— C.3.4.2: Sender’s City —>
(staterC 3. 4 3</state>
¢l-— €.3.4.3: Sender's State or Province ——>
{/addr>
{assignedPerson classCode="PSN* determinerCode="INSTANCE™>
{pame>
<prefiz>C. 3. 3. 2{/prefix)
<I—€.3,8 2! Sender’”s Title —>
<givendC. 3. 3. 3<{/given>
<I— C.3.3.3: Sender’s Given Name ——>
{given>C. 3. 3, 4</givend>
¢{]— C.3.3.4: Sender’ s Middle Name —>
{Family>C, 3. 3. 5</Family>
{}— €.3.3.5: Sender's Pamily Name —>
¢/name>
{asLocatedBotity classCode="LOCE">
{location classCode="COUNTRY” determinerCode="INSTANCE">
<code code="C.3.4.5” codeSystem="1.0, 3166, 1.2, 2"/
{l=~ {.3.4.5: Sender’s Country Code —>
{/location>
{/asLocatedBntity>
</assignedPerson>
{representedOrganization classCode="ORG” determinerCode="TNSTANCE">
<{name>C. 3. 2</name>
¢|-— C.3.2: Sender’ s Organisation —->
{/representedfrganization>
{/agsignedEntity>
{/author>
{/controlictBrvent>
/subject0fi>
¢subject0fl typeCode="SUBJ >
<controlActEvent classCode="CACT” moodCode="EVN"> :
<id assigningAuthorityName="C.1.9.1.r.1" extension="C.1.9. 1. r. 2" reot="2. 16.840. 1. 113883.3.989.2. 1. 8.3" />
(1~ . 1,9, 1.r,1: Scurce(s) of the Case Tdentifier {repcat as neceasary) #l -
¢l— . 1.9.1. 1.2 Case Identifier{s) #I ——
</contralActEvent)
{/subject0f1>
{subject0f1 typeCode="SUB]">
<eontrolActBvent classCode="CACT” noodCode="BVN">
¢id assigningAuthorityName="C.1.9.1.r. 1" extension="C.1.0.1.r. 2" root="2. 16.840. 1. 113883, 3,989, 2,1, 3, 3" >
¢I—- . 1.9.1.r. 1 Source(s) of the Case ldentifier (repeat as necessary) #2 —>
<I— €, 1.9, 1.7. 2 Case Tdentifiex(s) #2 —> :
{/controlictEvent> '
¢/subjectOfl>
{subject0f2 typeCode="SUB]"> .
<investigationCharacteristic classCode="CBS” moodCode="EVN">
{code code="1" codeSystem="2, 16, 840. 1. 113883, 3. 985, 2. 1. 1. 23" displayName="ichReportType™/>
<yalue xsiitype="CE" code="C. 1, 3" codeSysten="2. 16.840, 1, 113883, 3,989.2. 1. 1. 2"/>
¢l—— C.1.3 Type of Report -->
¢/investigationCharacteristic>
</sutb ject0fd>
<subjectOf2 typeCode="5UR]">
<{investigationCharacteristic classCode="0BS" moodCode="EVN">
{cade code="2" codeSystem="2. 16, 840. 1. 113883. 3. 089, 2. 1. 1. 23" displayName="otherCaselds”/>
<value xsi:type="BL" value="trues"/>
<{l-- €. 1.9.1 Other Case Identifiers in Previous Transmissiens —>
{/investigationCharacteristio> ’
{/subjectOf2>
{subjectOf2 typeCode="SUBJ">
¢investigationCharacteristic classCode="0BS" moodCode="EVH">
<code code="3" codeSystem="2_18. 840, 1, 113883, 3,989, 2, 1, 1, 23* displayName="pullificatisnAmendunentCaode”/>
<value xsi:type="CE” code="C.1.11.1" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.5"/>
¢I— €. 1.11.1: Report Mullification / Amendment —>
</investigationCharacteristic> :
{/subjectdf2>



¢subject0f2 typeCode="SUB]">

¢investigationCharacteristic clasaCode="0BS" mocdCode="EVYN">
{code code="4" codeSystem="Z. 16.840. 1. 113883. 3.985.2, 1. 1. 23" displayNeme="nullificationAmendmentReason”/>

<value xsiitype="CE">
{originalText>C. t. 11, 2¢{/originalTexty .

{f— €.1.11.2: Reason for Nullification / Amendment —>

</value>
{/investigationCharacteristic>
</suhiect(f2>
(subject0f2 typeCode="SURJ">

{investigationCharacteristie classCode="DBS” moodCode="EYN">
<code code="1% codeSystem="2. 15, 840. 1. 113883, 3. 989,5. 1, 3. 2. 1. 12" displayNane="HEBIE S (RS "
¢value xsiitype="CE” code="J2.1a" codeSystem="%2.16.840. 1, 113883.3.989.5 1.3, 2. 1.1"/>

<)-- BBATZ. la: BRBIBEE (HESEW —
{/investigationCharacteristic>
(/subjectO£2>
(sub ject0f? typeCode="SUB]">

{investigationCharacteristic classCode="0BS" moodCode="EVN">
(code coda="2" codeSystem="2.16. B40. 1. 113883.3.989.5.1. 3. 2. 1, 12° displayName="S5HEE R"/>

“<value xsi:type="TS" value="20130107"/>
<l-- gegJe. 2.1 WERER
{/investigationCharacteristic>
{/subject0f2>
¢sub jectOf2 typeCode="SUR]">

{investipgationCharacteristic classCode="0BS” wmoodCode="EVN">
{eade code="3" codeSystem="2. 16.340. 1. 113883, 3,989, 5,1, 3. 2.1.12" displayNeme="8RERHE DICBIH= AV S

<value xsi:type="ED">J2. L 2</value>
<\— @aaJz. z. 2: WMEHARIBETI=AYE —
{/investigationCharacteristic>
{/subject0f2>
(subject0f2 typeCode="SUB]">

{investigationCharacteristic classCode="0BS” moodCade="EVN">
{code code="4" codeSystem="2. 1§, 840. L, 113883, 3, 988, 5, 1. 3. 2. 1. 12" displayNene="EWF% 7 7 />
¢value xsi:type="CE” code="J2,3" codeSystem="2.14.840, 1, 113883.3,989.5,1.3,2,1,2"/>

4 @eajz. 3: ML TS >
</investigationCharacteristic>
{/subjectOf2>
</investigationEvent>
{/suhject>
{/controlActProcess>
¢/PORR_TNO49C1BUV>
{l— Message #1 —
{l-~ Message #2 —>
¢1-- PORR_INO49C16UY —>
¢l-— /PORE_INO4BO16UV —>
¢l—— Wessage H#2 —>
<receiver typeCode="RCY">
{device classCode="DEY" determinerCode="INSTANCE">
¢id extansion="N. 1. 4" root="2.16.840. 1. 112883. 3,989, 2. 1. 3. 14" />
¢l-— N.1,4: Batch Receiver Identifier —>
(/device>
{/receivers
{sender typeCode="5ND">
{device classCode="DEY” determinerCode="INSTANCE™>
<id extension="N.1.3" root="%.16. 840, 1 113883, 3,989,2.1.3.13"/>
¢(I— M. 1.3: Batch Sender Ideptifier —>
</device> N
{/sender>
</MCCT_TN2601000Y01>
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XPath
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stigationCharacteristic/code[@code="2"T[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.12'1111]/investigationCharacteristic[@classCode="OBS'] [@moodCode="EVN'
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XPath /MCCI_IN200100UV01 [@ITSVersion=‘mL_l. 0'll@xsi:schemaLocation="urn:hl7-
orgv3

MCCI_IN200100UV01 xsd'l/PORR _ INO49016UV[r]/controlActProcess[@classCod
e='"CACT1[@moodCode="EVN'l/subject@typeCode='SUBJ'H1]l/investigationKEvent
[@classCode="INVSTG'l{@moodCode="EVN'V/subjectOf2l@typeCode= SUBJ[inve
stigationCharacteristic/codel@code="3"[@codeSystem='2.16.840.1.113883.3.989.5.

1.3.2.1.1211[1)investigationCharacteristicl@classCode="OBS'|[@mood Code="EVN'

3 A 7 5 7

1valuel@xsi: type—'ED N/text()
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- XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l{@xsi:schemalocation="urn:hi7-
org-v3
MCCI_IN200100UV01.xsd'I/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT1[@moodCode="EVN'/subjectl@typeCode="SUBJl[1}/investigationEvent
[@classCode="TNVSTG' ] [@moodCode="EVN'l/subject Of2[@typeCode="SUBJ'H[inve
stigationCharacteristic/code[@code="4l[@codeSystem="'2.16.840.1.113883.3.989. 5.
1.3.2.1.127[1]/investigationCharacteristic{@classCode='"OBS' |@mood Code="EVN'
I/valuel@xsi: type—'CE][@codeSystem—'Q 16.840.1.113883.3.989.5.1.3.2.1.2' ]/@code
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XPath

/MCCI_IN200100UV01[@ITS Version="XML,_1.0']{@xsi:schemal.ocation="urn’hl7-
orgiva
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr)/controlActProcessl@classCod -
e='CACT'l[@moodCode="EVN'l/subjectl@typeCode="SUBJ'|[1]/investigationEvent
[@classCode="INVSTG'] [@mood Code="EVN'l/component{@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment|@classCode='INVSTG'l[@mo
0dCode=EVN'l/subject1[@typeCode="SBJ'][1]/primaryRolel@classCode="INVSBJ’
1/subjectOf2l@typeCode="SBd'l[organizer/code[@code='41{@codeSystem="'2.16.840.
1.113883.3.989.2.1.1.20'1[1)/organizerl@classCode="CATEGORY'l [@moodCode="E
VN'/component[@type Code="COMP'}[substanceAdministration/id]l [kl/substanceA
dministration[@classCode="SBADM'l{@mood Code="EVN'l/consumable[@typeCode
='CSM'l[1]/instanceOfKind{@classCode='INST")/kindOfProduct[@classCode="MM
ATT@determinerCode="KIND'}asManufacturedProduct{@classCode=MANU'}/su
bjectOfl@type Code="SBJ'l[characteristicl[1l/characteristiclcode[@code="11[@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10'1][1}[@classCode="OBS 1 [@mood Cod
e="EVN'/valuel@xsi‘type="CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.

3'@code
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C AR S R B EER OB AT, FhEhO BREEREIC OV T [01=5—41
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REIE | RIS B8
XPath /MCCI IN200100UV01[@ITSVersion=XML_1.0'] [@xsi:schemalocation="urn hl7-

org-va
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVirl/controlActProcess[@classCod
e='CACT}{@mood Code="EVN'/subjecti@typeCode="SUBJ'|{1)/investigationEvent
[@classCode=TNVSTG 1 [@moodCode="EVN']/component|@typeCode='COMP'|[adv
erseBventAssessment][1]/adverseEventAssessment[@classCode="INVSTG'[@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'l[1l/primaryRolel@classCode=TNVSBJ'
]/SubjeéﬁO&[@typeCode:'SBJ Norganizer/code[@code="4'l[@codeSystem="2.16.840.
1.113883.3.989.2.1.1. 20']]{1]/organizer[@claésCode='CATEGORY'] [@moodCode="E
VN'l/componentl@typeCode='COMP'}[substanceAdministration/idI{kl/substanceA
dministration[@classCode="SBADM'l[@moodCode="EVN'l/consumable[@typeCode
=csM1[1)/instanceOfKind[@classCode=TNST'/kind OfProduct/@classCode=MM
AT@determinerCode="KIND'l/ asManufacturedProductl@classCode=MANUV/su
bjectOfl@type Code='SBJ'l{approvall[1]/approvall@classCode="CNTRCT'][@mood
Code='"EVN'l/pertinentInformationj@typeCode="PERT'] [1)/policyl@classCode="PO
LICY1[@moodCode=EVN'l/codel@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.

4‘]/@code

T T TN T

H B

Gk Wi BARER - RAEEROBSIL. TAThO ﬁ*ﬂ&%e% ZOWVWTHIAS £V 1@@3
fpo— MEZBERLUCERETHZ &,

Vol i) 1A

TFAE HHE 5 B




XPath

(value)

/MCCI_IN200100UVO0 1[@ITSVers1on—'XML 1.0'l[@xsi:schemaLocation="urn:hl7-
orgiv3

MCCI_IN200100UV01.xsd'l/PORR_IN0490 16UV[r]/controlActProcess{@classCOd
e='CACT'H@moodCode="EVN'l/subject[@typeCode="SUBJ"'}[1]/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'l/componentl@typeCode='COMP"} [adv
erseEventAssessment][1)/adverseEventAssessment[@classCode='INVSTG'l@mo
0dCode="EVN'}/subject1l@typeCode="SBJ'l[1]/primaryRolel@classCode="INVSBJ'
1/subjectOf2l@typeCode='SBd'l[organizer/codel@code='41@codeSystem='2.16.840.
1.113883.3.989.2.1.1.20][ t]/organizer[@classCode='CATEGORY 'l[@mood Code="E
VN'l/component[@typeCode='COMP'][substanceAdministration/idl[k]/substanceA
dministration[@classCode="SBADM'l[@moodCode="EVN'l/consumablel@typeCode
='CSM'1[1}/instanceOfKind[@classCode="INST'}/subjectOf[@type Code="SBJ'l/obse
rvationEventlcodel@code='21@codeSystem='2.16.840.1.113883.3.989.5.1. 3.2.1.10"
11 11[@classCode='0OBS{@mood Code="EVN'l/value[@xsi‘type='CE'l[@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'l/@code

XPath
(null

flavor)

/MCCI_IN200100UVO1[@ITSVersion="XML_1.0'l[@xsi:schemaLocation="urn:hl7-
org'v3 ‘
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV{rl/controlActProcessl@classCod
e='"CACT][@moodCode="EVN/subjecti@typeCode="SUBJ'|[1]/investigationEvent
[@classCode='INVSTGI[@mood Code="EVN'l/component|[@typeCode='"COMP'{adv
erseEventAssessment][1]/adverseEventAssessment(@classCode="INVSTG'{@mo
0dCode="EVN'l/subject1[@typeCode='SBJ'l{1]/primaryRole[@classCode="TNVSBJ'
1/subjectOf2l@type Code='SBJ"] [organizer/code[@code="4T@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20'11[1)/organizer[@classCode='CATEGORY'{@mood Code="E
VN'l/component[@typeCode='COMP'l{substanceAdministration/id][1]/substanceA
dministration[@classCode="SBADM'l[@mood Code="EVN'}/consumable|@typeCode
= CSM1{1)/instance OfKind[@class Code=TNST'l/subjectOfl@type Code='SBJ |/obse
rvationEventlcodel@code="2] [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2. 1. 10'
1[1]ll@classCode='0BSl@moodCode="EVN'l/value[@xsi:type='CE'l[@codeSystem

J2.0.1 55T o

"*'2 16 840 1 113883 3 989.5.1.3.2.1.5]/@nu]JFlavor
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XPath

/MCCI_IN200100UV01 [@ITSVe;sionZ‘XML_I.O'] [@xsi‘schemal.ocation="urn‘hl7-
org-v3

MCCI_IN200100UV01. xsd‘]/PORR IN049016UVIrl/controlActProcess[@classCod
e='CACT'H@moodCode="EVN')/subjectl@typeCode='SUBJ'l{1)/investigationEvent
[@classCode="INVSTG' [@mood Code="EVN'I/statusCode/@code

AR

k52 TREOHSIT, RETHRIEORELRT,

FRE 7l

F—& % | 10000J

M H BFCHE

XPath /MCCI_IN200100UVO01[@ITS Version=XML_1.0l{@xsi:schemalocation="urn:h17-
orgv3d

MCCI_IN200100UV01.xsd'V/PORR_IN049016UV{r]/controlActProcess[@classCod
e='CACT"} [@mood Code=FEVN/subject[@typeCode='"SUBJ'l[1]/investigationEvent
[@classCode="INVSTG'] [@mood Code="EVN"Vcomponentl@typeCode="COMP'}[adv
erseFventAssessmentl[11/adverseEventAssessment[@classCode="INVSTG'l[@mo
0dCode="EVN")/component1[@typeCode='"COMP'1[observationEventlcode[@code="

3 [@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']1[1)/observationEvent|@c

lassCode:'OBS‘] [@moodCode="EVN/valuel@xsi:type="ED'}/text(

“EWﬁrmﬁixib%ﬁﬁmﬁ%kﬁ%fgﬁ%ﬁ%%bﬁmﬁéw%@mﬁﬁ%

Do

Fosl STk ST HHEE DR TI=fExigest) ZRETDHI L,

7 — &3 IN N

FAE 1= E et ot -

XPath /MCCI_IN200100UV01 [@ITSVersion:‘XML_l;O’] {@xsischemal.ocation="urn’hl7-
orgv3

MCCI_IN200100UV01.xsd l/PORR_ IN0490IGUV[r]/controlActProcess[@classCod
e='CACT' [@mood Code="EVN'Vsubjectl@typeCode='SUBJ] [1}/investigationEvent
[@classCode="INVSTG]{@moodCode="EVN'l/subjectOf2[@typeCode="SUBJ'Hinve
stigationCharacteristic/code[@code='5'l[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.1211[1)/investigationCharacteristicl@classCode="OBS l[@mood Code=EVN'

]lvalue[@xsiitype='CE'] [@codeSystem:‘2.16.840.1.113883 3.989.5.1.3.2.1.6'1/@code
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= A 10000
FEE B BEE
XPath /MCCI INZOOlOOUVOl[@ITSVersmn—'XML 1.0'l[@xsi:schemal.ocation="urn:hl17-

org:vad

MCCI_IN200100UV01.xsdl/PORR_IN049016UVIr)/controlActProcessl@classCod
e='CACT'}@moodCode="EVN'l/subjecti@typeCode="SUBJ'|[1)/investigationEvent
[@classCode=TINVSTE | [@moodCode="EVN'/subjectOf2[@typeCode="SUBJ |{inve

| stigationCharacteristic/codel@code='6'l@codeSystem='2.16.840.1.113883.3.989.5.

1.3.2.1.12][1}/investigationCharacteristicl@class Code="OBS'l[@mood Code="EVN'

I/valuel@xsi:type="ED"/text()

ME%EE%%%@%@@P@RMESHGEH%Q%MM%EE%@%E%ﬁﬁﬁ

IEH‘JE%
@ MiEREZI AR5 BEREYT A F7 42| O—EFEIEICOWT) OBIT [
HRFI SR DPEAETA P74 ) W RO RENEZFENTZLHT D,

ot "Wakea A U

= Al 10000J

TrAE B H 0

XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l [@xsi:schemaLocation="urn‘h17-
orgv3d -

MCCI_IN200100UVO0L1. Xsd']/PORR IN049016UVIrl/controlActProcess[@classCod
e='CACT1[{@mood Code="EVN'l/subject{@typeCode="SUBJ'] [1)/investigationEvent
[@classCode='INVSTG']l@moodCode="EVN'}/component{@typeCode="COMP'][adv
erseBventAssessment][1]/ adverseEventAssessment[@classCode—'INVSTG'] [@mo
0dCode="EVN' ]/componentl[@typeCode 'COMP'][observationEventl[code[@code="
4'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 10']11[1)/observationEvent[@c
IassCode='OBS’] [@moodCode:'EVN']/value [@Xsiitype:'ED']/text()

J2. 10 Aﬁ’z@xﬂ;
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| XPath

MCC] INZOOIOOUVOI[@ITSVersmn—‘XML 1.0'l{@xsischemalocation="urn:hl7-
org:v3d

MCCI_IN200100UV01 .xsd']/PORRJNO%LSO 16UV{rl/controlActProcess|@classCod
e='CACT][@moodCode="EVN"Vsubjectl@type Code="SUBJ'I[1]/investigationEvent
[@classCode="INVSTG' H@moodCode="EVN'l/component [@tyﬁeCode='COMP'] ladv
erseEventAssessmeﬁt] [1}/adverseEventAssessmentl@classCode="INVSTG'[@mo .
0dCode="EVN')/component1|@typeCode='COMP’] .[observationEvent [codel@code='
5'[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'11[1}/observationEvent[@c
lassCode="OBS[@moodCode="EVNl/valuel@xsi:type="ED/text(

HH A FOMBE LR HEEEF

RLET R 7L

F— &8 10000.F

A E B B Fe#

XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'][@xsi:schemalocation="urn'hl7-
orgva * ‘

| erseEventAssessment]{1l/adverseEventAssessment [@classCode="INVSTG'][@mo

MCCI_IN200100UV01.xsd'l[/PORR_IN0490 16UV[r}/controlActProcessl@classCod
e='CACT'1[@moodCode="EVN'l/subjectl@type Code="SUBJ l[1)/investigationEvent
[@classCode=TNVSTG[@mood Cade="EVN'l/component[@typeCode='"COMP'][adv

0dCode="EVN/component1{@typeCode="COMP'}[observationEvent[code[@code="
6'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1011}[1)/observationEventl@c
lassCode="0BS'I[@moodCode="EVNl/valuel@xsi:type="EDV/textQ

BT

T st ER TR LB RS

YRR ?‘9‘
FERLTE ?‘ﬁ%ﬁ%@@%’&%{ﬂbflﬂfm\ SE I, TRBR S E &I %’ EH L TV DRE=—F
FERESTH L,
F=4A 170
FFEE B hEaE
XPath

. MCCI_IN2OOIOOUVOI.Xsd’]/PORR._IN.O49O 16UVIr)/controlActProcessl@classCod

/MCCI_IN200 100UV01 [@ITSVersion=XML_1.0'l[@xsi:schemalocation=urn:hl7-
org:v3 ' '

e='CACT'[@moodCode="EVN'l/subjectl@typeCode='SUBJ'|[1]/investigationEvent
[@classCode=INVSTG'][@mood Code='"EVN'l/component{@typeCode='COMP'}[adv
erseEventAssessment][1)/adverseFventAssessment[@classCode=TNVSTG'l[@mo
0dCode="EVN')/subject 1 [@typeCode="SBJ'l[1]/primaryRolel@classCode=INVSB.J'
l/subjectOf2[@typeCode="SBd'][organizer/codel@code="4'[@codeSystem='2.16.840.

8



1.113883.3.989.2.1.1.20'[1]/organizerl@classCode="CATEGORY"l[@mood Code="E
VN')/componentl@typeCode='COMP'][substanceAdministration/id]/ substanceAd
ministration[@classCode="SBADM'[@mood Code="EVN'}[consumable/instanceOf
Kind/kindOfProduct/ asSpecializedKind/genera]izedMaterialKindfcode/briginalTe
xt][1)/consumable[@type Code="CSM'][1]/instance OfKind|@class Code="INST'l/kin |
dOfProduct[@classCode="MMAT'H{@determinerCode="KIND')/asSpecialized Kind[
@classCode="GEN'][1]/generalizedMaterialKind[@classCode="MAT"|{@determiner
Code="KIND')/code/original Text/text()

TEE 2

BRIOLIL, RRHEREORBRERETET D,

ERAE | RBREERESRA LT RVEAI . e Tk,

7 — A 2N

FFAE A=/ 7

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi'schemalocation="urn:hl7-
org-v3

| Wivaluel@xsitype="INT'l/@value

MCCI_IN200100UV01.xsd'l/PORR_IN049016UV(rl/controlActProcess{@classCod
e='CACT"I[@moodCode="EVN'Vsubject[@typeCode="SUBJ'}{1}/investigationEvent
[@classCode=TNVSTG' | [@moodCode="EVN'l/component[@typeCode="COMP'l [adv
erseEventAssessmentl{1]/adverseEventAssessment[@classCode=TNVSTG'][@mo

odCode="EVN'V/subject1[@typeCode="SBJ [ 1l/primaryRole(@classCode=TNVSBJ’
l/subjectOf2[@typeCode="SBJ ] [organizer/code[@code="1']|@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11'1){r]/organizerf@classCode='"CATEGORY 'l[@mood Code
='EVN')/component@type Code="COMPV/observation[@clagsCode="OBS'T{@mood

Code="EVN'1{code[@code='7"}[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 10’

J2. i

HHHA BB L, BREHEBEICTEH SN TV OHBRBE TR T D,

FLETE BRHERHEZRE L TOREEIIL, TREFEB TN TED, 2B, 1[BBG
BB EZRH L TORWEAITE., IBREHRFIEEICCE L COHBRELTERTD
b, FA-OEBRERFEE CORBOREBENRE TLHEIX, V2~ TR TR
#HTHZ Lk,

F—&E | 1000d

| FPEE B iR

XPath MCCI_IN200100UV01l@ITSVersion="XMIL,_1.0"[@xsi:schemaLocation="urn:hl7-

org-v3

MCCI_IN200100UV01.xsd'//PORR_IN049016UVlr)/control ActProcess[@classCod
e='CACT"][@moodCode='"EVN'l/subjectl@typeCode='SUBJ'l[1)/investigationEvent
[@classCode="TNVSTG'1[@mocdCode="EVN'l/component[@typeCode="COMP'][adv

9




erseEventAssessmentl[1]/adverseEventAssessment|@classCode=TNVSTG' I [@mo
0dCode=EVN']/subject1[@typeCode="SBJ"] [1]/primaryRole |@classCode=TNVSBJ'
l/subjectOf2[@typeCode='SBJ1[organizer/codel@code='11l@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'l][r}/organizer[@classCode='CATEGORY 'l[@mood Code
="EVN'l/componentl@typeCode='COMP']/ observation@classCode="OBS1[@mood
Code="EVN[code[@code='8"l@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
llivaluel@xsitype="ED'Vtext( |

SRR R B TER S LTV SRR

HRETEE HE 2R L TO S HEIT, REEWT 5 2 &8 CED, 28, i
BEREL R L CORWIESICHE, BIIKS L 0 R s — MEAZBRR LTRSS 2

Eo

7 IN

B B 6 &
/MCCI_IN2OO 100UV01l@ITSVersion=XML_1.0'l@xsi'schemaLlocation="urn‘hl7-
orgv3

MCCI_IN200100UV01.xsd'VPORR_IN049016UVIxl/controlActProcessl@classCod
e='CACT][@mood Code="EVN'l/subjectl@typeCode="SUBJ'|[1}/investigationEvent
[@classCode=TNVSTG'] [@moodCdde='EVN']/component{@typeCOdEZ'COMP'] [adv
erseEventAssessmentl[1]/adverseEventAssessment[@classCode=TNVSTG'{|@mo

0dCode="EVN'/subject1@typeCode="SBJ'l{1}/primaryRole[@classCode="INVSBJ'
I/subjectOf2l@typeCode="SBJ'[organizer/code[@code='1"{@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11'1 [r]/organizerf@class Code='"CATEGORY' [@mood Code
="EVN'/component[@typeCode="COMP"l/observation[@classCode="OBS' [@mood

Code="EVN'lcodel@code="9][@codeSystem="'2.16.840.1.113883.3.989.5.1.3.2.1.10'
I/valuel@xsi:type='CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.7@cod

e

UGBS OB IR ORRE OB RETT,

o— FETHZS 7B TEYERNNDLESIT [True=F] %, WiEWVWESIX
[False=1&) ZHRT DL,

T—A 10A

true=4
false=14%
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XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'[@xsi:schemalLocation="urn’hl7-

orgv3

MCCI_IN200100UV01.xsd' /PORR_IN049016UVIr)/control ActProcess[@classCod
e='CACT[@moodCode=EVN'l/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVNY/component[@typeCode="COMP'] [adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=INVSTG'][@mo

0d Code="EVN'l/subject1[@typeCode="SBJ[1]/primaryRole[@classCode=INVSBJ’
I/subjectOf2[@type Code='SBd'}[organizer/codel@code="1"1[@codeSystem='2.16.840.
1.113883.3.989.5.1.3.2.1.11}[r)/organizer[@classCode='CATEGORY '1[@mood Code
="EVN'}/componentl@typeCode='COMP']/observation[@classCode="OBS'|{@mood

Code="EVN'[codel@code="10'1l@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1

0 ]]lvalue [@xs1 type—'BL ]f@value '

J2.14i.
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el F OMOESIEEm » T 5, ICSREE @ E1.2.1b §IfEA,/ FEHES (MedDRA
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erseEventAssessment][1)/adverseEventAssessmentl@classCode=INVSTG' [@mo
odCode="EVN'l/component1|@typeCode="COMP'][observationEventlcode [@code.“—“‘
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classCode="0BS' | [@mood Code="EVN'l/value[@xsi:type="ED'/text()
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